

April 30, 2024

VIA RESS & EMAIL

Ontario Energy Board 2300 Yonge Street, 27th Floor Toronto, ON M4P 1E4

Attention: Nancy Marconi, Registrar

Dear Ms. Marconi:

Re: EB-2022-0200-2024 Rebasing Phase 1 Cost Claim of BOMA

BOMA's cost claims can be found attached for its participation in the above noted proceeding as participant and expert evidence.

Please note that Foglers (for BOMA) is claiming for the entirety of the Phase 1 as they did not request an interim cost award. Enerlife (for BOMA) previously submitted their interim invoices and is now claiming the entirety of Phase 1. The interim invoices are also attached.

Please let us know if you have any questions.

Yours sincerely (for BOMA),

Ian A Jarvis President

Email: <u>ijarvis@enerlife.com</u>

EB-2022-0200:1: Kelly Bruce

COST CLAIM NUMBER

SUBMISSION DEADLINE DATE

CLAIM STATUS

Approved by Finance

EB# OTHER EB#S PHASE #*

EB-2022-0200 - Phase 1: Rates: Distribution:

Enbridge Gas Inc.

INTERVENOR

INTERVENOR COMPANY* INTERVENOR TYPE

Bruce, Kelly; +1 (437) 328-9397 Building Owners and Managers Full Registrant

kbruce@enerlife.com Association, Toronto: Cooperative

HST RATE ONTARIO

13.00

EXCHANGE RATE COUNTRY

HST NUMBER LATE SUBMISSION ALLOWED EXTENSION DEADLINE DATE

R119420859 No

PART	ICIPANTS					Participant
New	Non-Filing Participant	First, Last Name	Filing Participant	Total (\$)	Total Hours	Claim Status
No	,		Jarvis, lan; +1 (416) 915-1530 x.203 ijarvis@enerlife.com	100,149.78	268.57	Submitted
No	,		Henderson, Gillian; +1 (416) 915-1530 Ghenderson@enerlife.com	1,211.93	3.25	Submitted
No	y		Li, Clement ; +1 (416) 915-1530 cli@enerlife.com	1,678.05	4.50	Submitted
No	,		Rusyaev, Pavel ; +1 (416) 915-1530 prusyaev@enerlife.com	10,325.38	53.75	Submitted
No	,		Engel, Albert; +1 (416) 864-7602 aengel@foglers.com	317.87	0.97	Submitted
No	,		Rutledge, Matthew; +1 (416) 864-7607 mrutledge@foglers.com	1,940.21	10.10	Submitted
No	,		Millan, Natalie; +1 (416) 915-1530 nmillan@enerlife.com	4,562.38	23.75	Submitted
Yes	Carolyn ,	Shier	-	576.30	3.00	Submitted
Yes	Giovanni ,	Madalozzo		16,048.83	61.75	Submitted
Yes	Simon ,	Sahi		2,209.15	8.50	Submitted

ATTACHMENTS

Attachment	Document Type	Import Message
BOMA Cover Letter EB-2022-0200 - 2024 Rebasing - Pha Entirety Cover Letter April 2024.pdf	ase 1 Cover Letter	
prebill 1301100-225289 - 4884-7333-8801 2 Foglers.pdf	Time Docket and Invoice	
BOMA Inv 4054 EB-2022-0200 Phase 1 April 2024.pdf	Time Docket and Invoice	
Inv 3813 OEB 2022-0200 Participant Interim Inv.pdf	Time Docket and Invoice	
Inv 3814 OEB 2022-0200 Expert Evidence Interim Inv.pdf		
BOMA EB-2022-0200 Cost Claim 043020241502.pdf		
TOTAL LEGAL/CONSULTANT/OTHER FEES 123,026.40	TOTAL DISBURSEMENT 0.00	S TOTAL HST 15,993.48
TOTAL CLAIM 139,019.88	TOTAL AMOUNT AWARD!	ΞD
TOTAL HOURS CLAIMED 438.14	TOTAL HOURS DISALLOW	ED
REASON FOR DISALLOWANCE	REASON FOR DISALLOWANCE - 2	REASON FOR DISALLOWANCE - 3
MAKE CHEQUE PAYABLE TO Enerlife Consulting Inc.		
SEND PAYMENT TO ADDRESS 90 Eglinton Ave E Suite 412 Toronto, Ontario M4P 2Y3		ATTENTION

SUBMIT SECTION

I am a representative of the Party. I have examined all of the documentation in support of this cost claim. The costs incurred and time spent are directly related to the Party's participation in the OEB Process referred to above.

This cost claim does not include any costs for work done, or time spent, by a person that is an employee or officer of the Party as described in section 6.05 and 6.09 of the OEB's Practice Direction on Cost Awards.

The information (fees and disbursements) filed in this cost claim is complete and accurate and in accordance with the OEB's Practice Direction for Cost Awards and Appendix A, the Cost Awards Tariff.

SUBMITTED BY
Kelly Bruce
DATE SUBMITTED
April 30, 2024

CASE EB-2022-0200 - Phase 1: Rates: Distribution: Enbridge Gas Inc.

COST CLAIM EB-2022-0200:1: Kelly Bruce

INTERVENOR NAME Bruce, Kelly; +1 (437) 328-9397 kbruce@enerlife.com

PARTICIPANT CLAIM STATUS Submitted

FILING PARTICIPANT Jarvis, lan; +1 (416) 915-1530 x.203 ijarvis@enerlife.com

NEW PARTICIPANT No

NON-FILING PARTICIPANT F. NAME **NON-FILING** PARTICIPANT L. NAME

SERVICE PROVIDER TYPE*

YEAR CALLED TO BAR* Consultant

COMPLETED YEARS PRACTICING/YEARS OF RELEVANT EXPERIENCE* 30

HOURLY RATE 330

HST RATE CHARGED*

CV STATUS (FOR 13.00 CONSULTANT/ANALYST)

CV Provided within Previous 24 Months

LAST CV DATE February 21, 2023

OVERRIDE HOURLY RATE No

HST NUMBER R119420859

HEARINGS Yes

CONSULTATIONS No

DISBURSEMENTS

No

HEARINGS

Hearings Hours Hearings Subtotal (\$) **Hearings Total Tax (\$)** Hearings Total (\$) 268.57 88,628.10 11,521.68 100,149.78 **HST** Name Hourly Sub Total HST Total Hours Rate Rate **DISCOVERY** Read and Research Application and 15.50 330 5.115.00 13.00 664.95 5.779.95 Evidence Preparation of Interrogatories 330 13.00 **Review Interrogatory Responses** 18.25 330 6,022.50 13.00 782.93 6,805.43 **Technical Conference Preparation** 23.75 330 7,837.50 13.00 1,018.88 8,856.38 38.50 330 12,705.00 13.00 14,356.65 **Technical Conference Attendance** 1,651.65 13.00 Technical Conference Follow-up 330 Subtotal of DISCOVERY 96.00 31,680.00 35,798.41 4,118.41 **PROCEDURAL** Preparation of Issues List Submission 330 13.00 Attendance at Issues List Conference 8.75 330 2,887.50 13.00 375.38 3,262.88 Preparation for a Confidentiality Request 330 13.00 Prepare Submissions on Confidentiality 330 13.00 330 Preparation of Motion(s) Materials 13.00 Prepare Submissions on the Motion(s) 330 13.00 Attendance at Hearing on Motion(s) 1.00 330 330.00 13.00 42.90 372.90 **Review Procedural Documents** 330 13.00

<u>!</u>	<u>Name</u>	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
,	Subtotal of PROCEDURAL	9.75		3,217.50		418.28	3,635.78
	/ENOR EVIDENCE Preparation of Intervenor Evidence		330		13.00		
I	nterrogatory Responses		330		13.00		
á	Preparation of Witness(es) for Attendance at Hearing Subtotal of INTERVENOR EVIDENCE	0.00	330	0.00	13.00	0.00	0.00
	EMENT CONFERENCE						
_	Preparation for Settlement Conference	15.25	330	5,032.50	13.00	654.23	5,686.73
A	Attendance at Settlement Conference	39.83	330	13,143.90	13.00	1,708.71	14,852.61
F	Preparation of Settlement Proposal	0.50	330	165.00	13.00	21.45	186.45
A	Attendance at Presentation to Panel		330		13.00		
(Subtotal of SETTLEMENT CONFERENCE EN ARGUMENT	55.58		18,341.40		2,384.39	20,725.79
	Written Submissions		330		13.00		
	Subtotal of WRITTEN ARGUMENT	0.00		0.00		0.00	0.00
_	ARGUMENT Preparation for Oral Hearing	17.58	330	5,801.40	13.00	754.18	6,555.58
A	Attendance at Oral Hearing	56.66	330	18,697.80	13.00	2,430.71	21,128.51
(Oral Submissions		330		13.00		
A	Attendance at Oral Submissions		330		13.00		
9	Subtotal of ORAL ARGUMENT	74.24		24,499.20		3,184.89	27,684.09
DECISI	ON Review Decision	6.25	330	2,062.50	13.00	268.13	2,330.63
F	Review Rate/Accounting Order		330		13.00		
F	Prepare Submission on Rate Order	18.00	330	5,940.00	13.00	772.20	6,712.20
(Subtotal of DECISION	24.25		8,002.50		1,040.33	9,042.83
	t Other Attendance (e.g., Intervenor Conferences)	8.75	330	2,887.50	13.00	375.38	3,262.88
	Subtotal of OTHER	8.75		2,887.50		375.38	3,262.88
	SERVICE PROVIDER FEES Total Service Provider Fees	268.57		88,628.10		11,521.68	100,149.78

Attachments

Attachment Document Type Import Message
Inv 3813 OEB 2022-0200 Participant Interim Inv.pdf
Inv 3814 OEB 2022-0200 Expert Evidence Interim Inv.pdf
Inv 3814 OEB 2022-0200 Expert Evidence Interim Inv.pdf

BOMA Inv 4054 EB-2022-0200 Phase 1 April 2024.pdf

BOMA Cover Letter EB-2022-0200 - 2024 Rebasing - Phase 1 Entirety Cover Letter

April 2024.pdf

Cover Letter

Time Docket and Invoice

Hearings, Consultations, Disbursements Attachments

<u>Attachment</u>	Document Type	Claim Type	Import Message
Inv 3813 OEB 2022-0200 Participant	Time Docket and Invoice	Hearings	
Interim Inv.pdf			
Inv 3814 OEB 2022-0200 Expert Evidence	Time Docket and Invoice	Hearings	
Interim Inv.pdf			
BOMA Inv 4054 EB-2022-0200 Phase 1	Time Docket and Invoice	Hearings	
April 2024.pdf			
BOMA Cover Letter EB-2022-0200 - 2024	Cover Letter	Hearings	
Rebasing - Phase 1 Entirety Cover Letter			
April 2024.pdf			



Re: EB-2022-0200 Enbridge Gas Inc. 2024 Rebasing Application Interim Cost Claim for Participant

Date: July 10, 2023

Date	Hours	Cost Claim Category	Description	Rate	Total
Friday, December 16, 2022	0.25	Review Application and Evidence	Review Correspondence	\$ 330.00	\$ 82.50
Monday, November 7, 2022		Review Application and Evidence	Review Correspondence	\$ 330.00	\$ 330.00
Saturday, November 12, 2022	1	Review Application and Evidence	Review Correspondence	\$ 330.00	\$ 330.00
Wednesday, January 4, 2023	2.75	Review Application and Evidence	Review Correspondence	\$ 330.00	\$ 907.50
Monday, January 9, 2023		Attendance at Issues Conference	Jan 9 Issuess Conference	\$ 330.00	\$ 2,887.50
Tuesday, January 10, 2023	1	Communication with other parties	Meeting with Kent Elson	\$ 330.00	\$ 330.00
Tuesday, January 10, 2023	1.25	Review Application and Evidence	Review Correspondence	\$ 330.00	\$ 412.50
Thursday, January 12, 2023	0.75	Review Application and Evidence	Review Correspondence	\$ 330.00	\$ 247.50
Monday, January 16, 2023	0.75	Review Application and Evidence	Review Correspondence	\$ 330.00	\$ 247.50
Saturday, January 28, 2023	0.25	Review Application and Evidence	Review Correspondence	\$ 330.00	\$ 82.50
Wednesday, January 18, 2023	0.5	Review Application and Evidence	Review Correspondence	\$ 330.00	\$ 165.00
Tuesday, February 7, 2023	1.25	Review Application and Evidence	Review Interrogatory Responses	\$ 330.00	\$ 412.50
Wednesday, February 8, 2023	8.5	Review Interrogatory Responses	Review evidence, identify BOMA interests, draft IRs	\$ 330.00	\$ 2,805.00
Thursday, February 9, 2023	7	Review Interrogatory Responses	Review IR's	\$ 330.00	\$ 2,310.00
Wednesday, February 15, 2023	5	Review Application and Evidence	Review Correspondence	\$ 330.00	\$ 1,650.00
Friday, February 17, 2023		Review Application and Evidence	Review Correspondence	\$ 330.00	\$ 247.50
Tuesday, March 14, 2023	2.25	Technical Conference Preparation	Review materials, correspondence re panels, focus areas and times	\$ 330.00	\$ 742.50
Wednesday, March 15, 2023	3	Technical Conference Preparation	Review application and evidence, OEB letter	\$ 330.00	\$ 990.00
Sunday, March 19, 2023		Technical Conference Preparation	Review, issues	\$ 330.00	\$ 165.00
Monday, March 20, 2023	0.75	Technical Conference Preparation	Review Exhibits, correspondence re design day	\$ 330.00	\$ 247.50
Tuesday, March 21, 2023	2	Technical Conference Preparation	Review, highlight issues, meeting prep	\$ 330.00	\$ 660.00
Saturday, March 25, 2023	0.25		Review correspondence	\$ 330.00	\$ 82.50
Wednesday, March 22, 2023	6.25	Technical Conference Attendance	Attendance, notes, adjust questions for Day 2	\$ 330.00	\$ 2,062.50
Wednesday, March 22, 2023	2.25	Technical Conference Preparation	Review, notes, questions	\$ 330.00	\$ 742.50
Thursday, March 23, 2023	6.5	Technical Conference Attendance	Attendance, BOMA questions	\$ 330.00	\$ 2,145.00
Thursday, March 23, 2023	2	Technical Conference Preparation	Evidence check, refine questions, transcript	\$ 330.00	\$ 660.00
Friday, March 24, 2023		Technical Conference Attendance	Participation, Panel 3 questions	\$ 330.00	\$ 2,062.50
Friday, March 24, 2023		Technical Conference Preparation	Revisit evidence, adjust questions, transcript	\$ 330.00	\$ 247.50
Monday, March 27, 2023	0.25	recimical conference r reparation	Review correspondence	\$ 330.00	\$ 82.50
Tuesday, March 28, 2023	6.5		Panel 4 participation, correspondence on AMI interval metering	\$ 330.00	\$ 2,145.00
Tuesday, March 28, 2023	2.75		Evidence and correspondence re IRP, metering, Day 4 transcript	\$ 330.00	\$ 907.50
Wednesday, March 29, 2023	6.75		Panel 4 BOMA questions, participation in Panel 5	\$ 330.00	\$ 2,227.50
Wednesday, March 29, 2023		Technical Conference Preparation	Transcripts, intervenor breakout, transcript	\$ 330.00	\$ 247.50
Thursday, March 30, 2023	2.25		Participation in selected periods, review documentation	\$ 330.00	\$ 742.50
Friday, March 31, 2023	4	Technical Conference Attendance	Attendance	\$ 330.00	\$ 1,320.00
Friday, March 31, 2023	1.25		Transcript, evidence review	\$ 330.00	\$ 412.50
Thursday, April 13, 2023	1	Attendance at Hearing on Motion(s)	April 13 motions meeting, attend introductions, review transcript	\$ 330.00	\$ 330.00
Sunday, April 23, 2023		Technical Conference Preparation	Review updated information, prepare questions	\$ 330.00	\$ 412.50
Thursday, April 27, 2023		Technical Conference Preparation	Selective attendance, BOMA questions	\$ 330.00	\$ 1,072.50
Friday, April 28, 2023		Technical Conference Preparation	Review, highlight transcript	\$ 330.00	\$ 165.00
Monday, May 15, 2023		Meeting Preparation	Review IR responses	\$ 330.00	\$ 247.50
Wednesday, May 17, 2023	0.5	Meeting Preparation	Review correspondence	\$ 330.00	\$ 165.00
Thursday, May 18, 2023	1	Meeting Preparation	Review, summarize ED, OEB Staff, EG	\$ 330.00	\$ 330.00
Friday, May 19, 2023	0.5		Review IR responses, correspondence	\$ 330.00	\$ 165.00
Tuesday, May 23, 2023		Other Attendance	Attend online meeting and follow up	\$ 330.00	\$ 742.50
Saturday, May 27, 2023	1.75	0	Review and summarize correspondence, draft BOMA position	\$ 330.00	\$ 577.50
Sunday, May 28, 2023	1.5	Meeting Preparation	Review correspondence	\$ 330.00	\$ 495.00
Monday, May 29, 2023		Settlement Conference Attendance	Preparation, review files, summarize BOMA position, selective participation	\$ 330.00	\$ 1,650.00
Tuesday, May 30, 2023	6.5		Participation, review correspondence and submissions	\$ 330.00	\$ 2,145.00
Wednesday, May 31, 2023		Settlement Conference Attendance	Participation, review submissions and correspondence	\$ 330.00	\$ 1,567.50
Thursday, June 1, 2023	4.5		UFG emails, selective attendance	\$ 330.00 \$ 330.00	\$ 1,485.00
Friday, June 2, 2023			Selective participation, review correspondence		\$ 1,980.00
Saturday, June 3, 2023 Monday, June 5, 2023	0.25		Design day, capital	\$ 330.00 \$ 330.00	\$ 82.50 \$ 660.00
Tuesday, June 6, 2023	4.83	Settlement Conference Attendance Settlement Conference Attendance	Selective participation	\$ 330.00 \$ 330.00	\$ 1,593.90
	1100		Selective participation		
Wednesday, June 7, 2023	2.75 3.25		Participation, EG caucus, design day analysis	\$ 330.00 \$ 330.00	\$ 907.50 \$ 1,072.50
Thursday, June 8, 2023	3.25		Participation Participation design day correspondence		\$ 1,072.50
Friday, June 9, 2023			Participation, design day correspondence		
Monday, June 12, 2023	0.25	ŭ i	Review correspondence	\$ 330.00	\$ 82.50 \$ 82.50
Tuesday, June 13, 2023	0.25	0 -1	Review correspondence	\$ 330.00 \$ 330.00	7 000
Friday, June 16, 2023		Other Attendance	Participation Participation		\$ 577.50 \$ 495.00
Monday, June 19, 2023		Meeting Preparation	Review correspondence, comment on draft	\$ 330.00	7
Saturday, June 24, 2023	1	Meeting Preparation	Review correspondence, review Accounting Orders	\$ 330.00	\$ 330.00
Monday, June 26, 2023	0.5	Meeting Preparation	Review correspondence, Issue 4 review and edits	\$ 330.00	\$ 165.00
Tuesday, June 27, 2023	2	Meeting Preparation	Intervenor meeting on Issue 4, correspondence	\$ 330.00	\$ 660.00
Wednesday, June 28, 2023	0.5	Meeting Preparation	Review final drafts, sign off	\$ 330.00	\$ 165.00

 Payment due upon receipt
 Subtotal
 \$ 53,568.90

 Please make cheque to:
 Subtotal
 \$ 53,568.90

 Enerlife Consulting Inc.
 HST
 \$6,963.96

 90 Eglinton Ave E.
 HST
 \$6,963.96

 Suite 412
 Toronto, ON, M4P 2YE
 Total
 \$60,532.86



Re: EB-2022-0200 Enbridge Gas Inc. 2024 Rebasing Application Interim Cost Claim for Expert Witness

Date: July 12, 2023

Date	Hours	Analyst/Consultant/Case Mgmt	Project Phase	Description	Rate	Total
Tuesday, February 7, 2023	1.5	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review Correspondence	\$ 230.00	\$ 345.00
Wednesday, February 15, 2023	1	Giovanni Madalozzo	Intervenor Evidence - Preparation	Internal meeting	\$ 230.00	\$ 230.00
Friday, February 17, 2023	3.25	Giovanni Madalozzo	Intervenor Evidence - Preparation	Research - Review ICF-Enbridge report	\$ 230.00	\$ 747.50
Tuesday, February 21, 2023	3	lan Jarvis	Intervenor Evidence - Preparation	Research - Analyze savings potential for different commercial building sectors, Gas load shape for commercial building with heat recovery	\$ 330.00	\$ 990.00
Friday, February 24, 2023	0.25	lan Jarvis	Communication with other parties	Research - internal meeting	\$ 330.00	\$ 82.50
Friday, February 24, 2023	3.25	Giovanni Madalozzo	Intervenor Evidence - Preparation	Research - Review Simcoe Place base case and heat recovery analysis	\$ 230.00	\$ 747.50
Sunday, February 26, 2023	2	Pavel Rusyaev	Intervenor Evidence - Preparation	Research - Prepared estimated gas use and savings potential for retail, office and multi-family	\$ 170.00	\$ 340.00
Monday, February 27, 2023	0.25	lan Jarvis	Intervenor Evidence - Preparation	Research - Review Simcoe Place model with Giovanni	\$ 330.00	\$ 82.50
Monday, February 27, 2023	1.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Researched information re gas demand and commercial sector areas growth	\$ 170.00	\$ 255.00
Tuesday, February 28, 2023	0.5	lan Jarvis	Intervenor Evidence - Preparation	Research - Review sectoral savings potential model	\$ 330.00	\$ 165.00
Tuesday, February 28, 2023	3.5	Giovanni Madalozzo	Intervenor Evidence - Preparation	Research - Review baselines - create GBPS model and baselines - review SPL additional gas meter	\$ 230.00	\$ 805.00
Wednesday, March 1, 2023	1	lan Jarvis	Intervenor Evidence - Preparation	Prepared estimated gas use and savings potential for retail, office and mult-family	\$ 330.00	\$ 330.00
Wednesday, March 1, 2023	2	Pavel Rusyaev	Intervenor Evidence - Preparation	Review of the exhibit provided by Enbridge, prepared summary of gas savings potential for various building types from the recently performed analysis	\$ 170.00	\$ 340.00
Wednesday, March 1, 2023	2.75	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review Bear Creak data and create analysis	\$ 230.00	\$ 632.50
Thursday, March 2, 2023	0.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Prepared a summary of gas savings potential for various building types from the recently performed analysis	\$ 170.00	\$ 85.00
Friday, March 3, 2023	1	lan Jarvis	Intervenor Evidence - Preparation	Internal meeting, review correspondence	\$ 330.00	\$ 330.00
Friday, March 3, 2023	2.75	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review chiller information and 2010-2011 projects	\$ 230.00	\$ 632.50
Monday, March 6, 2023	1	lan Jarvis	Intervenor Evidence - Preparation	Review correspondence with ED, analysis, internal meeting	\$ 330.00	\$ 330.00
Monday, March 6, 2023	2	Pavel Rusyaev	Intervenor Evidence - Preparation	Modified chart, adding 1.6% growth line, prepared gas benchmark with SPL 2010 normalized to 2021 for EWRB report	\$ 170.00	\$ 340.00
Wednesday, March 8, 2023	0.5	lan Jarvis	Intervenor Evidence - Preparation	Internal meeting	\$ 330.00	\$ 165.00
Wednesday, March 8, 2023	0.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Search for data on share of commercial sector in total gas demand in Ontario	\$ 170.00	\$ 85.00
Wednesday, March 8, 2023	2.75	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review and analysis of the gas data on TDSC schools	\$ 230.00	\$ 632.50
Thursday, March 9, 2023	0.25	lan Jarvis	Intervenor Evidence - Preparation	Review Wilson Av off gas analysis, review with Simon	\$ 330.00	\$ 82.50
Friday, March 10, 2023	3.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Review material	\$ 170.00	\$ 595.00
Sunday, March 12, 2023	0.5	lan Jarvis	Intervenor Evidence - Preparation	Review results from Pavel, email next steps	\$ 330.00	\$ 165.00
Sunday, March 12, 2023	2	Pavel Rusyaev	Intervenor Evidence - Preparation	Research on how new base temperature impacts design day demand	\$ 170.00	\$ 340.00
Monday, March 13, 2023	0.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Research on how the climate change may affect extreme cold weather events	\$ 170.00	\$ 85.00
Tuesday, March 14, 2023	0.5	lan Jarvis	Intervenor Evidence - Preparation	Update, progress review	\$ 330.00	\$ 165.00
Tuesday, March 14, 2023	1	Pavel Rusyaev	Intervenor Evidence - Preparation	Research documents submitted by Enbridge pertaining to gas metering	\$ 170.00	\$ 170.00
Wednesday, March 15, 2023	0.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Research documents	\$ 170.00	\$ 85.00
Thursday, March 16, 2023	3.75	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review Terry Fox interval gas consumption for heat pump analysis	\$ 230.00	\$ 862.50
Monday, March 20, 2023	0.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Reviewed NOAA's monthly US climate report	\$ 170.00	\$ 85.00
Wednesday, March 22, 2023	0.5	lan Jarvis	Intervenor Evidence - Preparation	Internal progress meeting	\$ 330.00	\$ 165.00
Wednesday, March 22, 2023	3.75	Pavel Rusyaev	Intervenor Evidence - Preparation	Extracted data re electricity and gas savings potential due to commercial buildings	\$ 170.00	\$ 637.50
Wednesday, March 22, 2023	2.75	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review Terry Miller gas interval data	\$ 230.00	\$ 632.50
Friday, March 24, 2023	0.25	lan Jarvis	Intervenor Evidence - Preparation	Internal meeting	\$ 330.00	\$ 82.50
Monday, March 27, 2023	1	Pavel Rusyaev	Intervenor Evidence - Preparation	Research re minimum gas consumption to be eligible to be a contract customer	\$ 170.00	\$ 170.00
Tuesday, April 4, 2023	1.5	lan Jarvis	Intervenor Evidence - Preparation	Outline work plan	\$ 330.00	\$ 495.00
Wednesday, April 5, 2023	1	lan Jarvis	Intervenor Evidence - Preparation	Draft report Draft report	\$ 330.00	\$ 330.00
Wednesday, April 5, 2023	1	Pavel Rusyaev	Intervenor Evidence - Preparation	Call with lan, Giovanni and Simon to discuss the upcoming work on the research report	\$ 170.00	\$ 170.00
Wednesday, April 5, 2023	2.5	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review Bear creek intrerval data model	\$ 230.00	\$ 575.00
Wednesday, April 5, 2023	0.5	Simon Sahi	Intervenor Evidence - Preparation	Meeting with Ian and team	\$ 230.00	\$ 115.00
Thursday, April 6, 2023	0.5	lan Jarvis	Intervenor Evidence - Preparation	Development	\$ 330.00	\$ 165.00
Thursday, April 6, 2023	6.75	Pavel Rusyaev	Intervenor Evidence - Preparation	Prepared the file with data for research report	\$ 170.00	\$ 1,147.50
Monday, April 10, 2023	8	lan Jarvis	Intervenor Evidence - Preparation	Development	\$ 330.00	\$ 2,640.00
Tuesday, April 11, 2023	1.25	lan Jarvis	Intervenor Evidence - Preparation	Draft report	\$ 330.00	\$ 412.50
Tuesday, April 11, 2023	7	Simon Sahi	Intervenor Evidence - Preparation	R-studio to download weather files	\$ 230.00	\$ 1,610.00
Tuesday, April 11, 2023	4	Natalie Millan	Intervenor Evidence - Preparation	Create report and tables	\$ 170.00	\$ 680.00
Wednesday, April 12, 2023	0.5	lan Jarvis	Intervenor Evidence - Preparation	Report development	\$ 330.00	\$ 165.00
Thursday, April 13, 2023	0.5	Simon Sahi	Intervenor Evidence - Preparation	Review costing	\$ 230.00	\$ 115.00
Friday, April 14, 2023	0.5	Simon Sahi	Intervenor Evidence - Preparation	Review costing	\$ 230.00	\$ 115.00
Monday, April 17, 2023	3.5	lan Jarvis	Intervenor Evidence - Preparation	Analysis and draft report	\$ 330.00	\$ 1,155.00
Monday, April 17, 2023	3.5	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review gas consumption interval data for Terry Fox and associated ASHP -Contact vendors for ASHP performance model	\$ 230.00	\$ 805.00
Tuesday, April 18, 2023	3	lan Jarvis	Intervenor Evidence - Preparation	Internal meeting, review draft report	\$ 330.00	\$ 990.00
Tuesday, April 18, 2023	0.25	Pavel Rusyaev	Intervenor Evidence - Preparation	Call with Ian and Giovanni to review the outstanding items for the report	\$ 170.00	\$ 42.50
Tuesday, April 18, 2023	1.75	Giovanni Madalozzo	Intervenor Evidence - Preparation	Contact vendors for ASHP performance model	\$ 230.00	\$ 402.50
Wednesday, April 19, 2023	5.25	lan Jarvis	Intervenor Evidence - Preparation	Evidence review, draft report	\$ 330.00	\$ 1,732.50
Wednesday, April 19, 2023	2.75	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review ASHP model for Terry Fox	\$ 230.00	\$ 632.50
Wednesday, April 19, 2023	0.5	Natalie Millan	Intervenor Evidence - Preparation	Draft report Draft report	\$ 170.00	\$ 85.00
Wednesday, April 19, 2023	2.5	Natalie Millan	Intervenor Evidence - Preparation	Draft report Draft report	\$ 170.00	\$ 425.00
Thursday, April 20, 2023	7	Ian Jarvis	Intervenor Evidence - Preparation	Review evidence, correspondence, school ASHP model, draft report	\$ 330.00	\$ 2,310.00

Thursday, April 20, 2023	7.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Data verification and illustrations (charts and tables) for the report	\$ 170.00	\$ 1,275.00
Thursday, April 20, 2023	7.5	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review school charts - review ASHP model for Terry Fox	\$ 230.00	\$ 1,725.00
Thursday, April 20, 2023	1.75	Natalie Millan	Intervenor Evidence - Preparation	Final draft for submission	\$ 170.00	\$ 297.50
Friday, April 21, 2023	1.5	Ian Jarvis	Intervenor Evidence - Preparation	Research	\$ 330.00	\$ 495.00
Friday, April 21, 2023	1	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review school charts for report	\$ 230.00	\$ 230.00
Friday, April 21, 2023	2.5	Natalie Millan	Intervenor Evidence - Preparation	Review/draft report	\$ 170.00	\$ 425.00
Saturday, April 22, 2023	0.25	lan Jarvis	Intervenor Evidence - Interrogatory	Research	\$ 330.00	\$ 82.50
Tuesday, April 25, 2023	0.5	Ian Jarvis	Intervenor Evidence - Interrogatory	Review Interrogatory Responses	\$ 330.00	\$ 165.00
Tuesday, April 25, 2023	1	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review ASHP energy model - contact manufactures	\$ 230.00	\$ 230.00
Wednesday, April 26, 2023	2.5	Giovanni Madalozzo	Intervenor Evidence - Preparation	Internal meeting to review ASHP energy model	\$ 230.00	\$ 575.00
Friday, April 28, 2023	1	lan Jarvis	Intervenor Evidence - Interrogatory	Review all IR's and assess questions re BOMA evidence	\$ 330.00	\$ 330.00
Tuesday, May 9, 2023	2	Pavel Rusyaev	Intervenor Evidence - Preparation	2019 Achievable Savings Potential study	\$ 170.00	\$ 340.00
Wednesday, May 10, 2023	6	Ian Jarvis	Intervenor Evidence - Interrogatory	Draft report, modeling	\$ 330.00	\$ 1,980.00
Thursday, May 11, 2023	3.25	Ian Jarvis	Intervenor Evidence - Interrogatory	Peak demand analysis, draft response	\$ 330.00	\$ 1,072.50
Thursday, May 11, 2023	1.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Research on the variance accounts referenced by the Staff / Ian	\$ 170.00	\$ 255.00
Thursday, May 11, 2023	6	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review energy recovery and ASHP model for Simcoe and Terry Fox - Includeexhaust heat recovery for Terry Fox	\$ 230.00	\$ 1,380.00
Friday, May 12, 2023	4.25	Ian Jarvis	Intervenor Evidence - Interrogatory	Draft report, variance account analysis	\$ 330.00	\$ 1,402.50
Friday, May 12, 2023	6	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review energy recovery and ASHP model for Simcoe and Terry Fox, create graphs and table for the report, discussion with Trane about ASHP performance	\$ 230.00	\$ 1,380.00
Saturday, May 13, 2023	2.5	lan Jarvis	Intervenor Evidence - Interrogatory	Final draft, peak gas demand analysis	\$ 330.00	\$ 825.00
Monday, June 5, 2023	2.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Research whole system peak day gas consumption and demand, the load factor and load shape on the peak day	\$ 170.00	\$ 425.00
Wednesday, June 7, 2023	0.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Images in high resolution for the report	\$ 170.00	\$ 85.00
Thursday, June 8, 2023	2	Pavel Rusyaev	Intervenor Evidence - Preparation	Research on the lowest temperatures by year for a number of cities in Ontario	\$ 170.00	\$ 340.00
Friday, June 9, 2023	0.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Extended the table back 1991	\$ 170.00	\$ 85.00
Monday, June 12, 2023	0.75	lan Jarvis	Intervenor Evidence - Interrogatory	Search for data, intervenor correspondence	\$ 330.00	\$ 247.50
Payment due upon receipt						
Please make cheque to:					Subtotal	\$ 45,977.50
Enerlife Consulting Inc.						
90 Eglinton Ave E.					HST	\$ 5,977.08
Suite 412						
Toronto, ON, M4P 2YE					Total	\$ 51,954.58



INVOICE

90 Eglinton Ave East, Suite Toronto, Ontario, M4P 2Y3 Email: kbruce@enerlife.com DATE: INVOICE # FOR: April 30, 2024 4054 EB-2022-0200 Enbridge 2024 Rebasing Phase 1

Bill To:

Ontario Energy Board 2300 Yonge Street, 27th Floor Toronto, ON M4P 1E4

Email: registrar@oeb.ca

DESCRIPTION	AMOUNT
OEB EB-2022-0200 Enbridge 2024 Rebasing Phase 1	\$141,158.10
Total:	\$141,156.10
(Detailed timesheet attached)	
H.S.T.	\$18,350.56
Subtotal	\$159,508.66
Less Interim Invoices #3813 #3814	(\$60,532.86 + \$51,954.58)
(invoices attached)	
TOTAL	\$ \$47,021.22

Please make cheque to: Enerlife Consulting Inc. 90 Eglinton Ave E. Suite 412 Toronto, ON, M4P 2YE Business number 86868 2014 RT0001

THANK YOU FOR YOUR BUSINESS!

Re: EB-2022-0200 Enbridge Gas Inc. 2024 Rebasing Application Cost Claim for the Entirety of Phase 1 Date: April 29, 2024



Enerlife Consulting Inc. 90 Eglinton Ave E. Suite 412 Toronto, ON, M4P 2YE

Timesheet for Invoice # 4054

Date	Hours	Analyst/Consultant/Case Mgmt	Cost Claim Category	Description	Rate	Total
Monday, June 12, 2023	0.25	lan Jarvis	Prep for Settlement Conference	Review correspondence	\$ 330.00	\$ 82.50
Tuesday, June 13, 2023		lan Jarvis	Prep for Settlement Conference	Review correspondence	\$ 330.00	\$ 82.50
Friday, June 16, 2023		lan Jarvis	Other - Intervenors meeting	Intervenor meeting on Issue 4, correspondence	_	\$ 577.5
Monday, June 19, 2023		lan Jarvis	Prep for Settlement Conference	Review correspondence	\$ 330.00	\$ 495.0
Saturday, June 24, 2023		lan Jarvis	Prep for Settlement Conference	Review correspondence and accounting orders	\$ 330.00	\$ 330.0
Monday, June 26, 2023	0.5		Prep for Settlement Conference	Review correspondence	\$ 330.00	\$ 165.0
Tuesday, June 27, 2023		lan Jarvis	Other - Intervenors meeting	intervenor meeting on Issue 4, correspondence	\$ 330.00	\$ 660.0
Wednesday, June 28, 2023		lan Jarvis	Final Settlement Proposal	Review final drafts, sign off	\$ 330.00	\$ 165.0
Thursday, July 6, 2023		lan Jarvis	Prep Oral Hearing	Cross examination plan, time request	\$ 330.00	\$ 247.5
Wednesday, July 12, 2023	3	lan Jarvis	Prep Oral Hearing	Review correspondence and intervenor meeting to review draft settlement proposal	\$ 330.00	\$ 990.0
Thursday, July 13, 2023	6.5	lan Jarvis	Attendance Oral Hearing	Draft opening comments, in-person participation with EGI Panel 1	\$ 330.00	\$ 2,145.0
Friday, July 14, 2023		lan Jarvis	Attendance Oral Hearing Attendance Oral Hearing	Review correspondence, participate in EGI Panel 1 hearing	\$ 330.00	\$ 2,145.0
Monday, July 17, 2023		lan Jarvis	Prep Oral Hearing	Prep for EGI Panel 1 questions, prepare BOMA Compendium, cross exam	\$ 330.00	\$ 577.5
Monday, July 17, 2023		lan Jarvis	Attendance Oral Hearing	Attendance and participation	\$ 330.00	\$ 1,980.0
Monday, July 17, 2023	0.75		Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 127.5
Tuesday, July 18, 2023	3.75	lan Jarvis	Attendance Oral Hearing	Attendance and cross examination EGI Panel 1, correspondence	\$ 330.00	\$ 1,237.5
Wednesday, July 19, 2023	0.25	Gillian Henderson	Prep Oral Hearing	Review correpondence	\$ 330.00	\$ 82.5
Wednesday, July 19, 2023		lan Jarvis	Attendance Oral Hearing	Participation, prep intervenor panel 3 questions	\$ 330.00	\$ 660.0
Thursday, July 20, 2023		lan Jarvis	Attendance Oral Hearing	Preparation, correspondence, participation, cross examine	\$ 330.00	\$ 2,310.0
Thursday, July 20, 2023		Pavel Rusyaev	Intervenor Evidence	Data preparation	\$ 170.00	\$ 680.0
Friday, July 21, 2023		Ian Jarvis	Attendance Oral Hearing	Preparation for Panel 4 questioning with Foglers	\$ 330.00	\$ 330.0
Friday, July 21, 2023		lan Jarvis	Prep Oral Hearing	Review correspondence and schedule	\$ 330.00	\$ 165.0
Sunday, July 23, 2023		lan Jarvis	Prep Oral Hearing Prep Oral Hearing	Panel 4 prep - review materials, correspondence with Foglers	\$ 330.00	\$ 165.0
		lan Jarvis		Prepare Panel 4, review evidence, call with Foglers, appear in Panel 4	\$ 330.00	\$ 1,155.0
Monday, July 24, 2023			Prep Oral Hearing	Attendance at oral hearing		\$ 1,155.0
Monday, July 24, 2023		Gillian Henderson	Attendance Oral Hearing		7 000.00	\$ 825.00
Tuesday, July 25, 2023		lan Jarvis Ian Jarvis	Prep Oral Hearing	Review transcripts and correspondence	\$ 330.00 \$ 330.00	\$ 412.50
Thursday, July 27, 2023			Oral Hearing	Participation at oral hearing		
Friday, July 28, 2023		lan Jarvis	Prep Oral Hearing	Review correspondence and assess	\$ 330.00	\$ 165.00
Sunday, July 30, 2023		lan Jarvis	Prep Oral Hearing	Demand Day analysis, BOMA Compendium	\$ 330.00	\$ 495.00
Monday, July 31, 2023	4	lan Jarvis	Attendance Oral Hearing	Prepare EGI Panel 11 questions, draft BOMA compendium and attendance	\$ 330.00	\$ 1,320.00
Monday, July 31, 2023	2	Pavel Rusyaev	Intervenor Evidence	Data preparation	\$ 170.00	\$ 340.00
Monday, July 31, 2023		Carolyn Shier	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 127.50
Tuesday, August 1, 2023		lan Jarvis	Prep Oral Hearing	Preparation panel 11 questions	\$ 330.00	\$ 273.90
Wednesday, August 2, 2023		lan Jarvis	Attendance Oral Hearing	Attendance at oral hearing	\$ 330.00	\$ 1,428.90
Thursday, August 3, 2023	4.42		Attendance Oral Hearing	Attendance at oral hearing	\$ 330.00	\$ 1,458.60
Tuesday, August 8, 2023	1.58	lan Jarvis	Attendance Oral Hearing	Attendance at oral hearing	\$ 330.00	\$ 521.40
Tuesday, August 8, 2023	0.5	Ian Jarvis	Prep Oral Hearing	Preparation for oral hearing	\$ 330.00	\$ 165.00
Wednesday, August 9, 2023	1.75	lan Jarvis	Attendance Oral Hearing	Attendance at oral hearing	\$ 330.00	\$ 577.50
Wednesday, August 9, 2023	1.75	lan Jarvis	Prep Oral Hearing	Preparation for oral hearing	\$ 330.00	\$ 577.50
Wednesday, August 9, 2023	0.5	Carolyn Shier	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 85.00
Thursday, August 10, 2023	0.25	Carolyn Shier	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 42.50
Thursday, August 10, 2023	1.75	lan Jarvis	Attendance Oral Hearing	Attendance at oral hearing	\$ 330.00	\$ 577.50
Friday, August 11, 2023	0.75	lan Jarvis	Prep Oral Hearing	Preparation for oral hearing	\$ 330.00	
Friday, August 11, 2023	4.25	lan Jarvis	Attendance Oral Hearing	Attendance at oral hearing	\$ 330.00	\$ 1,402.50
Saturday, August 12, 2023	0.5	lan Jarvis	Prep Oral Hearing	Preparation at oral hearing	\$ 330.00	\$ 165.00
Monday, August 14, 2023	0.75	Carolyn Shier	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 127.50
Tuesday, August 29, 2023	3	lan Jarvis	Review Decision	Review correspondence	\$ 330.00	\$ 990.00
Wednesday, August 30, 2023	0.25	lan Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 82.50
Friday, September 1, 2023	1.25	lan Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 412.50
Friday, September 1, 2023		Natalie	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 170.00
Tuesday, September 5, 2023	2.25	lan Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 742.50
Tuesday, September 5, 2023		Natalie Millan	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 255.00
Wednesday, September 6, 2023		Pavel Rusyaev	Intervenor Evidence	Data preparation	\$ 170.00	\$ 340.00
Wednesday, September 6, 2023		lan Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 577.50
Wednesday, September 6, 2023		Natalie Millan	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 1,020.00
Sunday, September 10, 2023	2.5		Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 825.00
Tuesday, September 12, 2023	3	Ian Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 990.00
Thursday, September 14, 2023	1.25	lan Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 412.5
Thursday, September 14, 2023		Natalie Millan	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 255.0
Saturday, September 16, 2023		lan larvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 1.897.5
Monday, September 18, 2023		Gillian Henderson	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 82.5
Monday, September 18, 2023		Natalie Millan	Prepare Submission Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 255.0
Tuesday, September 19, 2023		Gillian Henderson		Draft BOMA submission	\$ 330.00	\$ 255.0
			Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 170.0
Tuesday, September 19, 2023 Thursday, October 12, 2023		Natalie Millan Ian Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 170.0
		lan Jarvis	Review Decision	Draft BOMA submission	\$ 330.00	\$ 165.0
Thursday, December 21, 2023			Review Decision			
Friday, February 2, 2024		lan Jarvis	Review Decision	Draft BOMA submission	\$ 330.00	\$ 82.50
Wednesday, February 14, 2024		lan Jarvis	Review Decision	Draft BOMA submission	\$ 330.00	\$ 82.5
Monday, February 26, 2024		Clement Li	Review Procedural Documents	Review correspondence	\$ 330.00	\$ 660.0
Thursday, February 29, 2024		Clement Li	Review Procedural Documents	Review correspondence	\$ 330.00	\$ 825.0
	0.5	lan Jarvis	Review Decision	Draft BOMA submission	\$ 330.00	\$ 165.00
Friday, March 1, 2024						\$ 41.611.70
Friday, March 1, 2024					Subtotal	3 41,011.//
Friday, March 1, 2024						
Friday, March 1, 2024					HST	\$ 5,409.5
Friday, March 1, 2024						



April 30, 2024

VIA RESS & EMAIL

Ontario Energy Board 2300 Yonge Street, 27th Floor Toronto, ON M4P 1E4

Attention: Nancy Marconi, Registrar

Dear Ms. Marconi:

Re: EB-2022-0200-2024 Rebasing Phase 1 Cost Claim of BOMA

BOMA's cost claims can be found attached for its participation in the above noted proceeding as participant and expert evidence.

Please note that Foglers (for BOMA) is claiming for the entirety of the Phase 1 as they did not request an interim cost award. Enerlife (for BOMA) previously submitted their interim invoices and is now claiming the entirety of Phase 1. The interim invoices are also attached.

Please let us know if you have any questions.

Yours sincerely (for BOMA),

Ian A Jarvis President

Email: <u>ijarvis@enerlife.com</u>

Gillian Henderson

CASE EB-2022-0200 - Phase 1: Rates: Distribution: Enbridge Gas Inc.

COST CLAIM EB-2022-0200:1: Kelly Bruce

INTERVENOR NAME Bruce, Kelly; +1 (437) 328-9397

kbruce@enerlife.com

PARTICIPANT CLAIM STATUS Submitted

FILING PARTICIPANT Henderson, Gillian; +1 (416) 915-1530 Ghenderson@enerlife.com

NEW **PARTICIPANT** **NON-FILING** PARTICIPANT F. NAME **NON-FILING** PARTICIPANT L. NAME

SERVICE PROVIDER TYPE* Consultant

YEAR CALLED TO BAR*

COMPLETED YEARS PRACTICING/YEARS OF **RELEVANT EXPERIENCE*** 25

HOURLY RATE 330

HST RATE CHARGED* 13.00

CV STATUS (FOR CONSULTANT/ANALYST)

CV Provided within Previous

LAST CV DATE February 21, 2023

OVERRIDE HOURLY RATE No

24 Months

HST NUMBER R119420859

HEARINGS Yes

CONSULTATIONS No

DISBURSEMENTS

No

HEARINGS

Hearings Hours 3.25

Hearings Subtotal (\$) 1,072.50

Hearings Total Tax (\$) 139.43

Hearings Total (\$) 1,211.93

	Name	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
DISC	OVERY Read and Research Application and Evidence		330		13.00		
	Preparation of Interrogatories		330		13.00		
	Review Interrogatory Responses		330		13.00		
	Technical Conference Preparation		330		13.00		
	Technical Conference Attendance		330		13.00		
	Technical Conference Follow-up		330		13.00		
	Subtotal of DISCOVERY	0.00		0.00		0.00	0.00
PRO	CEDURAL						
	Preparation of Issues List Submission		330		13.00		
	Attendance at Issues List Conference		330		13.00		
	Preparation for a Confidentiality Request		330		13.00		
	Prepare Submissions on Confidentiality		330		13.00		
	Preparation of Motion(s) Materials		330		13.00		
	Prepare Submissions on the Motion(s)		330		13.00		
	Attendance at Hearing on Motion(s)		330		13.00		
	Review Procedural Documents		330		13.00		

<u>Name</u>	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
Subtotal of PROCEDURAL	0.00		0.00		0.00	0.00
INTERVENOR EVIDENCE Preparation of Intervenor Evidence		330		13.00		
Interrogatory Responses		330		13.00		
Preparation of Witness(es) for Attenda at Hearing Subtotal of INTERVENOR EVIDENCE		330	0.00	13.00	0.00	0.00
SETTLEMENT CONFERENCE Preparation for Settlement Conference	e	330		13.00		
Attendance at Settlement Conference		330		13.00		
Preparation of Settlement Proposal		330		13.00		
Attendance at Presentation to Panel		330		13.00		
Subtotal of SETTLEMENT CONFERENCE WRITTEN ARGUMENT	0.00		0.00		0.00	0.00
Written Submissions		330		13.00		
Subtotal of WRITTEN ARGUMENT	0.00		0.00		0.00	0.00
ORAL ARGUMENT Preparation for Oral Hearing	0.25	330	82.50	13.00	10.73	93.23
Attendance at Oral Hearing	2.50	330	825.00	13.00	107.25	932.25
Oral Submissions		330		13.00		
Attendance at Oral Submissions		330		13.00		
Subtotal of ORAL ARGUMENT	2.75		907.50		117.98	1,025.48
DECISION Review Decision		330		13.00		
Review Rate/Accounting Order		330		13.00		
Prepare Submission on Rate Order	0.50	330	165.00	13.00	21.45	186.45
Subtotal of DECISION	0.50		165.00		21.45	186.45
OTHER Other Attendance (e.g., Intervenor Conferences)		330		13.00		
Subtotal of OTHER TOTAL SERVICE PROVIDER FEES	0.00		0.00		0.00	0.00
TOTAL SERVICE PROVIDER FEES Total Service Provider Fees	3.25		1,072.50		139.43	1,211.93

Attachments

<u>Attachment</u> **Document Type** Import Message

BOMA Inv 4054 EB-2022-0200 Phase 1 April 2024.pdf

Time Docket and Invoice

Hearings, Consultations, Disbursements Attachments

Attachment
BOMA Inv 4054 EB-2022-0200 Phase 1
April 2024.pdf

<u>Document Type</u> Time Docket and Invoice Claim Type Hearings **Import Message**



INVOICE

90 Eglinton Ave East, Suite Toronto, Ontario, M4P 2Y3 Email: kbruce@enerlife.com DATE: INVOICE # FOR: April 30, 2024 4054 EB-2022-0200 Enbridge 2024 Rebasing Phase 1

Bill To:

Ontario Energy Board 2300 Yonge Street, 27th Floor Toronto, ON M4P 1E4

Email: registrar@oeb.ca

DESCRIPTION	AMOUNT
OEB EB-2022-0200 Enbridge 2024 Rebasing Phase 1	\$141,158.10
Total:	\$141,156.10
(Detailed timesheet attached)	
H.S.T.	\$18,350.56
Subtotal	\$159,508.66
Less Interim Invoices #3813 #3814	(\$60,532.86 + \$51,954.58)
(invoices attached)	
TOTAL	\$ \$47,021.22

Please make cheque to: Enerlife Consulting Inc. 90 Eglinton Ave E. Suite 412 Toronto, ON, M4P 2YE Business number 86868 2014 RT0001

THANK YOU FOR YOUR BUSINESS!

Re: EB-2022-0200 Enbridge Gas Inc. 2024 Rebasing Application Cost Claim for the Entirety of Phase 1 Date: April 29, 2024



Enerlife Consulting Inc. 90 Eglinton Ave E. Suite 412 Toronto, ON, M4P 2YE

Timesheet for Invoice # 4054

Date	Hours	Analyst/Consultant/Case Mgmt	Cost Claim Category	Description	Rate	Total
Monday, June 12, 2023	0.25	lan Jarvis	Prep for Settlement Conference	Review correspondence	\$ 330.00	\$ 82.50
Tuesday, June 13, 2023		lan Jarvis	Prep for Settlement Conference	Review correspondence	\$ 330.00	\$ 82.50
Friday, June 16, 2023		lan Jarvis	Other - Intervenors meeting	Intervenor meeting on Issue 4, correspondence	_	\$ 577.5
Monday, June 19, 2023		lan Jarvis	Prep for Settlement Conference	Review correspondence	\$ 330.00	\$ 495.0
Saturday, June 24, 2023		lan Jarvis	Prep for Settlement Conference	Review correspondence and accounting orders	\$ 330.00	\$ 330.0
Monday, June 26, 2023	0.5		Prep for Settlement Conference	Review correspondence	\$ 330.00	\$ 165.0
Tuesday, June 27, 2023		lan Jarvis	Other - Intervenors meeting	intervenor meeting on Issue 4, correspondence	\$ 330.00	\$ 660.0
Wednesday, June 28, 2023		lan Jarvis	Final Settlement Proposal	Review final drafts, sign off	\$ 330.00	\$ 165.0
Thursday, July 6, 2023		lan Jarvis	Prep Oral Hearing	Cross examination plan, time request	\$ 330.00	\$ 247.5
Wednesday, July 12, 2023	3	lan Jarvis	Prep Oral Hearing	Review correspondence and intervenor meeting to review draft settlement proposal	\$ 330.00	\$ 990.0
Thursday, July 13, 2023	6.5	lan Jarvis	Attendance Oral Hearing	Draft opening comments, in-person participation with EGI Panel 1	\$ 330.00	\$ 2,145.0
Friday, July 14, 2023		lan Jarvis	Attendance Oral Hearing Attendance Oral Hearing	Review correspondence, participate in EGI Panel 1 hearing	\$ 330.00	\$ 2,145.0
Monday, July 17, 2023		lan Jarvis	Prep Oral Hearing	Prep for EGI Panel 1 questions, prepare BOMA Compendium, cross exam	\$ 330.00	\$ 577.5
Monday, July 17, 2023		lan Jarvis	Attendance Oral Hearing	Attendance and participation	\$ 330.00	\$ 1,980.0
Monday, July 17, 2023	0.75		Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 127.5
Tuesday, July 18, 2023	3.75	lan Jarvis	Attendance Oral Hearing	Attendance and cross examination EGI Panel 1, correspondence	\$ 330.00	\$ 1,237.5
Wednesday, July 19, 2023	0.25	Gillian Henderson	Prep Oral Hearing	Review correpondence	\$ 330.00	\$ 82.5
Wednesday, July 19, 2023		lan Jarvis	Attendance Oral Hearing	Participation, prep intervenor panel 3 questions	\$ 330.00	\$ 660.0
Thursday, July 20, 2023		lan Jarvis	Attendance Oral Hearing	Preparation, correspondence, participation, cross examine	\$ 330.00	\$ 2,310.0
Thursday, July 20, 2023		Pavel Rusyaev	Intervenor Evidence	Data preparation	\$ 170.00	\$ 680.0
Friday, July 21, 2023		Ian Jarvis	Attendance Oral Hearing	Preparation for Panel 4 questioning with Foglers	\$ 330.00	\$ 330.0
Friday, July 21, 2023		lan Jarvis	Prep Oral Hearing	Review correspondence and schedule	\$ 330.00	\$ 165.0
Sunday, July 23, 2023		lan Jarvis	Prep Oral Hearing Prep Oral Hearing	Panel 4 prep - review materials, correspondence with Foglers	\$ 330.00	\$ 165.0
		lan Jarvis		Prepare Panel 4, review evidence, call with Foglers, appear in Panel 4	\$ 330.00	\$ 1,155.0
Monday, July 24, 2023			Prep Oral Hearing	Attendance at oral hearing		\$ 1,155.0
Monday, July 24, 2023		Gillian Henderson	Attendance Oral Hearing		7 000.00	\$ 825.00
Tuesday, July 25, 2023		lan Jarvis Ian Jarvis	Prep Oral Hearing	Review transcripts and correspondence	\$ 330.00 \$ 330.00	\$ 412.50
Thursday, July 27, 2023			Oral Hearing	Participation at oral hearing		
Friday, July 28, 2023		lan Jarvis	Prep Oral Hearing	Review correspondence and assess	\$ 330.00	\$ 165.00
Sunday, July 30, 2023		lan Jarvis	Prep Oral Hearing	Demand Day analysis, BOMA Compendium	\$ 330.00	\$ 495.00
Monday, July 31, 2023	4	lan Jarvis	Attendance Oral Hearing	Prepare EGI Panel 11 questions, draft BOMA compendium and attendance	\$ 330.00	\$ 1,320.00
Monday, July 31, 2023	2	Pavel Rusyaev	Intervenor Evidence	Data preparation	\$ 170.00	\$ 340.00
Monday, July 31, 2023		Carolyn Shier	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 127.50
Tuesday, August 1, 2023		lan Jarvis	Prep Oral Hearing	Preparation panel 11 questions	\$ 330.00	\$ 273.90
Wednesday, August 2, 2023		lan Jarvis	Attendance Oral Hearing	Attendance at oral hearing	\$ 330.00	\$ 1,428.90
Thursday, August 3, 2023	4.42		Attendance Oral Hearing	Attendance at oral hearing	\$ 330.00	\$ 1,458.60
Tuesday, August 8, 2023	1.58	lan Jarvis	Attendance Oral Hearing	Attendance at oral hearing	\$ 330.00	\$ 521.40
Tuesday, August 8, 2023	0.5	Ian Jarvis	Prep Oral Hearing	Preparation for oral hearing	\$ 330.00	\$ 165.00
Wednesday, August 9, 2023	1.75	lan Jarvis	Attendance Oral Hearing	Attendance at oral hearing	\$ 330.00	\$ 577.50
Wednesday, August 9, 2023	1.75	lan Jarvis	Prep Oral Hearing	Preparation for oral hearing	\$ 330.00	\$ 577.50
Wednesday, August 9, 2023	0.5	Carolyn Shier	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 85.00
Thursday, August 10, 2023	0.25	Carolyn Shier	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 42.50
Thursday, August 10, 2023	1.75	lan Jarvis	Attendance Oral Hearing	Attendance at oral hearing	\$ 330.00	\$ 577.50
Friday, August 11, 2023	0.75	lan Jarvis	Prep Oral Hearing	Preparation for oral hearing	\$ 330.00	
Friday, August 11, 2023	4.25	lan Jarvis	Attendance Oral Hearing	Attendance at oral hearing	\$ 330.00	\$ 1,402.50
Saturday, August 12, 2023	0.5	lan Jarvis	Prep Oral Hearing	Preparation at oral hearing	\$ 330.00	\$ 165.00
Monday, August 14, 2023	0.75	Carolyn Shier	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 127.50
Tuesday, August 29, 2023	3	lan Jarvis	Review Decision	Review correspondence	\$ 330.00	\$ 990.00
Wednesday, August 30, 2023	0.25	lan Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 82.50
Friday, September 1, 2023	1.25	lan Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 412.50
Friday, September 1, 2023		Natalie	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 170.00
Tuesday, September 5, 2023	2.25	lan Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 742.50
Tuesday, September 5, 2023		Natalie Millan	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 255.00
Wednesday, September 6, 2023		Pavel Rusyaev	Intervenor Evidence	Data preparation	\$ 170.00	\$ 340.00
Wednesday, September 6, 2023		lan Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 577.50
Wednesday, September 6, 2023		Natalie Millan	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 1,020.00
Sunday, September 10, 2023	2.5		Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 825.00
Tuesday, September 12, 2023	3	Ian Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 990.00
Thursday, September 14, 2023	1.25	lan Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 412.5
Thursday, September 14, 2023		Natalie Millan	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 255.0
Saturday, September 16, 2023		lan larvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 1.897.5
Monday, September 18, 2023		Gillian Henderson	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 82.5
Monday, September 18, 2023		Natalie Millan	Prepare Submission Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 255.0
Tuesday, September 19, 2023		Gillian Henderson		Draft BOMA submission	\$ 330.00	\$ 255.0
			Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 170.0
Tuesday, September 19, 2023 Thursday, October 12, 2023		Natalie Millan Ian Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 170.0
		lan Jarvis	Review Decision	Draft BOMA submission	\$ 330.00	\$ 165.0
Thursday, December 21, 2023			Review Decision			
Friday, February 2, 2024		lan Jarvis	Review Decision	Draft BOMA submission	\$ 330.00	\$ 82.50
Wednesday, February 14, 2024		lan Jarvis	Review Decision	Draft BOMA submission	\$ 330.00	\$ 82.5
Monday, February 26, 2024		Clement Li	Review Procedural Documents	Review correspondence	\$ 330.00	\$ 660.0
Thursday, February 29, 2024		Clement Li	Review Procedural Documents	Review correspondence	\$ 330.00	\$ 825.0
	0.5	lan Jarvis	Review Decision	Draft BOMA submission	\$ 330.00	\$ 165.00
Friday, March 1, 2024						\$ 41.611.70
Friday, March 1, 2024					Subtotal	3 41,011.//
Friday, March 1, 2024						
Friday, March 1, 2024					HST	\$ 5,409.5
Friday, March 1, 2024						

CASE EB-2022-0200 - Phase 1: Rates: Distribution: Enbridge Gas Inc.

COST CLAIM EB-2022-0200:1: Kelly

Bruce

INTERVENOR NAME Bruce, Kelly; +1 (437) 328-9397 kbruce@enerlife.com

PARTICIPANT CLAIM STATUS Submitted

FILING PARTICIPANT Li, Clement; +1 (416) 915-1530 cli@enerlife.com

NEW **PARTICIPANT** **NON-FILING** PARTICIPANT F. NAME **NON-FILING** PARTICIPANT L. NAME

SERVICE PROVIDER TYPE*

Consultant

YEAR CALLED TO BAR*

COMPLETED YEARS PRACTICING/YEARS OF **RELEVANT EXPERIENCE*** **HOURLY RATE** 330

30

HST RATE CHARGED*

13.00

CV STATUS (FOR CONSULTANT/ANALYST)

CV Attached

LAST CV DATE

April 24, 2024

OVERRIDE HOURLY RATE

No

HST NUMBER R119420859

HEARINGS

Yes

CONSULTATIONS

No

DISBURSEMENTS

No

HEARINGS

Hearings Hours Hearings Subtotal (\$) **Hearings Total Tax (\$)** Hearings Total (\$) 4.50 1,485.00 193.05 1,678.05

	<u>Name</u>	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
DISC	OVERY Read and Research Application and Evidence		330		13.00		
	Preparation of Interrogatories		330		13.00		
	Review Interrogatory Responses		330		13.00		
	Technical Conference Preparation		330		13.00		
	Technical Conference Attendance		330		13.00		
	Technical Conference Follow-up		330		13.00		
	Subtotal of DISCOVERY	0.00		0.00		0.00	0.00
PROC	CEDURAL Preparation of Issues List Submission		330		13.00		
	Attendance at Issues List Conference		330		13.00		
	Preparation for a Confidentiality Request		330		13.00		
	Prepare Submissions on Confidentiality		330		13.00		
	Preparation of Motion(s) Materials		330		13.00		
	Prepare Submissions on the Motion(s)		330		13.00		
	Attendance at Hearing on Motion(s)		330		13.00		
	Review Procedural Documents	4.50	330	1,485.00	13.00	193.05	1,678.05

<u>Name</u>	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
Subtotal of PROCEDURAL	4.50		1,485.00		193.05	1,678.05
INTERVENOR EVIDENCE Preparation of Intervenor Evidence		330		13.00		
Interrogatory Responses		330		13.00		
Preparation of Witness(es) for Attendance at Hearing Subtotal of INTERVENOR EVIDENCE	0.00	330	0.00	13.00	0.00	0.00
SETTLEMENT CONFERENCE Preparation for Settlement Conference		330		13.00		
Attendance at Settlement Conference		330		13.00		
Preparation of Settlement Proposal		330		13.00		
Attendance at Presentation to Panel		330		13.00		
Subtotal of SETTLEMENT CONFERENCE WRITTEN ARGUMENT	0.00	000	0.00	40.00	0.00	0.00
Written Submissions	0.00	330	0.00	13.00	0.00	0.00
Subtotal of WRITTEN ARGUMENT	0.00		0.00		0.00	0.00
ORAL ARGUMENT Preparation for Oral Hearing		330		13.00		
Attendance at Oral Hearing		330		13.00		
Oral Submissions		330		13.00		
Attendance at Oral Submissions		330		13.00		
Subtotal of ORAL ARGUMENT	0.00		0.00		0.00	0.00
DECISION Review Decision		330		13.00		
Review Rate/Accounting Order		330		13.00		
Prepare Submission on Rate Order		330		13.00		
Subtotal of DECISION	0.00		0.00		0.00	0.00
OTHER Other Attendance (e.g., Intervenor Conferences) Subtotal of OTHER	0.00	330	0.00	13.00	0.00	0.00
TOTAL SERVICE PROVIDER FEES	0.00		0.00		0.00	0.00
Total Service Provider Fees	4.50		1,485.00		193.05	1,678.05

Attachments

<u>Attachment</u> **Document Type** Import Message

Enerlife CV Clement Li 2024.pdf BOMA Inv 4054 EB-2022-0200 Phase 1 April 2024.pdf

CV

Time Docket and Invoice

Hearings, Consultations, Disbursements Attachments

Attachment Document Type Claim Type **Import Message**

Time Docket and Invoice

Enerlife CV Clement Li 2024.pdf Hearings CV

BOMA Inv 4054 EB-2022-0200 Phase 1 April 2024.pdf



CLEMENT LI MASc, BEng

Director, Policy & Regulatory Development, Enerlife Consulting Inc. 2024 to present cli@enerlife.com 416-915-1530

SUMMARY OF PROFESSIONAL EXPERIENCE

With over 30 years of experience in Ontario's electricity industry, Clement has broad knowledge of related regulatory practice and policies, including Ontario Energy Board (OEB) and Canada Energy Regulator (CER) framework, codes and orders, rate setting and leave to construct filing requirements, Independent Electricity System Operator (IESO) market rules and government legislation and regulations. Clement has an outstanding track record of collaboration with all levels in the organization and other stakeholders to achieve results that are aligned with corporate goals and strategies.

In his role as Director, Policy & Regulatory Development at Enerlife, Clement leads the representation of commercial building owners and the Building Owners and Managers Association (BOMA) with the Ontario Government, OEB and the IESO. He plays a crucial role in aligning public policy, codes, regulations and programs with our clients' framework for achieving and sustaining high levels of energy efficiency and decarbonization in commercial, institutional and multi-residential buildings.

Clement's past experience at Hydro One involves providing evidence and testimony for regulatory hearings, special committees and consultation sessions, conservation demand management program design and implementation, transmission and distribution cost allocation and rate design, managing regulatory compliance activities, as well as providing expert guidance and advice to senior management and internal/external stakeholders.

Clement serves on Canadian Standards Association's technical committees (HVAC and Refrigeration, and Residential Equipment), reviewing current and proposing new standards.

RELEVANT PROJECTS

Building Owners and Managers Association (BOMA)

Clement represents BOMA with the Ontario Government, OEB and the IESO.

Cadillac Fairview

Enerlife directs an integrated, multi-year continuous performance optimization project for Cadillac Fairview's commercial office buildings, including Simcoe Place, Yonge Corporate Centre, RBC Centre, and TD Centre. Clement's role includes aligning public policy, codes, regulations and programs with the goals and objectives of the performance optimization project, as part of Cadillac Fairview's larger framework for decarbonization of their portfolio.

HIGHLIGHTS OF EXPERIENCE

- Over 30 years of Ontario electricity industry experience
- Regulatory policy research, development, and analysis
- Conservation and demand management regulatory frameworks, policy and programs

AREAS OF SPECIALIZATION

- Ontario electricity industry regulatory practice and policies: Ontario Energy Board, Canada Energy Regulator, Independent Electricity System Operator
- Conservation and demand management (CDM) analysis
- Transmission and distribution cost allocation, rates and load forecasting models and methodologies
- · Expert advice, strategy and guidance

PROFESSIONAL AFFILIATIONS

 Canadian Standards Association Technical Committee Member

ACADEMIC QUALIFICATIONS

- Master of Applied Science, Mechanical Engineering, Dalhousie University
- Bachelor of Engineering, Dalhousie University



Sustainable Schools

With his experience introducing cold-weather heat pumps into Ontario, Clement is providing direction and expert advice for Sustainable Schools' cohort research projects focusing on air-source heat pump research.

Regulatory Affairs and Program Design and Development

In his roles as Senior Regulatory Advisor and Manager, Transmission & Distribution Rates at Hydro One, Clement acquired deep expertise in regulatory and compliance activities. He provided evidence and testimony for numerous regulatory hearings at the Ontario Energy Board, led CDM program design and implementation (including introducing the first cold climate heat pump CDM program in Ontario), and was responsible for producing regulatory reporting and financial disclosures for the Board of Directors, the OEB and the provincial government.

Asset Management Regulation

In his role as Manager of Asset Management Regulation at Hydro One, Clement provided regulatory support for distribution rate applications. He authored the first Green Energy Plan for Hydro One Distribution, provided strategic support to the IESO Technical Panel on market rules related matters, and developed and evaluated an integrated resource planning pilot for Hydro One Distribution planning process.

Load Management

In his role as Senior Advisor at Hydro One, Clement represented Hydro One on the OEB cost allocation study Local Distribution Company (LDC) working group, defined load data requirements for Hydro One and other Local Distribution Companies, and ensured effective implementation of new distribution rates. He successfully developed, implemented and managed the Hydro One load data management/settlement system for the 2002 Ontario electricity market opening.



INVOICE

90 Eglinton Ave East, Suite Toronto, Ontario, M4P 2Y3 Email: kbruce@enerlife.com DATE: INVOICE # FOR: April 30, 2024 4054 EB-2022-0200 Enbridge 2024 Rebasing Phase 1

Bill To:

Ontario Energy Board 2300 Yonge Street, 27th Floor Toronto, ON M4P 1E4

Email: registrar@oeb.ca

DESCRIPTION	AMOUNT
OEB EB-2022-0200 Enbridge 2024 Rebasing Phase 1	\$141,158.10
Total:	\$141,156.10
(Detailed timesheet attached)	
H.S.T.	\$18,350.56
Subtotal	\$159,508.66
Less Interim Invoices #3813 #3814	(\$60,532.86 + \$51,954.58)
(invoices attached)	
TOTAL	\$ \$47,021.22

Please make cheque to: Enerlife Consulting Inc. 90 Eglinton Ave E. Suite 412 Toronto, ON, M4P 2YE Business number 86868 2014 RT0001

THANK YOU FOR YOUR BUSINESS!

Re: EB-2022-0200 Enbridge Gas Inc. 2024 Rebasing Application Cost Claim for the Entirety of Phase 1 Date: April 29, 2024



Enerlife Consulting Inc. 90 Eglinton Ave E. Suite 412 Toronto, ON, M4P 2YE

Timesheet for Invoice # 4054

Date	Hours	Analyst/Consultant/Case Mgmt	Cost Claim Category	Description	Rate	Total
Monday, June 12, 2023	0.25	lan Jarvis	Prep for Settlement Conference	Review correspondence	\$ 330.00	\$ 82.50
Tuesday, June 13, 2023		lan Jarvis	Prep for Settlement Conference	Review correspondence	\$ 330.00	\$ 82.50
Friday, June 16, 2023		lan Jarvis	Other - Intervenors meeting	Intervenor meeting on Issue 4, correspondence	_	\$ 577.5
Monday, June 19, 2023		lan Jarvis	Prep for Settlement Conference	Review correspondence	\$ 330.00	\$ 495.0
Saturday, June 24, 2023		lan Jarvis	Prep for Settlement Conference	Review correspondence and accounting orders	\$ 330.00	\$ 330.0
Monday, June 26, 2023	0.5		Prep for Settlement Conference	Review correspondence	\$ 330.00	\$ 165.0
Tuesday, June 27, 2023		lan Jarvis	Other - Intervenors meeting	intervenor meeting on Issue 4, correspondence	\$ 330.00	\$ 660.0
Wednesday, June 28, 2023		lan Jarvis	Final Settlement Proposal	Review final drafts, sign off	\$ 330.00	\$ 165.0
Thursday, July 6, 2023		lan Jarvis	Prep Oral Hearing	Cross examination plan, time request	\$ 330.00	\$ 247.5
Wednesday, July 12, 2023	3	lan Jarvis	Prep Oral Hearing	Review correspondence and intervenor meeting to review draft settlement proposal	\$ 330.00	\$ 990.0
Thursday, July 13, 2023	6.5	lan Jarvis	Attendance Oral Hearing	Draft opening comments, in-person participation with EGI Panel 1	\$ 330.00	\$ 2,145.0
Friday, July 14, 2023		lan Jarvis	Attendance Oral Hearing Attendance Oral Hearing	Review correspondence, participate in EGI Panel 1 hearing	\$ 330.00	\$ 2,145.0
Monday, July 17, 2023		lan Jarvis	Prep Oral Hearing	Prep for EGI Panel 1 questions, prepare BOMA Compendium, cross exam	\$ 330.00	\$ 577.5
Monday, July 17, 2023		Ian Jarvis	Attendance Oral Hearing	Attendance and participation	\$ 330.00	\$ 1,980.0
Monday, July 17, 2023	0.75		Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 127.5
Tuesday, July 18, 2023	3.75	lan Jarvis	Attendance Oral Hearing	Attendance and cross examination EGI Panel 1, correspondence	\$ 330.00	\$ 1,237.5
Wednesday, July 19, 2023	0.25	Gillian Henderson	Prep Oral Hearing	Review correpondence	\$ 330.00	\$ 82.5
Wednesday, July 19, 2023		lan Jarvis	Attendance Oral Hearing	Participation, prep intervenor panel 3 questions	\$ 330.00	\$ 660.0
Thursday, July 20, 2023		lan Jarvis	Attendance Oral Hearing	Preparation, correspondence, participation, cross examine	\$ 330.00	\$ 2,310.0
Thursday, July 20, 2023		Pavel Rusyaev	Intervenor Evidence	Data preparation	\$ 170.00	\$ 680.0
Friday, July 21, 2023		Ian Jarvis	Attendance Oral Hearing	Preparation for Panel 4 questioning with Foglers	\$ 330.00	\$ 330.0
Friday, July 21, 2023		lan Jarvis	Prep Oral Hearing	Review correspondence and schedule	\$ 330.00	\$ 165.0
Sunday, July 23, 2023		lan Jarvis	Prep Oral Hearing Prep Oral Hearing	Panel 4 prep - review materials, correspondence with Foglers	\$ 330.00	\$ 165.0
		lan Jarvis		Prepare Panel 4, review evidence, call with Foglers, appear in Panel 4	\$ 330.00	\$ 1,155.0
Monday, July 24, 2023			Prep Oral Hearing	Attendance at oral hearing		\$ 1,155.0
Monday, July 24, 2023		Gillian Henderson	Attendance Oral Hearing		7 000.00	\$ 825.00
Tuesday, July 25, 2023		lan Jarvis Ian Jarvis	Prep Oral Hearing	Review transcripts and correspondence	\$ 330.00 \$ 330.00	\$ 412.50
Thursday, July 27, 2023			Oral Hearing	Participation at oral hearing		
Friday, July 28, 2023		lan Jarvis	Prep Oral Hearing	Review correspondence and assess	\$ 330.00	\$ 165.00
Sunday, July 30, 2023		lan Jarvis	Prep Oral Hearing	Demand Day analysis, BOMA Compendium	\$ 330.00	\$ 495.00
Monday, July 31, 2023	4	lan Jarvis	Attendance Oral Hearing	Prepare EGI Panel 11 questions, draft BOMA compendium and attendance	\$ 330.00	\$ 1,320.00
Monday, July 31, 2023	2	Pavel Rusyaev	Intervenor Evidence	Data preparation	\$ 170.00	\$ 340.00
Monday, July 31, 2023		Carolyn Shier	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 127.50
Tuesday, August 1, 2023		lan Jarvis	Prep Oral Hearing	Preparation panel 11 questions	\$ 330.00	\$ 273.90
Wednesday, August 2, 2023		lan Jarvis	Attendance Oral Hearing	Attendance at oral hearing	\$ 330.00	\$ 1,428.90
Thursday, August 3, 2023	4.42		Attendance Oral Hearing	Attendance at oral hearing	\$ 330.00	\$ 1,458.60
Tuesday, August 8, 2023	1.58	lan Jarvis	Attendance Oral Hearing	Attendance at oral hearing	\$ 330.00	\$ 521.40
Tuesday, August 8, 2023	0.5	Ian Jarvis	Prep Oral Hearing	Preparation for oral hearing	\$ 330.00	\$ 165.00
Wednesday, August 9, 2023	1.75	lan Jarvis	Attendance Oral Hearing	Attendance at oral hearing	\$ 330.00	\$ 577.50
Wednesday, August 9, 2023	1.75	lan Jarvis	Prep Oral Hearing	Preparation for oral hearing	\$ 330.00	\$ 577.50
Wednesday, August 9, 2023	0.5	Carolyn Shier	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 85.00
Thursday, August 10, 2023	0.25	Carolyn Shier	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 42.50
Thursday, August 10, 2023	1.75	lan Jarvis	Attendance Oral Hearing	Attendance at oral hearing	\$ 330.00	\$ 577.50
Friday, August 11, 2023	0.75	lan Jarvis	Prep Oral Hearing	Preparation for oral hearing	\$ 330.00	
Friday, August 11, 2023	4.25	lan Jarvis	Attendance Oral Hearing	Attendance at oral hearing	\$ 330.00	\$ 1,402.50
Saturday, August 12, 2023	0.5	lan Jarvis	Prep Oral Hearing	Preparation at oral hearing	\$ 330.00	\$ 165.00
Monday, August 14, 2023	0.75	Carolyn Shier	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 127.50
Tuesday, August 29, 2023	3	lan Jarvis	Review Decision	Review correspondence	\$ 330.00	\$ 990.00
Wednesday, August 30, 2023	0.25	lan Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 82.50
Friday, September 1, 2023	1.25	lan Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 412.50
Friday, September 1, 2023		Natalie	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 170.00
Tuesday, September 5, 2023	2.25	lan Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 742.50
Tuesday, September 5, 2023		Natalie Millan	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 255.00
Wednesday, September 6, 2023		Pavel Rusyaev	Intervenor Evidence	Data preparation	\$ 170.00	\$ 340.00
Wednesday, September 6, 2023		lan Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 577.50
Wednesday, September 6, 2023		Natalie Millan	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 1,020.00
Sunday, September 10, 2023	2.5		Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 825.00
Tuesday, September 12, 2023	3	Ian Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 990.00
Thursday, September 14, 2023	1.25	lan Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 412.5
Thursday, September 14, 2023		Natalie Millan	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 255.0
Saturday, September 16, 2023		lan larvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 1.897.5
Monday, September 18, 2023		Gillian Henderson	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 82.5
Monday, September 18, 2023		Natalie Millan	Prepare Submission Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 255.0
Tuesday, September 19, 2023		Gillian Henderson		Draft BOMA submission	\$ 330.00	\$ 255.0
			Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 170.0
Tuesday, September 19, 2023 Thursday, October 12, 2023		Natalie Millan Ian Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 170.0
		lan Jarvis	Review Decision	Draft BOMA submission	\$ 330.00	\$ 165.0
Thursday, December 21, 2023			Review Decision			
Friday, February 2, 2024		lan Jarvis	Review Decision	Draft BOMA submission	\$ 330.00	\$ 82.50
Wednesday, February 14, 2024		lan Jarvis	Review Decision	Draft BOMA submission	\$ 330.00	\$ 82.5
Monday, February 26, 2024		Clement Li	Review Procedural Documents	Review correspondence	\$ 330.00	\$ 660.0
Thursday, February 29, 2024		Clement Li	Review Procedural Documents	Review correspondence	\$ 330.00	\$ 825.0
	0.5	lan Jarvis	Review Decision	Draft BOMA submission	\$ 330.00	\$ 165.00
Friday, March 1, 2024						\$ 41.611.70
Friday, March 1, 2024					Subtotal	3 41,011.//
Friday, March 1, 2024						
Friday, March 1, 2024					HST	\$ 5,409.5
Friday, March 1, 2024						

June 03, 2024

CASE

EB-2022-0200 - Phase 1: Rates:

Distribution: Enbridge Gas Inc.

COST CLAIM

EB-2022-0200:1: Kelly

Bruce

INTERVENOR NAME

Bruce, Kelly; +1 (437)

328-9397

kbruce@enerlife.com

PARTICIPANT CLAIM STATUS

Submitted

FILING PARTICIPANT

Rusyaev, Pavel; +1 (416)

915-1530 prusyaev@enerlife.com

NEW

PARTICIPANT

NON-FILING

PARTICIPANT F. NAME

NON-FILING

PARTICIPANT L. NAME

SERVICE PROVIDER TYPE*

Consultant

YEAR CALLED TO BAR*

PRACTICING/YEARS OF **RELEVANT EXPERIENCE***

5

COMPLETED YEARS

HST RATE CHARGED*

13.00

CV STATUS (FOR CONSULTANT/ANALYST)

CV Attached

LAST CV DATE

April 24, 2024

OVERRIDE HOURLY RATE

No

HST NUMBER R119420859

HEARINGS

Yes

CONSULTATIONS

No

DISBURSEMENTS

HOURLY RATE

170

No

HEARINGS

Hearings Hours 53.75

Hearings Subtotal (\$) 9,137.50

Hearings Total Tax (\$) 1,187.88

Hearings Total (\$) 10,325.38

HST Name Sub Total HST Total <u>Hours</u> **Hourly** Rate Rate **DISCOVERY** Read and Research Application and 170 13.00 Evidence Preparation of Interrogatories 170 13.00 **Review Interrogatory Responses** 170 13.00 **Technical Conference Preparation** 170 13.00 13.00 **Technical Conference Attendance** 170 13.00 Technical Conference Follow-up 170 Subtotal of DISCOVERY 0.00 170 0.00 0.00 0.00 **PROCEDURAL** Preparation of Issues List Submission 170 13.00 Attendance at Issues List Conference 170 13.00 Preparation for a Confidentiality Request 13.00 170 Prepare Submissions on Confidentiality 170 13.00 Preparation of Motion(s) Materials 170 13.00 Prepare Submissions on the Motion(s) 170 13.00 Attendance at Hearing on Motion(s) 170 13.00 **Review Procedural Documents** 170 13.00

<u>Name</u>	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
Subtotal of PROCEDURAL	0.00	170	0.00		0.00	0.00
INTERVENOR EVIDENCE Preparation of Intervenor Evidence	45.75	170	7,777.50	13.00	1,011.08	8,788.58
Interrogatory Responses		170		13.00		
Preparation of Witness(es) for Attendance at Hearing Subtotal of INTERVENOR EVIDENCE	45.75	170 170	7,777.50	13.00	1,011.08	8,788.58
SETTLEMENT CONFERENCE Preparation for Settlement Conference		170		13.00	·	
Attendance at Settlement Conference		170		13.00		
Preparation of Settlement Proposal		170		13.00		
Attendance at Presentation to Panel		170		13.00		
Subtotal of SETTLEMENT CONFERENCE WRITTEN ARGUMENT	0.00	170	0.00		0.00	0.00
Written Submissions		170		13.00		
Subtotal of WRITTEN ARGUMENT	0.00	170	0.00		0.00	0.00
ORAL ARGUMENT Preparation for Oral Hearing		170		13.00		
Attendance at Oral Hearing		170		13.00		
Oral Submissions		170		13.00		
Attendance at Oral Submissions		170		13.00		
Subtotal of ORAL ARGUMENT	0.00	170	0.00		0.00	0.00
DECISION Review Decision		170		13.00		
		170		13.00		
Review Rate/Accounting Order Prepare Submission on Rate Order	8.00	170	1,360.00	13.00	176.80	1,536.80
Subtotal of DECISION	8.00	170 170	1,360.00	13.00	176.80	1,536.80
OTHER	0.00	170	1,360.00		170.00	1,556.60
Other Attendance (e.g., Intervenor Conferences)		170		13.00		
Subtotal of OTHER	0.00	170	0.00		0.00	0.00
TOTAL SERVICE PROVIDER FEES Total Service Provider Fees	53.75		9,137.50		1,187.88	10,325.38

Attachments

<u>Attachment Document Type</u> <u>Import Message</u>

Enerlife CV Pavel Rusyaev 2023.pdf Inv 3814 OEB 2022-0200 Expert Evidence Interim Inv.pdf BOMA Inv 4054 EB-2022-0200 Phase 1 April 2024.pdf CV
Time Docket and Invoice
Time Docket and Invoice

Hearings, Consultations, Disbursements Attachments

Attachment Enerlife CV Pavel Rusyaev 2023.pdf	<u>Document Type</u> CV	Claim Type Hearings	Import Message
Inv 3814 OEB 2022-0200 Expert Evidence Interim Inv.pdf	Time Docket and Invoice	Hearings	
BOMA Inv 4054 EB-2022-0200 Phase 1	Time Docket and Invoice	Hearings	

PAVEL RUSYAEV BA

IT and Analytics Manager, Enerlife Consulting Inc., 2008 to present prusyaev@enerlife.com 416-915-1530 ext. 209

SUMMARY OF PROFESSIONAL EXPERIENCE

Pavel Rusyaev is the senior member of Enerlife's data analytics team which provides the foundation for all of the company's work. He plays a key role in virtually all of Enerlife's projects and programs while producing the benchmarks, targets and metrics for our research, development, and demonstration initiatives. Pavel develops, maintains and updates Enerlife's tools, databases and online energy management system used for analyzing, organizing and visually presenting energy performance results. His experience spans the range of building performance data, from electricity, gas and water utilities (including interval metering), to building automation system (BAS) trend logs, to weather data. He applies exceptional data analysis skills to ensure consistency and reliability of data and excels in visual presentation of complex data to be understandable for technical and non-technical audiences.

Pavel is responsible for management and ongoing development of Enerlife's online Green Building Performance System and for proper documentation of systems, methodologies and tools. He manages data retrieval, quality control and analysis for hundreds of owners and thousands of buildings, including setting baselines and targets and reporting on energy savings. Pavel's strong organizational and project management skills support internal teams as well as external clients and program members with timely and reliable information.

REPRESENTATIVE PROJECTS

Greening Health Care

Pavel is responsible for data retrieval into Enerlife's online system for 60 member hospitals across Canada, producing the benchmarking and savings charts used by members to identify conservation measures and monitor actual savings over time. He develops and maintains the interval meter diagnostic tools used to identify and verify specific energy efficiency measures and is building our international benchmarking database which now contains over a thousand hospitals, importing publicly reported data from a variety of platforms.

Alberta Health Services Utility Management Plan

Pavel managed data retrieval and processing for this multi-year energy and carbon reduction plan covering 193 healthcare facilities across Alberta. He developed customized tools including an online building information survey which was successfully completed by over 95% of the hospitals and the financial modeling which enabled the what-if scenario testing used to develop the recommended investment and implementation strategy.

New York Nursing Homes Clean Energy Plan

Pavel worked with a number of data sources of varying detail and quality to produce and test the robust energy, emissions and financial model for New York State's 615 nursing homes. This work for the Department of Health and the New York State Energy Research and Development Authority (NYSERDA) identified readily achievable annual savings potential in excess of \$100 million with emissions reductions up to 44%, along with the one third of buildings which make up two-thirds of the overall savings.



HIGHLIGHTS OF EXPERIENCE

- In-depth, visual analytical tools for diagnosing inefficiencies and verifying actual, weather-normalized energy savings
- Research into applications of multivariable analysis to improve accuracy of savings calculations
- Managing baselines and savings reporting using monthly billing data for thousands of buildings.
- Streamlined data retrieval and quality control from various platforms
- Normalized benchmark reporting methodology for very large datasets from different geographic locations
- Diagnostic tools for interval meter and BAS trend seasonal profiles used to uncover savings opportunities

AREAS OF SPECIALIZATION

- · Python, Excel and VBA programming
- Data retrieval and quality control management
- Individual building and mass data analytical tool and model development
- Pattern recognition for building performance analysis

PROFESSIONAL AFFILIATIONS

- Advanced Diploma in Computer Programming and Analysis, Seneca College
- Bachelor of Arts, Tashkent State
 Institute of Oriental Studies
- Working Group member of the Ontario Energy Board's policy development around Green Button data retrieval and Distributed Energy Resources



Sustainable Schools Top Energy Performing Boards Report

Pavel designed and continues to develop this annual reporting which recognizes the most energy efficient of Ontario's 72 school boards. The sophisticated model contains almost 5,000 buildings and uses publicly reported annual data to produce the rational, weather normalized energy target, the resulting achievable savings potential and actual savings achieved since the previous year for each individual building. The model rolls up results to determine the top-20 boards for recognition while generating detailed information to guide every board in identifying its top savings potential buildings and appropriate energy conservation measures.

Cadillac Fairview Office Buildings

Pavel developed and manages the weekly reporting tool, using interval electric, thermal and water meter data, which is now used by the energy teams for multiple buildings to identify and correct operational measures and drive continuous performance improvement.



Re: EB-2022-0200 Enbridge Gas Inc. 2024 Rebasing Application Interim Cost Claim for Expert Witness

Date: July 12, 2023

Date	Hours	Analyst/Consultant/Case Mgmt	Project Phase	Description	Rate	Total
Tuesday, February 7, 2023	1.5	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review Correspondence	\$ 230.00	\$ 345.00
Wednesday, February 15, 2023	1	Giovanni Madalozzo	Intervenor Evidence - Preparation	Internal meeting	\$ 230.00	\$ 230.00
Friday, February 17, 2023	3.25	Giovanni Madalozzo	Intervenor Evidence - Preparation	Research - Review ICF-Enbridge report	\$ 230.00	\$ 747.50
Tuesday, February 21, 2023	3	lan Jarvis	Intervenor Evidence - Preparation	Research - Analyze savings potential for different commercial building sectors, Gas load shape for commercial building with heat recovery	\$ 330.00	\$ 990.00
Friday, February 24, 2023	0.25	lan Jarvis	Communication with other parties	Research - internal meeting	\$ 330.00	\$ 82.50
Friday, February 24, 2023	3.25	Giovanni Madalozzo	Intervenor Evidence - Preparation	Research - Review Simcoe Place base case and heat recovery analysis	\$ 230.00	\$ 747.50
Sunday, February 26, 2023	2	Pavel Rusyaev	Intervenor Evidence - Preparation	Research - Prepared estimated gas use and savings potential for retail, office and multi-family	\$ 170.00	\$ 340.00
Monday, February 27, 2023	0.25	lan Jarvis	Intervenor Evidence - Preparation	Research - Review Simcoe Place model with Giovanni	\$ 330.00	\$ 82.50
Monday, February 27, 2023	1.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Researched information re gas demand and commercial sector areas growth	\$ 170.00	\$ 255.00
Tuesday, February 28, 2023	0.5	lan Jarvis	Intervenor Evidence - Preparation	Research - Review sectoral savings potential model	\$ 330.00	\$ 165.00
Tuesday, February 28, 2023	3.5	Giovanni Madalozzo	Intervenor Evidence - Preparation	Research - Review baselines - create GBPS model and baselines - review SPL additional gas meter	\$ 230.00	\$ 805.00
Wednesday, March 1, 2023	1	lan Jarvis	Intervenor Evidence - Preparation	Prepared estimated gas use and savings potential for retail, office and mult-family	\$ 330.00	\$ 330.00
Wednesday, March 1, 2023	2	Pavel Rusyaev	Intervenor Evidence - Preparation	Review of the exhibit provided by Enbridge, prepared summary of gas savings potential for various building types from the recently performed analysis	\$ 170.00	\$ 340.00
Wednesday, March 1, 2023	2.75	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review Bear Creak data and create analysis	\$ 230.00	\$ 632.50
Thursday, March 2, 2023	0.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Prepared a summary of gas savings potential for various building types from the recently performed analysis	\$ 170.00	\$ 85.00
Friday, March 3, 2023	1	lan Jarvis	Intervenor Evidence - Preparation	Internal meeting, review correspondence	\$ 330.00	\$ 330.00
Friday, March 3, 2023	2.75	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review chiller information and 2010-2011 projects	\$ 230.00	\$ 632.50
Monday, March 6, 2023	1	lan Jarvis	Intervenor Evidence - Preparation	Review correspondence with ED, analysis, internal meeting	\$ 330.00	\$ 330.00
Monday, March 6, 2023	2	Pavel Rusyaev	Intervenor Evidence - Preparation	Modified chart, adding 1.6% growth line, prepared gas benchmark with SPL 2010 normalized to 2021 for EWRB report	\$ 170.00	\$ 340.00
Wednesday, March 8, 2023	0.5	lan Jarvis	Intervenor Evidence - Preparation	Internal meeting	\$ 330.00	\$ 165.00
Wednesday, March 8, 2023	0.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Search for data on share of commercial sector in total gas demand in Ontario	\$ 170.00	\$ 85.00
Wednesday, March 8, 2023	2.75	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review and analysis of the gas data on TDSC schools	\$ 230.00	\$ 632.50
Thursday, March 9, 2023	0.25	lan Jarvis	Intervenor Evidence - Preparation	Review Wilson Av off gas analysis, review with Simon	\$ 330.00	\$ 82.50
Friday, March 10, 2023	3.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Review material	\$ 170.00	\$ 595.00
Sunday, March 12, 2023	0.5	lan Jarvis	Intervenor Evidence - Preparation	Review results from Pavel, email next steps	\$ 330.00	\$ 165.00
Sunday, March 12, 2023	2	Pavel Rusyaev	Intervenor Evidence - Preparation	Research on how new base temperature impacts design day demand	\$ 170.00	\$ 340.00
Monday, March 13, 2023	0.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Research on how the climate change may affect extreme cold weather events	\$ 170.00	\$ 85.00
Tuesday, March 14, 2023	0.5	lan Jarvis	Intervenor Evidence - Preparation	Update, progress review	\$ 330.00	\$ 165.00
Tuesday, March 14, 2023	1	Pavel Rusyaev	Intervenor Evidence - Preparation	Research documents submitted by Enbridge pertaining to gas metering	\$ 170.00	\$ 170.00
Wednesday, March 15, 2023	0.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Research documents	\$ 170.00	\$ 85.00
Thursday, March 16, 2023	3.75	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review Terry Fox interval gas consumption for heat pump analysis	\$ 230.00	\$ 862.50
Monday, March 20, 2023	0.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Reviewed NOAA's monthly US climate report	\$ 170.00	\$ 85.00
Wednesday, March 22, 2023	0.5	lan Jarvis	Intervenor Evidence - Preparation	Internal progress meeting	\$ 330.00	\$ 165.00
Wednesday, March 22, 2023	3.75	Pavel Rusyaev	Intervenor Evidence - Preparation	Extracted data re electricity and gas savings potential due to commercial buildings	\$ 170.00	\$ 637.50
Wednesday, March 22, 2023	2.75	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review Terry Miller gas interval data	\$ 230.00	\$ 632.50
Friday, March 24, 2023	0.25	lan Jarvis	Intervenor Evidence - Preparation	Internal meeting	\$ 330.00	\$ 82.50
Monday, March 27, 2023	1	Pavel Rusyaev	Intervenor Evidence - Preparation	Research re minimum gas consumption to be eligible to be a contract customer	\$ 170.00	\$ 170.00
Tuesday, April 4, 2023	1.5	lan Jarvis	Intervenor Evidence - Preparation	Outline work plan	\$ 330.00	\$ 495.00
Wednesday, April 5, 2023	1	lan Jarvis	Intervenor Evidence - Preparation	Draft report Draft report	\$ 330.00	\$ 330.00
Wednesday, April 5, 2023	1	Pavel Rusyaev	Intervenor Evidence - Preparation	Call with lan, Giovanni and Simon to discuss the upcoming work on the research report	\$ 170.00	\$ 170.00
Wednesday, April 5, 2023	2.5	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review Bear creek intrerval data model	\$ 230.00	\$ 575.00
Wednesday, April 5, 2023	0.5	Simon Sahi	Intervenor Evidence - Preparation	Meeting with Ian and team	\$ 230.00	\$ 115.00
Thursday, April 6, 2023	0.5	lan Jarvis	Intervenor Evidence - Preparation	Development	\$ 330.00	\$ 165.00
Thursday, April 6, 2023	6.75	Pavel Rusyaev	Intervenor Evidence - Preparation	Prepared the file with data for research report	\$ 170.00	\$ 1,147.50
Monday, April 10, 2023	8	lan Jarvis	Intervenor Evidence - Preparation	Development	\$ 330.00	\$ 2,640.00
Tuesday, April 11, 2023	1.25	lan Jarvis	Intervenor Evidence - Preparation	Draft report	\$ 330.00	\$ 412.50
Tuesday, April 11, 2023	7	Simon Sahi	Intervenor Evidence - Preparation	R-studio to download weather files	\$ 230.00	\$ 1,610.00
Tuesday, April 11, 2023	4	Natalie Millan	Intervenor Evidence - Preparation	Create report and tables	\$ 170.00	\$ 680.00
Wednesday, April 12, 2023	0.5	lan Jarvis	Intervenor Evidence - Preparation	Report development	\$ 330.00	\$ 165.00
Thursday, April 13, 2023	0.5	Simon Sahi	Intervenor Evidence - Preparation	Review costing	\$ 230.00	\$ 115.00
Friday, April 14, 2023	0.5	Simon Sahi	Intervenor Evidence - Preparation	Review costing	\$ 230.00	\$ 115.00
Monday, April 17, 2023	3.5	lan Jarvis	Intervenor Evidence - Preparation	Analysis and draft report	\$ 330.00	\$ 1,155.00
Monday, April 17, 2023	3.5	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review gas consumption interval data for Terry Fox and associated ASHP -Contact vendors for ASHP performance model	\$ 230.00	\$ 805.00
Tuesday, April 18, 2023	3	lan Jarvis	Intervenor Evidence - Preparation	Internal meeting, review draft report	\$ 330.00	\$ 990.00
Tuesday, April 18, 2023	0.25	Pavel Rusyaev	Intervenor Evidence - Preparation	Call with Ian and Giovanni to review the outstanding items for the report	\$ 170.00	\$ 42.50
Tuesday, April 18, 2023	1.75	Giovanni Madalozzo	Intervenor Evidence - Preparation	Contact vendors for ASHP performance model	\$ 230.00	\$ 402.50
Wednesday, April 19, 2023	5.25	lan Jarvis	Intervenor Evidence - Preparation	Evidence review, draft report	\$ 330.00	\$ 1,732.50
Wednesday, April 19, 2023	2.75	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review ASHP model for Terry Fox	\$ 230.00	\$ 632.50
Wednesday, April 19, 2023	0.5	Natalie Millan	Intervenor Evidence - Preparation	Draft report Draft report	\$ 170.00	\$ 85.00
Wednesday, April 19, 2023	2.5	Natalie Millan	Intervenor Evidence - Preparation	Draft report Draft report	\$ 170.00	\$ 425.00
Thursday, April 20, 2023	7	Ian Jarvis	Intervenor Evidence - Preparation	Review evidence, correspondence, school ASHP model, draft report	\$ 330.00	\$ 2,310.00

	,				, ,
7.5		Intervenor Evidence - Preparation	· ·		\$ 1,725.00
1.75	Natalie Millan	Intervenor Evidence - Preparation	Final draft for submission		\$ 297.50
1.5	lan Jarvis	Intervenor Evidence - Preparation			\$ 495.00
1	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review school charts for report	\$ 230.00	\$ 230.00
2.5	Natalie Millan	Intervenor Evidence - Preparation	Review/draft report	\$ 170.00	\$ 425.00
0.25	lan Jarvis	Intervenor Evidence - Interrogatory	Research	\$ 330.00	\$ 82.50
0.5	lan Jarvis	Intervenor Evidence - Interrogatory	Review Interrogatory Responses	\$ 330.00	\$ 165.00
1	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review ASHP energy model - contact manufactures	\$ 230.00	\$ 230.00
2.5	Giovanni Madalozzo	Intervenor Evidence - Preparation	Internal meeting to review ASHP energy model	\$ 230.00	\$ 575.00
1	lan Jarvis	Intervenor Evidence - Interrogatory	Review all IR's and assess questions re BOMA evidence	\$ 330.00	\$ 330.00
2	Pavel Rusyaev	Intervenor Evidence - Preparation	2019 Achievable Savings Potential study	\$ 170.00	\$ 340.00
6	lan Jarvis	Intervenor Evidence - Interrogatory	Draft report, modeling	\$ 330.00	\$ 1,980.00
3.25	lan Jarvis	Intervenor Evidence - Interrogatory	Peak demand analysis, draft response	\$ 330.00	\$ 1,072.50
1.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Research on the variance accounts referenced by the Staff / Ian	\$ 170.00	\$ 255.00
6	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review energy recovery and ASHP model for Simcoe and Terry Fox - Includeexhaust heat recovery for Terry Fox	\$ 230.00	\$ 1,380.00
4.25	lan Jarvis	Intervenor Evidence - Interrogatory	Draft report, variance account analysis	\$ 330.00	\$ 1,402.50
6	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review energy recovery and ASHP model for Simcoe and Terry Fox, create graphs and table for the report, discussion with Trane about ASHP performance	\$ 230.00	\$ 1,380.00
2.5	lan Jarvis	Intervenor Evidence - Interrogatory	Final draft, peak gas demand analysis	\$ 330.00	\$ 825.00
2.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Research whole system peak day gas consumption and demand, the load factor and load shape on the peak day	\$ 170.00	\$ 425.00
0.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Images in high resolution for the report	\$ 170.00	\$ 85.00
2	Pavel Rusyaev	Intervenor Evidence - Preparation	Research on the lowest temperatures by year for a number of cities in Ontario	\$ 170.00	\$ 340.00
0.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Extended the table back 1991	\$ 170.00	\$ 85.00
0.75	lan Jarvis	Intervenor Evidence - Interrogatory	Search for data, intervenor correspondence	\$ 330.00	\$ 247.50
				Subtotal	\$ 45,977.50
				HST	\$ 5,977.08
				Total	\$ 51,954.58
	1.75 1.5 1 2.5 0.25 0.5 1 2 6 3.25 1.5 6 4.25 6 2.5 2.5 0.5 2.5 0.5	7.5 Giovanni Madalozzo 1.75 Natalie Millan 1.5 Ian Jarvis 1 Giovanni Madalozzo 2.5 Natalie Millan 0.25 Ian Jarvis 0.5 Ian Jarvis 1 Giovanni Madalozzo 2.5 Giovanni Madalozzo 1 Ian Jarvis 2 Pavel Rusyaev 6 Ian Jarvis 3.25 Ian Jarvis 1.5 Pavel Rusyaev 6 Giovanni Madalozzo 4.25 Ian Jarvis 1.5 Pavel Rusyaev 6 Giovanni Madalozzo 4.25 Ian Jarvis 2 Pavel Rusyaev 0.5 Pavel Rusyaev 0.5 Pavel Rusyaev 0.5 Pavel Rusyaev	7.5 Giovanni Madalozzo Intervenor Evidence - Preparation 1.75 Natalie Millian Intervenor Evidence - Preparation 1.5 Ian Jarvis Intervenor Evidence - Preparation 1.5 Giovanni Madalozzo Intervenor Evidence - Preparation 1.5 Ian Jarvis Intervenor Evidence - Preparation 1.5 Natalie Millian Intervenor Evidence - Preparation 1.5 Natalie Millian Intervenor Evidence - Interrogatory 1.5 Ian Jarvis Intervenor Evidence - Interrogatory 1.5 Giovanni Madalozzo Intervenor Evidence - Preparation 1.5 Ian Jarvis Intervenor Evidence - Preparation 1.5 Ian Jarvis Intervenor Evidence - Preparation 1.5 Ian Jarvis Intervenor Evidence - Interrogatory 1.5 Giovanni Madalozzo Intervenor Evidence - Interrogatory 1.5 Pavel Rusyaev Intervenor Evidence - Interrogatory 1.5 Pavel Rusyaev Intervenor Evidence - Preparation 1.5 Pavel Rusyaev Intervenor Evidence - Preparation 1.5 Ian Jarvis Intervenor Evidence - Preparation 1.5 Ian Jarvis Intervenor Evidence - Preparation 1.5 Ian Jarvis Intervenor Evidence - Preparation 1.5 Pavel Rusyaev Intervenor Evidence - Preparation 1.5 Pave	7.5 Giovanni Madalozzo Intervenor Evidence - Preparation Review school charts - review ASHP model for Terry Fox 1.75 Natalie Millian Intervenor Evidence - Preparation Final draft for submission 1.5 Ian Jarvis Intervenor Evidence - Preparation Review school charts for report 2.5 Natalie Millian Intervenor Evidence - Preparation Review school charts for report 2.5 Natalie Millian Intervenor Evidence - Preparation Review school charts for report 2.5 Natalie Millian Intervenor Evidence - Preparation Review school charts for report 3.25 Ian Jarvis Intervenor Evidence - Interrogatory Responses 1 Giovanni Madalozzo Intervenor Evidence - Preparation Review ASHP energy model - contact manufactures 3.25 Giovanni Madalozzo Intervenor Evidence - Preparation Intervanor Evidence - Preparation Review ASHP energy model 3.26 Ian Jarvis Intervenor Evidence - Preparation Review all IR's and assess questions re BOMA evidence 3.27 Pavel Rusyaev Intervenor Evidence - Preparation Review all IR's and analysis, draft response 4.28 Ian Jarvis Intervenor Evidence - Preparation Review all IR's and analysis, draft response 4.29 Ian Jarvis Intervenor Evidence - Preparation Review all IR's and analysis, draft response 4.25 Ian Jarvis Intervenor Evidence - Preparation Review all IR's and analysis, draft response 4.26 Giovanni Madalozzo Intervenor Evidence - Preparation Review energy recovery and ASHP model for Simcoe and Terry Fox - Includeexhaust heat recovery for Terry Fox 4.25 Ian Jarvis Intervenor Evidence - Preparation Review energy recovery and ASHP model for Simcoe and Terry Fox, create graphs and table for the report, discussion with Trane about ASHP performance 4.26 Giovanni Madalozzo Intervenor Evidence - Preparation Review energy recovery and ASHP model for Simcoe and Terry Fox, create graphs and table for the report, discussion with Trane about ASHP performance 4.27 Pavel Rusyaev Intervenor Evidence - Preparation Research whole system peak day gas consumption and demand, the load factor and load shape on the peak day 4.28 Pavel Ru	7.5 Giovanni Madalozzo Intervenor Evidence - Preparation Intervenor Evidence - Intervenor Evidence - Preparation Intervenor Evidence - Intervenor Evidence - Preparation Intervenor Evidence - Inter



INVOICE

90 Eglinton Ave East, Suite Toronto, Ontario, M4P 2Y3 Email: kbruce@enerlife.com DATE: INVOICE # FOR: April 30, 2024 4054 EB-2022-0200 Enbridge 2024 Rebasing Phase 1

Bill To:

Ontario Energy Board 2300 Yonge Street, 27th Floor Toronto, ON M4P 1E4

Email: registrar@oeb.ca

DESCRIPTION	AMOUNT
OEB EB-2022-0200 Enbridge 2024 Rebasing Phase 1	\$141,158.10
Total:	\$141,156.10
(Detailed timesheet attached)	
H.S.T.	\$18,350.56
Subtotal	\$159,508.66
Less Interim Invoices #3813 #3814	(\$60,532.86 + \$51,954.58)
(invoices attached)	
TOTAL	\$ \$47,021.22

Please make cheque to: Enerlife Consulting Inc. 90 Eglinton Ave E. Suite 412 Toronto, ON, M4P 2YE Business number 86868 2014 RT0001

THANK YOU FOR YOUR BUSINESS!

Re: EB-2022-0200 Enbridge Gas Inc. 2024 Rebasing Application Cost Claim for the Entirety of Phase 1 Date: April 29, 2024



Enerlife Consulting Inc. 90 Eglinton Ave E. Suite 412 Toronto, ON, M4P 2YE

Timesheet for Invoice # 4054

Date	Hours	Analyst/Consultant/Case Mgmt	Cost Claim Category	Description	Rate	Total
Monday, June 12, 2023	0.25	lan Jarvis	Prep for Settlement Conference	Review correspondence	\$ 330.00	\$ 82.50
Tuesday, June 13, 2023		lan Jarvis	Prep for Settlement Conference	Review correspondence	\$ 330.00	\$ 82.50
Friday, June 16, 2023		lan Jarvis	Other - Intervenors meeting	Intervenor meeting on Issue 4, correspondence	_	\$ 577.5
Monday, June 19, 2023		lan Jarvis	Prep for Settlement Conference	Review correspondence	\$ 330.00	\$ 495.0
Saturday, June 24, 2023		lan Jarvis	Prep for Settlement Conference	Review correspondence and accounting orders	\$ 330.00	\$ 330.0
Monday, June 26, 2023	0.5		Prep for Settlement Conference	Review correspondence	\$ 330.00	\$ 165.0
Tuesday, June 27, 2023		lan Jarvis	Other - Intervenors meeting	intervenor meeting on Issue 4, correspondence	\$ 330.00	\$ 660.0
Wednesday, June 28, 2023		lan Jarvis	Final Settlement Proposal	Review final drafts, sign off	\$ 330.00	\$ 165.0
Thursday, July 6, 2023		lan Jarvis	Prep Oral Hearing	Cross examination plan, time request	\$ 330.00	\$ 247.5
Wednesday, July 12, 2023	3	lan Jarvis	Prep Oral Hearing	Review correspondence and intervenor meeting to review draft settlement proposal	\$ 330.00	\$ 990.0
Thursday, July 13, 2023	6.5	lan Jarvis	Attendance Oral Hearing	Draft opening comments, in-person participation with EGI Panel 1	\$ 330.00	\$ 2,145.0
Friday, July 14, 2023		lan Jarvis	Attendance Oral Hearing Attendance Oral Hearing	Review correspondence, participate in EGI Panel 1 hearing	\$ 330.00	\$ 2,145.0
Monday, July 17, 2023		lan Jarvis	Prep Oral Hearing	Prep for EGI Panel 1 questions, prepare BOMA Compendium, cross exam	\$ 330.00	\$ 577.5
Monday, July 17, 2023		Ian Jarvis	Attendance Oral Hearing	Attendance and participation	\$ 330.00	\$ 1,980.0
Monday, July 17, 2023	0.75		Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 127.5
Tuesday, July 18, 2023	3.75	lan Jarvis	Attendance Oral Hearing	Attendance and cross examination EGI Panel 1, correspondence	\$ 330.00	\$ 1,237.5
Wednesday, July 19, 2023	0.25	Gillian Henderson	Prep Oral Hearing	Review correpondence	\$ 330.00	\$ 82.5
Wednesday, July 19, 2023		lan Jarvis	Attendance Oral Hearing	Participation, prep intervenor panel 3 questions	\$ 330.00	\$ 660.0
Thursday, July 20, 2023		lan Jarvis	Attendance Oral Hearing	Preparation, correspondence, participation, cross examine	\$ 330.00	\$ 2,310.0
Thursday, July 20, 2023		Pavel Rusyaev	Intervenor Evidence	Data preparation	\$ 170.00	\$ 680.0
Friday, July 21, 2023		Ian Jarvis	Attendance Oral Hearing	Preparation for Panel 4 questioning with Foglers	\$ 330.00	\$ 330.0
Friday, July 21, 2023		lan Jarvis	Prep Oral Hearing	Review correspondence and schedule	\$ 330.00	\$ 165.0
Sunday, July 23, 2023		lan Jarvis	Prep Oral Hearing Prep Oral Hearing	Panel 4 prep - review materials, correspondence with Foglers	\$ 330.00	\$ 165.0
		lan Jarvis		Prepare Panel 4, review evidence, call with Foglers, appear in Panel 4	\$ 330.00	\$ 1,155.0
Monday, July 24, 2023			Prep Oral Hearing	Attendance at oral hearing		\$ 1,155.0
Monday, July 24, 2023		Gillian Henderson	Attendance Oral Hearing		7 000.00	\$ 825.00
Tuesday, July 25, 2023		lan Jarvis Ian Jarvis	Prep Oral Hearing	Review transcripts and correspondence	\$ 330.00 \$ 330.00	\$ 412.50
Thursday, July 27, 2023			Oral Hearing	Participation at oral hearing		
Friday, July 28, 2023		lan Jarvis	Prep Oral Hearing	Review correspondence and assess	\$ 330.00	\$ 165.00
Sunday, July 30, 2023		lan Jarvis	Prep Oral Hearing	Demand Day analysis, BOMA Compendium	\$ 330.00	\$ 495.00
Monday, July 31, 2023	4	lan Jarvis	Attendance Oral Hearing	Prepare EGI Panel 11 questions, draft BOMA compendium and attendance	\$ 330.00	\$ 1,320.00
Monday, July 31, 2023	2	Pavel Rusyaev	Intervenor Evidence	Data preparation	\$ 170.00	\$ 340.00
Monday, July 31, 2023		Carolyn Shier	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 127.50
Tuesday, August 1, 2023		lan Jarvis	Prep Oral Hearing	Preparation panel 11 questions	\$ 330.00	\$ 273.90
Wednesday, August 2, 2023		lan Jarvis	Attendance Oral Hearing	Attendance at oral hearing	\$ 330.00	\$ 1,428.90
Thursday, August 3, 2023	4.42		Attendance Oral Hearing	Attendance at oral hearing	\$ 330.00	\$ 1,458.60
Tuesday, August 8, 2023	1.58	lan Jarvis	Attendance Oral Hearing	Attendance at oral hearing	\$ 330.00	\$ 521.40
Tuesday, August 8, 2023	0.5	Ian Jarvis	Prep Oral Hearing	Preparation for oral hearing	\$ 330.00	\$ 165.00
Wednesday, August 9, 2023	1.75	lan Jarvis	Attendance Oral Hearing	Attendance at oral hearing	\$ 330.00	\$ 577.50
Wednesday, August 9, 2023	1.75	lan Jarvis	Prep Oral Hearing	Preparation for oral hearing	\$ 330.00	\$ 577.50
Wednesday, August 9, 2023	0.5	Carolyn Shier	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 85.00
Thursday, August 10, 2023	0.25	Carolyn Shier	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 42.50
Thursday, August 10, 2023	1.75	lan Jarvis	Attendance Oral Hearing	Attendance at oral hearing	\$ 330.00	\$ 577.50
Friday, August 11, 2023	0.75	lan Jarvis	Prep Oral Hearing	Preparation for oral hearing	\$ 330.00	
Friday, August 11, 2023	4.25	lan Jarvis	Attendance Oral Hearing	Attendance at oral hearing	\$ 330.00	\$ 1,402.50
Saturday, August 12, 2023	0.5	lan Jarvis	Prep Oral Hearing	Preparation at oral hearing	\$ 330.00	\$ 165.00
Monday, August 14, 2023	0.75	Carolyn Shier	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 127.50
Tuesday, August 29, 2023	3	lan Jarvis	Review Decision	Review correspondence	\$ 330.00	\$ 990.00
Wednesday, August 30, 2023	0.25	lan Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 82.50
Friday, September 1, 2023	1.25	lan Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 412.50
Friday, September 1, 2023		Natalie	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 170.00
Tuesday, September 5, 2023	2.25	lan Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 742.50
Tuesday, September 5, 2023		Natalie Millan	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 255.00
Wednesday, September 6, 2023		Pavel Rusyaev	Intervenor Evidence	Data preparation	\$ 170.00	\$ 340.00
Wednesday, September 6, 2023		lan Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 577.50
Wednesday, September 6, 2023		Natalie Millan	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 1,020.00
Sunday, September 10, 2023	2.5		Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 825.00
Tuesday, September 12, 2023	3	Ian Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 990.00
Thursday, September 14, 2023	1.25	lan Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 412.5
Thursday, September 14, 2023		Natalie Millan	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 255.0
Saturday, September 16, 2023		lan larvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 1.897.5
Monday, September 18, 2023		Gillian Henderson	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 82.5
Monday, September 18, 2023		Natalie Millan	Prepare Submission Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 255.0
Tuesday, September 19, 2023		Gillian Henderson		Draft BOMA submission	\$ 330.00	\$ 255.0
			Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 170.0
Tuesday, September 19, 2023 Thursday, October 12, 2023		Natalie Millan Ian Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 170.0
		lan Jarvis	Review Decision	Draft BOMA submission	\$ 330.00	\$ 165.0
Thursday, December 21, 2023			Review Decision			
Friday, February 2, 2024		lan Jarvis	Review Decision	Draft BOMA submission	\$ 330.00	\$ 82.50
Wednesday, February 14, 2024		lan Jarvis	Review Decision	Draft BOMA submission	\$ 330.00	\$ 82.5
Monday, February 26, 2024		Clement Li	Review Procedural Documents	Review correspondence	\$ 330.00	\$ 660.0
Thursday, February 29, 2024		Clement Li	Review Procedural Documents	Review correspondence	\$ 330.00	\$ 825.0
	0.5	lan Jarvis	Review Decision	Draft BOMA submission	\$ 330.00	\$ 165.00
Friday, March 1, 2024						\$ 41.611.70
Friday, March 1, 2024					Subtotal	3 41,011.//
Friday, March 1, 2024						
Friday, March 1, 2024					HST	\$ 5,409.5
Friday, March 1, 2024						

Albert Engel

CASE EB-2022-0200 - Phase 1: Rates:

Distribution: Enbridge Gas Inc.

COST CLAIM

EB-2022-0200:1: Kelly

Bruce

INTERVENOR NAME

Bruce, Kelly; +1 (437) 328-9397

kbruce@enerlife.com

PARTICIPANT CLAIM STATUS

Submitted

FILING PARTICIPANT

Engel, Albert; +1 (416) 864-7602 aengel@foglers.com

NEW

PARTICIPANT

NON-FILING

PARTICIPANT F. NAME

NON-FILING

PARTICIPANT L. NAME

SERVICE PROVIDER TYPE*

Legal Counsel

YEAR CALLED TO BAR*

2002

COMPLETED YEARS PRACTICING/YEARS OF **RELEVANT EXPERIENCE***

19

HST RATE CHARGED*

13.00

CV STATUS (FOR CONSULTANT/ANALYST)

CV Provided within Previous

24 Months

LAST CV DATE

December 05, 2022

OVERRIDE HOURLY RATE

HOURLY RATE

290

No

HST NUMBER R119420859

HEARINGS

Yes

CONSULTATIONS

No

DISBURSEMENTS

No

HEARINGS

Hearings Hours 0.97

Hearings Subtotal (\$) 281.30

Hearings Total Tax (\$) 36.57

Hearings Total (\$) 317.87

	<u>Name</u>	<u>Hours</u>	<u>Hourly</u>	Sub Total	<u>HST</u>	<u>HST</u>	<u>Total</u>
			<u>Rate</u>		<u>Rate</u>		
DISC	OVERY Read and Research Application and Evidence		290		13.00		
	Preparation of Interrogatories		290		13.00		
	Review Interrogatory Responses		290		13.00		
	Technical Conference Preparation		290		13.00		
	Technical Conference Attendance		290		13.00		
	Technical Conference Follow-up		290		13.00		
	Subtotal of DISCOVERY	0.00		0.00		0.00	0.00
PROC	EDURAL						
	Preparation of Issues List Submission		290		13.00		
	Attendance at Issues List Conference		290		13.00		
	Preparation for a Confidentiality Request		290		13.00		
	Prepare Submissions on Confidentiality		290		13.00		
	Preparation of Motion(s) Materials		290		13.00		
	Prepare Submissions on the Motion(s)		290		13.00		
	Attendance at Hearing on Motion(s)		290		13.00		
	Review Procedural Documents		290		13.00		

<u>Name</u>	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
Subtotal of PROCEDURAL	0.00		0.00		0.00	0.00
INTERVENOR EVIDENCE Preparation of Intervenor Evidence	0.97	290	281.30	13.00	36.57	317.87
Interrogatory Responses		290		13.00		
Preparation of Witness(es) for Attendance at Hearing Subtotal of INTERVENOR EVIDENCE	0.97	290	281.30	13.00	36.57	317.87
SETTLEMENT CONFERENCE Preparation for Settlement Conference		290		13.00		
Attendance at Settlement Conference		290		13.00		
Preparation of Settlement Proposal		290		13.00		
Attendance at Presentation to Panel		290		13.00		
Subtotal of SETTLEMENT CONFERENCE WRITTEN ARGUMENT Written Submissions	0.00	290	0.00	13.00	0.00	0.00
Subtotal of WRITTEN ARGUMENT	0.00	230	0.00	10.00	0.00	0.00
ORAL ARGUMENT	0.00		0.00		0.00	0.00
Preparation for Oral Hearing		290		13.00		
Attendance at Oral Hearing		290		13.00		
Oral Submissions		290		13.00		
Attendance at Oral Submissions		290		13.00		
Subtotal of ORAL ARGUMENT	0.00		0.00		0.00	0.00
DECISION Review Decision		290		13.00		
Review Rate/Accounting Order		290		13.00		
Prepare Submission on Rate Order		290		13.00		
Subtotal of DECISION	0.00	290	0.00	13.00	0.00	0.00
OTHER	0.00		0.00		0.00	0.00
Other Attendance (e.g., Intervenor Conferences)		290		13.00		
Subtotal of OTHER	0.00		0.00		0.00	0.00
TOTAL SERVICE PROVIDER FEES Total Service Provider Fees	0.97		281.30		36.57	317.87

Attachments

<u>Attachment</u> **Document Type**

prebill 1301100-225289 - 4884-7333-8801 2

Foglers.pdf

Time Docket and Invoice

Import Message

Hearings, Consultations, Disbursements Attachments

<u>Attachment</u> prebill 1301100-225289 - 4884-7333-8801 2 Foglers.pdf <u>Document Type</u> Time Docket and Invoice Claim Type Hearings **Import Message**

Prebill # 1301100 Session: 758677 Bill to: 17/Apr/24

Client: F1588 Fraser & Company CLIENT LAWYER: Engel, Albert M.
MATTER_LAWYER: Engel, Albert M.

Matter: 225289 BOMA - EB-2022-0200: Enbridge

Gas Inc., 2024 Rebasing

LAWYER ON BILL: Engel, Albert M.

LAST BILL DATE: NONE

FOGLER, RUBINOFF LLP

PAYOR NAME & ADDRESS
Enbridge Gas Inc.
500 Consumers Road
Toronto, ON

M2J 1P8 Canada

Attn: Vanessa Innis

Page 1

<u>PAYOR:</u> E1365 MT10 <u>BILL:</u> E1365 MT10

ACCOUNT APPROVAL

Albert Engel

[] FINAL BILL: MATTER WILL BE MADE INACTIVE

UNBILLED TIME

LAST ENTRY	TIMEKEEPER	<u>HOURS</u>	<u>AMOUNT</u>		FEE CREDIT ALLOCATION	CODE	<u>INIT</u>
24/Jul/23	Albert Engel	0.97	281.30		[]AO DOOKETED	433	AME
24/Jul/23	Matthew Rutledge	10.10	1,717.00			578	MWR
	TOTAL UNBILLED FEES	11.07	1,998.30	[] WRITE OFF			
	PREMIUM (WRITE DOWN)						
	TOTAL FEES THIS BILL						

TRUST SUMMARY - A Trust was not opened on this Matter

Page 2

FOGLER, RUBINOFF **BILLING STATEMENT TO 17/Apr/24**

Payor/Matter: E1365/225289

Enbridge Gas Inc.
BOMA - EB-2022-0200: Enbridge Gas
Inc., 2024 Rebasing
Prebill No.: 1301100
Session ID: 758677

LAST BILL DATE: NONE LAST BILLED TO DATE: NONE

M.

FILE LAWYER: Engel, Albert M. ASSIGNED LAWYER: Engel, Albert

BILL ADDRESS Enbridge Gas Inc. 500 Consumers Road Toronto, ON M2J 1P8 CANADA

PAYOR DEFAULT ADDRESS

500 Consumers Road Toronto, ON M2J 1P8

Innis, Vanessa

DETAIL OF UNBILLED TIME

DATE	TIME ID	TIMEK	EEPER	HOURS	RATE	AMOUNT	DESCRIPTION
16/Jan/23	4282162	433	AME	0.22	290.00	63.80	Reviewed letter to OEB
10/Feb/23	4305346	433	AME	0.10	290.00	29.00	Reviewed and finalized draft BOMA interrogatories
14/Jul/23	4409488	578	MWR	1.10	170.00	187.00	Review OEB Rules, correspondence re EB-2022-0200, Procedural Order and filings on OEB Website; report to A. Engel that I. Jarvis Acknowledgement of expert's duty and CV were not filed along with his expert witness evidence
14/Jul/23	4409658	578	MWR	0.20	170.00	34.00	Email to I. Jarvis and G. Henderson re filing their CV's and Acknowledgment of Expert's Duty with the OEB and requesting if any parties have any objections to their expert qualifications
14/Jul/23	4409838	578	MWR	0.50	170.00	85.00	Discussion with A. Engel re serving and filing CV and Acknowledgement of Experty's Duty of Ian Jarvis and Gillian Henderson; request updated CV's and signed Acknowledgments from I. Jarvis and G. Henderson; review and filed with OEB
14/Jul/23	4416394	433	AME	0.15	290.00	43.50	Communications regarding filing of CVs and expert witness forms
17/Jul/23	4410490	578	MWR	0.40	170.00	68.00	Review CV's of I. Jarvis and G. Henderson and OEB 2022-0200 panel schedule; email to I. Jarvis and G. Henderson re area to be qualified as experts in
21/Jul/23	4414822	578	MWR	1.80	170.00	306.00	Review Enerlife evidence for EB-2022-0200; meeting with I. Jarvis to discuss hearing and provision of evidence
21/Jul/23	4415082	578	MWR	2.50	170.00	425.00	Review OEB proceeding transcripts, BOMA response to interrogatories, prepare for OEB Hearing
24/Jul/23	4415306	578	MWR	3.60	170.00	612.00	Prepare for and attend OEB Hearing for BOMA Panel
24/Jul/23	4416412	433	AME	0.50	290.00	145.00	Communications with Matthew Rutledge and Ian Jarvis regarding today's evidence; Observed hearing
			TOTAL TIME	11.07		1,998.30	

CASE

EB-2022-0200 - Phase 1: Rates: Distribution: Enbridge Gas Inc.

COST CLAIM

EB-2022-0200 : 1 : Kelly

Bruce

INTERVENOR NAME

Bruce, Kelly; +1 (437) 328-9397

kbruce@enerlife.com

PARTICIPANT CLAIM STATUS

Submitted

FILING PARTICIPANT

Rutledge, Matthew; +1 (416) 864-7607 mrutledge@foglers.com NEW

PARTICIPANT

Nο

NON-FILING

PARTICIPANT F. NAME

NON-FILING

PARTICIPANT L. NAME

SERVICE PROVIDER TYPE*

Legal Counsel

YEAR CALLED TO BAR*

2021

COMPLETED YEARS
PRACTICING/YEARS OF

RELEVANT EXPERIENCE*

3

HST RATE CHARGED*

13.00

CV STATUS (FOR CONSULTANT/ANALYST)

CV Attached

LAST CV DATE

April 25, 2024

OVERRIDE HOURLY RATE

HOURLY RATE

170

No

HST NUMBER R119420859

HEARINGS

Yes

CONSULTATIONS

No

DISBURSEMENTS

No

HEARINGS

Hearings Hours 10.10 Hearings Subtotal (\$) 1,717.00 Hearings Total Tax (\$) 223.21

Hearings Total (\$) 1,940.21

	<u>Name</u>	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
DISC	OVERY Read and Research Application and Evidence		170		13.00		
	Preparation of Interrogatories		170		13.00		
	Review Interrogatory Responses		170		13.00		
	Technical Conference Preparation		170		13.00		
	Technical Conference Attendance		170		13.00		
	Technical Conference Follow-up		170		13.00		
	Subtotal of DISCOVERY	0.00	170	0.00		0.00	0.00
PRO	CEDURAL Preparation of Issues List Submission		170		13.00		
	Attendance at Issues List Conference		170		13.00		
	Preparation for a Confidentiality Request		170		13.00		
	Prepare Submissions on Confidentiality		170		13.00		
	Preparation of Motion(s) Materials		170		13.00		
	Prepare Submissions on the Motion(s)		170		13.00		
	Attendance at Hearing on Motion(s)		170		13.00		
	Review Procedural Documents	10.10	170	1,717.00	13.00	223.21	1,940.21

<u>Nam</u>	<u>e</u>	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
Subt	total of PROCEDURAL	10.10	170	1,717.00		223.21	1,940.21
	OR EVIDENCE paration of Intervenor Evidence		170		13.00		
Inter	rogatory Responses		170		13.00		
at He	paration of Witness(es) for Attendance earing total of INTERVENOR EVIDENCE	0.00	170 170	0.00	13.00	0.00	0.00
		0.00	170	0.00		0.00	0.00
_	ENT CONFERENCE paration for Settlement Conference		170		13.00		
Atter	ndance at Settlement Conference		170		13.00		
Prep	paration of Settlement Proposal		170		13.00		
Atter	ndance at Presentation to Panel		170		13.00		
CON	total of SETTLEMENT IFERENCE ARGUMENT	0.00	170	0.00		0.00	0.00
	en Submissions		170		13.00		
Subt	total of WRITTEN ARGUMENT	0.00	170	0.00		0.00	0.00
ORAL ARG	GUMENT paration for Oral Hearing		170		13.00		
-	ndance at Oral Hearing		170		13.00		
	Submissions		170		13.00		
_	ndance at Oral Submissions		170		13.00		
	total of ORAL ARGUMENT	0.00	170	0.00	10.00	0.00	0.00
DECISION	ISTAL ANSOMENT	0.00	170	0.00		0.00	0.00
	ew Decision		170		13.00		
Revi	ew Rate/Accounting Order		170		13.00		
Prep	are Submission on Rate Order		170		13.00		
Subt	total of DECISION	0.00	170	0.00		0.00	0.00
	er Attendance (e.g., Intervenor ferences)		170		13.00		
	total of OTHER	0.00	170	0.00		0.00	0.00
	RVICE PROVIDER FEES I Service Provider Fees	10.10		1,717.00		223.21	1,940.21

Attachments

<u>Attachment Document Type</u> <u>Import Message</u>

prebill 1301100-225289 - 4884-7333-8801 2

Foglers.pdf

Rutledge, Matthew Bio-CV.pdf

Time Docket and Invoice

CV

Hearings, Consultations, Disbursements Attachments

Attachment prebill 1301100-225289 - 4884-7333-8801 2 Time Docket and Invoice Hearings

Foglers.pdf

Rutledge, Matthew Bio-CV.pdf CV Hearings

Prebill # 1301100 Session: 758677 Bill to: 17/Apr/24

Client: F1588 Fraser & Company CLIENT LAWYER: Engel, Albert M.
MATTER_LAWYER: Engel, Albert M.

Matter: 225289 BOMA - EB-2022-0200: Enbridge

Gas Inc., 2024 Rebasing

LAWYER ON BILL: Engel, Albert M.

LAST BILL DATE: NONE

FOGLER, RUBINOFF LLP

PAYOR NAME & ADDRESS
Enbridge Gas Inc.
500 Consumers Road
Toronto, ON

M2J 1P8 Canada

Attn: Vanessa Innis

Page 1

<u>PAYOR:</u> E1365 MT10 <u>BILL:</u> E1365 MT10

ACCOUNT APPROVAL

Albert Engel

[] FINAL BILL: MATTER WILL BE MADE INACTIVE

UNBILLED TIME

LAST ENTRY	TIMEKEEPER	<u>HOURS</u>	<u>AMOUNT</u>		FEE CREDIT ALLOCATION	CODE	<u>INIT</u>
24/Jul/23	Albert Engel	0.97	281.30		[]AO DOOKETED	433	AME
24/Jul/23	Matthew Rutledge	10.10	1,717.00			578	MWR
	TOTAL UNBILLED FEES	11.07	1,998.30	[] WRITE OFF			
	PREMIUM (WRITE DOWN)						
	TOTAL FEES THIS BILL						

TRUST SUMMARY - A Trust was not opened on this Matter

Page 2

FOGLER, RUBINOFF **BILLING STATEMENT TO 17/Apr/24**

Payor/Matter: E1365/225289

Enbridge Gas Inc.
BOMA - EB-2022-0200: Enbridge Gas
Inc., 2024 Rebasing
Prebill No.: 1301100
Session ID: 758677

LAST BILL DATE: NONE LAST BILLED TO DATE: NONE

M.

FILE LAWYER: Engel, Albert M. ASSIGNED LAWYER: Engel, Albert

BILL ADDRESS Enbridge Gas Inc. 500 Consumers Road Toronto, ON M2J 1P8 CANADA

PAYOR DEFAULT ADDRESS

500 Consumers Road Toronto, ON M2J 1P8

Innis, Vanessa

DETAIL OF UNBILLED TIME

DATE	TIME ID	TIMEK	EEPER	HOURS	RATE	AMOUNT	DESCRIPTION
16/Jan/23	4282162	433	AME	0.22	290.00	63.80	Reviewed letter to OEB
10/Feb/23	4305346	433	AME	0.10	290.00	29.00	Reviewed and finalized draft BOMA interrogatories
14/Jul/23	4409488	578	MWR	1.10	170.00	187.00	Review OEB Rules, correspondence re EB-2022-0200, Procedural Order and filings on OEB Website; report to A. Engel that I. Jarvis Acknowledgement of expert's duty and CV were not filed along with his expert witness evidence
14/Jul/23	4409658	578	MWR	0.20	170.00	34.00	Email to I. Jarvis and G. Henderson re filing their CV's and Acknowledgment of Expert's Duty with the OEB and requesting if any parties have any objections to their expert qualifications
14/Jul/23	4409838	578	MWR	0.50	170.00	85.00	Discussion with A. Engel re serving and filing CV and Acknowledgement of Experty's Duty of Ian Jarvis and Gillian Henderson; request updated CV's and signed Acknowledgments from I. Jarvis and G. Henderson; review and filed with OEB
14/Jul/23	4416394	433	AME	0.15	290.00	43.50	Communications regarding filing of CVs and expert witness forms
17/Jul/23	4410490	578	MWR	0.40	170.00	68.00	Review CV's of I. Jarvis and G. Henderson and OEB 2022-0200 panel schedule; email to I. Jarvis and G. Henderson re area to be qualified as experts in
21/Jul/23	4414822	578	MWR	1.80	170.00	306.00	Review Enerlife evidence for EB-2022-0200; meeting with I. Jarvis to discuss hearing and provision of evidence
21/Jul/23	4415082	578	MWR	2.50	170.00	425.00	Review OEB proceeding transcripts, BOMA response to interrogatories, prepare for OEB Hearing
24/Jul/23	4415306	578	MWR	3.60	170.00	612.00	Prepare for and attend OEB Hearing for BOMA Panel
24/Jul/23	4416412	433	AME	0.50	290.00	145.00	Communications with Matthew Rutledge and Ian Jarvis regarding today's evidence; Observed hearing
			TOTAL TIME	11.07		1,998.30	



Matthew Rutledge

Associate

EMAIL mrutledge@foglers.com

PHONE 416.864.7607



Matthew is an associate with the firm's litigation and dispute resolution group and is developing a broad corporate and commercial litigation practice with a focus on municipal and planning law.

He received his BSc from McMaster University in 2016 and obtained his J.D. from the University of New Brunswick in 2020, where he received the Townsend Fischer Prize in Real Estate Transactions. Prior to being admitted to the bar and joining Foglers as an associate, Matthew was both a summer and articling student with the firm.

During his time at law school, Matthew was an active volunteer with Pro Bono Students Canada and held roles within several student advocacy groups, such as Chair of Advocacy Committee for the Students for the Wrongfully Convicted Society and as an executive of OutLaw UNB.

In his free time, Matthew enjoys competitive swimming, taking his dog for walks, and exploring new restaurants.

Education & Memberships

EDUCATION

Called to the Ontario Bar, 2021 University of New Brunswick, J.D., 2020 McMaster University, BSc., 2016

PRACTICE AREAS

Administrative and Regulatory

Judicial Reviews and Appeals

Litigation and Dispute Resolution

Municipal and Planning

Recent Insights

LITIGATION AND DISPUTE RESOLUTION

A New (and Needed) Cyber-Tort Emerges: Harassment In Internet Communications Caplan v. Atas, 2021 ONSC 670

Article

Natalie Millan

CASE EB-2022-0200 - Phase 1: Rates:

Distribution: Enbridge Gas Inc.

COST CLAIM

EB-2022-0200:1: Kelly Bruce

INTERVENOR NAME

Bruce, Kelly; +1 (437) 328-9397

kbruce@enerlife.com

PARTICIPANT CLAIM STATUS

Submitted

FILING PARTICIPANT

Millan, Natalie; +1 (416) 915-1530 nmillan@enerlife.com

NEW

PARTICIPANT

NON-FILING

PARTICIPANT F. NAME

NON-FILING

PARTICIPANT L. NAME

SERVICE PROVIDER TYPE*

Consultant

YEAR CALLED TO BAR*

PRACTICING/YEARS OF **RELEVANT EXPERIENCE***

5

COMPLETED YEARS

HST RATE CHARGED*

13.00

CV STATUS (FOR CONSULTANT/ANALYST)

CV Attached

LAST CV DATE

April 24, 2024

OVERRIDE HOURLY RATE

HOURLY RATE

170

No

HST NUMBER R119420859

HEARINGS

Yes

CONSULTATIONS

No

DISBURSEMENTS

No

HEARINGS

Hearings Hours 23.75

Hearings Subtotal (\$) 4,037.50

Hearings Total Tax (\$) 524.88

Hearings Total (\$) 4,562.38

HST Name Sub Total <u>HST</u> Total <u>Hours</u> **Hourly** Rate Rate **DISCOVERY** Read and Research Application and 170 13.00 Evidence Preparation of Interrogatories 170 13.00 **Review Interrogatory Responses** 170 13.00 **Technical Conference Preparation** 170 13.00 13.00 **Technical Conference Attendance** 170 13.00 Technical Conference Follow-up 170 Subtotal of DISCOVERY 0.00 0.00 0.00 0.00 **PROCEDURAL** Preparation of Issues List Submission 170 13.00 Attendance at Issues List Conference 170 13.00 Preparation for a Confidentiality Request 13.00 170 Prepare Submissions on Confidentiality 170 13.00 Preparation of Motion(s) Materials 170 13.00 Prepare Submissions on the Motion(s) 170 13.00 Attendance at Hearing on Motion(s) 170 13.00 **Review Procedural Documents** 170 13.00

<u>Name</u>	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
Subtotal of PROCEDURAL	0.00		0.00		0.00	0.00
INTERVENOR EVIDENCE Preparation of Intervenor Evidence	11.25	170	1,912.50	13.00	248.63	2,161.13
Interrogatory Responses		170		13.00		
Preparation of Witness(es) for Attendance at Hearing Subtotal of INTERVENOR EVIDENCE	11.25	170	1,912.50	13.00	248.63	2,161.13
SETTLEMENT CONFERENCE Preparation for Settlement Conference		170	·	13.00		ŕ
Attendance at Settlement Conference		170		13.00		
Preparation of Settlement Proposal		170		13.00		
Attendance at Presentation to Panel		170		13.00		
Subtotal of SETTLEMENT CONFERENCE WRITTEN ARGUMENT	0.00		0.00		0.00	0.00
Written Submissions		170		13.00		
Subtotal of WRITTEN ARGUMENT	0.00		0.00		0.00	0.00
ORAL ARGUMENT Preparation for Oral Hearing		170		13.00		
Attendance at Oral Hearing		170		13.00		
Oral Submissions		170		13.00		
Attendance at Oral Submissions		170		13.00		
Subtotal of ORAL ARGUMENT	0.00		0.00		0.00	0.00
DECISION Review Decision		170		13.00		
Review Rate/Accounting Order		170		13.00		
Prepare Submission on Rate Order	12.50	170	2,125.00	13.00	276.25	2,401.25
Subtotal of DECISION	12.50	170	2,125.00	13.00	276.25	2,401.25
OTHER	12.00		2,120.00		270.20	2,401.20
Other Attendance (e.g., Intervenor Conferences)		170		13.00		
Subtotal of OTHER	0.00		0.00		0.00	0.00
TOTAL SERVICE PROVIDER FEES Total Service Provider Fees	23.75		4,037.50		524.88	4,562.38

Attachments

<u>Attachment Document Type</u> <u>Import Message</u>

Enerlife CV Natalie Millan 2023.pdf Inv 3814 OEB 2022-0200 Expert Evidence Interim Inv.pdf BOMA Inv 4054 EB-2022-0200 Phase 1 April 2024.pdf CV
Time Docket and Invoice
Time Docket and Invoice

Hearings, Consultations, Disbursements Attachments

<u>Attachment</u>	Document Type	Claim Type	Import Message
Enerlife CV Natalie Millan 2023.pdf	CV	Hearings	
Inv 3814 OEB 2022-0200 Expert Evidence Interim Inv.pdf	Time Docket and Invoice	Hearings	
BOMA Inv 4054 EB-2022-0200 Phase 1 April 2024.pdf	Time Docket and Invoice	Hearings	



Project Manager, Enerlife Consulting Inc., 2014 to present nmillan@enerlife.com 416-915-1530 ext 205



SUMMARY OF PROFESSIONAL EXPERIENCE

Natalie Millan is an experienced project manager with a solid financial and civil engineering background. She provides comprehensive project management support to a wide range of projects in the municipal, commercial office and schools sector. As a Project Management Professional, Natalie has a thorough understanding of Project Management methodology. She has over 10 years of project management experience on projects of varied scale for institutional and commercial sector clients.

RELEVANT PROJECTS

Mayors' Megawatt Challenge Roadmap to Net Zero Ice Rink Pilot

Natalie provided project management for the development and roll out of the cohort pilot to develop net zero carbon design briefs and implementation plans over time for nine ice rinks. She was responsible for control and monitoring of the scope, schedule, and budget.

Alberta Health Services Utilities Management Plan

Responsible for ongoing management and reporting for the development of the 10-year Utilities Management Plan and business case for the 192 hospitals managed by AHS.

Town of Halton Hills Corporate Energy Plan

Project manager for the Town of Halton Hills Corporate Energy Plan update. The Corporate Energy Plan provided the strategy and roadmap for 2019 – 2024 to lay the foundations for achieving the long-term goals. Natalie managed the site visits, building performance evaluation and analysis to recommend strategic actions to achieve the Town's overall goals as well as building-specific low-carbon targets.

Cadillac Fairview

Project manager for a multi-year energy performance management project, responsible for Cadillac Fairview's Energy Star Portfolio Manager, data analysis, reporting, budgeting, planning and client relations.

Simcoe County District School Board

Natalie managed the implementation of the Board's 2014-2019 Energy Conservation and Demand Management Plan, including budget development, project planning, and developing the project schedule.

Region of Peel GHG Emission Reduction Prioritization Methodology and Implementation Plan

Natalie was the lead project manager overseeing building data and energy analysis, development of greenhouse gas emissions reduction model, reporting, workshop development, and overall project budgeting, scheduling and communications.

Performance-Based Conservation Pilot Project

Project manager for the Performance-Based Conservation pilot with Ontario's Independent Electricity System Operator, with 200 municipal, school and

HIGHLIGHTS OF EXPERIENCE

- Extensive experience managing projects for institutional and commercial clients
- Energy and water data and buildings performance analysis

AREAS OF SPECIALIZATION

- · Forecast budgeting
- · Project planning
- Control and monitoring methodologies for scope, schedule, and budget

PROFESSIONAL AFFILIATIONS

- Project Management Institute Member
- Southern Ontario Charter PMI Member
- Project Management Professional (PMP), Project Management Institute

ACADEMIC QUALIFICATIONS

- Master of Finance, IESA, Caracas, Venezuela
- Master of Business Administration (MBA), IESA, Caracas, Venezuela
- Bachelor of Science Civil Engineering, Universidad Santa Maria, Caracas, Venezuela



commercial office buildings. Responsible for planning, budgeting, reporting, energy performance analysis, energy assessments reports, workshop and webinars, ongoing program management and client relationships.

Sustainable Schools Program

Responsibilities included developing the project proposal, creating the project charter, developing the implementation plan including schedule, scope and budget, and overseeing the data analysis for and preparation of Top Energy Performing School Boards reports.

To: Ontario Energy Board 2300 Yonge Street Suite 2701 Toronto, Ontario M4P 1E4



Re: EB-2022-0200 Enbridge Gas Inc. 2024 Rebasing Application Interim Cost Claim for Expert Witness

Date: July 12, 2023

Date	Hours	Analyst/Consultant/Case Mgmt	Project Phase	Description	Rate	Total
Tuesday, February 7, 2023	1.5	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review Correspondence	\$ 230.00	\$ 345.00
Wednesday, February 15, 2023	1	Giovanni Madalozzo	Intervenor Evidence - Preparation	Internal meeting	\$ 230.00	\$ 230.00
Friday, February 17, 2023	3.25	Giovanni Madalozzo	Intervenor Evidence - Preparation	Research - Review ICF-Enbridge report	\$ 230.00	\$ 747.50
Tuesday, February 21, 2023	3	lan Jarvis	Intervenor Evidence - Preparation	Research - Analyze savings potential for different commercial building sectors, Gas load shape for commercial building with heat recovery	\$ 330.00	\$ 990.00
Friday, February 24, 2023	0.25	lan Jarvis	Communication with other parties	Research - internal meeting	\$ 330.00	\$ 82.50
Friday, February 24, 2023	3.25	Giovanni Madalozzo	Intervenor Evidence - Preparation	Research - Review Simcoe Place base case and heat recovery analysis	\$ 230.00	\$ 747.50
Sunday, February 26, 2023	2	Pavel Rusyaev	Intervenor Evidence - Preparation	Research - Prepared estimated gas use and savings potential for retail, office and multi-family	\$ 170.00	\$ 340.00
Monday, February 27, 2023	0.25	lan Jarvis	Intervenor Evidence - Preparation	Research - Review Simcoe Place model with Giovanni	\$ 330.00	\$ 82.50
Monday, February 27, 2023	1.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Researched information re gas demand and commercial sector areas growth	\$ 170.00	\$ 255.00
Tuesday, February 28, 2023	0.5	lan Jarvis	Intervenor Evidence - Preparation	Research - Review sectoral savings potential model	\$ 330.00	\$ 165.00
Tuesday, February 28, 2023	3.5	Giovanni Madalozzo	Intervenor Evidence - Preparation	Research - Review baselines - create GBPS model and baselines - review SPL additional gas meter	\$ 230.00	\$ 805.00
Wednesday, March 1, 2023	1	lan Jarvis	Intervenor Evidence - Preparation	Prepared estimated gas use and savings potential for retail, office and mult-family	\$ 330.00	\$ 330.00
Wednesday, March 1, 2023	2	Pavel Rusyaev	Intervenor Evidence - Preparation	Review of the exhibit provided by Enbridge, prepared summary of gas savings potential for various building types from the recently performed analysis	\$ 170.00	\$ 340.00
Wednesday, March 1, 2023	2.75	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review Bear Creak data and create analysis	\$ 230.00	\$ 632.50
Thursday, March 2, 2023	0.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Prepared a summary of gas savings potential for various building types from the recently performed analysis	\$ 170.00	\$ 85.00
Friday, March 3, 2023	1	lan Jarvis	Intervenor Evidence - Preparation	Internal meeting, review correspondence	\$ 330.00	\$ 330.00
Friday, March 3, 2023	2.75	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review chiller information and 2010-2011 projects	\$ 230.00	\$ 632.50
Monday, March 6, 2023	1	lan Jarvis	Intervenor Evidence - Preparation	Review correspondence with ED, analysis, internal meeting	\$ 330.00	\$ 330.00
Monday, March 6, 2023	2	Pavel Rusyaev	Intervenor Evidence - Preparation	Modified chart, adding 1.6% growth line, prepared gas benchmark with SPL 2010 normalized to 2021 for EWRB report	\$ 170.00	\$ 340.00
Wednesday, March 8, 2023	0.5	lan Jarvis	Intervenor Evidence - Preparation	Internal meeting	\$ 330.00	\$ 165.00
Wednesday, March 8, 2023	0.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Search for data on share of commercial sector in total gas demand in Ontario	\$ 170.00	\$ 85.00
Wednesday, March 8, 2023	2.75	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review and analysis of the gas data on TDSC schools	\$ 230.00	\$ 632.50
Thursday, March 9, 2023	0.25	lan Jarvis	Intervenor Evidence - Preparation	Review Wilson Av off gas analysis, review with Simon	\$ 330.00	\$ 82.50
Friday, March 10, 2023	3.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Review material	\$ 170.00	\$ 595.00
Sunday, March 12, 2023	0.5	lan Jarvis	Intervenor Evidence - Preparation	Review results from Pavel, email next steps	\$ 330.00	\$ 165.00
Sunday, March 12, 2023	2	Pavel Rusyaev	Intervenor Evidence - Preparation	Research on how new base temperature impacts design day demand	\$ 170.00	\$ 340.00
Monday, March 13, 2023	0.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Research on how the climate change may affect extreme cold weather events	\$ 170.00	\$ 85.00
Tuesday, March 14, 2023	0.5	lan Jarvis	Intervenor Evidence - Preparation	Update, progress review	\$ 330.00	\$ 165.00
Tuesday, March 14, 2023	1	Pavel Rusyaev	Intervenor Evidence - Preparation	Research documents submitted by Enbridge pertaining to gas metering	\$ 170.00	\$ 170.00
Wednesday, March 15, 2023	0.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Research documents	\$ 170.00	\$ 85.00
Thursday, March 16, 2023	3.75	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review Terry Fox interval gas consumption for heat pump analysis	\$ 230.00	\$ 862.50
Monday, March 20, 2023	0.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Reviewed NOAA's monthly US climate report	\$ 170.00	\$ 85.00
Wednesday, March 22, 2023	0.5	lan Jarvis	Intervenor Evidence - Preparation	Internal progress meeting	\$ 330.00	\$ 165.00
Wednesday, March 22, 2023	3.75	Pavel Rusyaev	Intervenor Evidence - Preparation	Extracted data re electricity and gas savings potential due to commercial buildings	\$ 170.00	\$ 637.50
Wednesday, March 22, 2023	2.75	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review Terry Miller gas interval data	\$ 230.00	\$ 632.50
Friday, March 24, 2023	0.25	lan Jarvis	Intervenor Evidence - Preparation	Internal meeting	\$ 330.00	\$ 82.50
Monday, March 27, 2023	1	Pavel Rusyaev	Intervenor Evidence - Preparation	Research re minimum gas consumption to be eligible to be a contract customer	\$ 170.00	\$ 170.00
Tuesday, April 4, 2023	1.5	lan Jarvis	Intervenor Evidence - Preparation	Outline work plan	\$ 330.00	\$ 495.00
Wednesday, April 5, 2023	1	lan Jarvis	Intervenor Evidence - Preparation	Draft report Draft report	\$ 330.00	\$ 330.00
Wednesday, April 5, 2023	1	Pavel Rusyaev	Intervenor Evidence - Preparation	Call with lan, Giovanni and Simon to discuss the upcoming work on the research report	\$ 170.00	\$ 170.00
Wednesday, April 5, 2023	2.5	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review Bear creek intrerval data model	\$ 230.00	\$ 575.00
Wednesday, April 5, 2023	0.5	Simon Sahi	Intervenor Evidence - Preparation	Meeting with Ian and team	\$ 230.00	\$ 115.00
Thursday, April 6, 2023	0.5	lan Jarvis	Intervenor Evidence - Preparation	Development	\$ 330.00	\$ 165.00
Thursday, April 6, 2023	6.75	Pavel Rusyaev	Intervenor Evidence - Preparation	Prepared the file with data for research report	\$ 170.00	\$ 1,147.50
Monday, April 10, 2023	8	lan Jarvis	Intervenor Evidence - Preparation	Development	\$ 330.00	\$ 2,640.00
Tuesday, April 11, 2023	1.25	lan Jarvis	Intervenor Evidence - Preparation	Draft report	\$ 330.00	\$ 412.50
Tuesday, April 11, 2023	7	Simon Sahi	Intervenor Evidence - Preparation	R-studio to download weather files	\$ 230.00	\$ 1,610.00
Tuesday, April 11, 2023	4	Natalie Millan	Intervenor Evidence - Preparation	Create report and tables	\$ 170.00	\$ 680.00
Wednesday, April 12, 2023	0.5	lan Jarvis	Intervenor Evidence - Preparation	Report development	\$ 330.00	\$ 165.00
Thursday, April 13, 2023	0.5	Simon Sahi	Intervenor Evidence - Preparation	Review costing	\$ 230.00	\$ 115.00
Friday, April 14, 2023	0.5	Simon Sahi	Intervenor Evidence - Preparation	Review costing	\$ 230.00	\$ 115.00
Monday, April 17, 2023	3.5	lan Jarvis	Intervenor Evidence - Preparation	Analysis and draft report	\$ 330.00	\$ 1,155.00
Monday, April 17, 2023	3.5	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review gas consumption interval data for Terry Fox and associated ASHP -Contact vendors for ASHP performance model	\$ 230.00	\$ 805.00
Tuesday, April 18, 2023	3	lan Jarvis	Intervenor Evidence - Preparation	Internal meeting, review draft report	\$ 330.00	\$ 990.00
Tuesday, April 18, 2023	0.25	Pavel Rusyaev	Intervenor Evidence - Preparation	Call with Ian and Giovanni to review the outstanding items for the report	\$ 170.00	\$ 42.50
Tuesday, April 18, 2023	1.75	Giovanni Madalozzo	Intervenor Evidence - Preparation	Contact vendors for ASHP performance model	\$ 230.00	\$ 402.50
Wednesday, April 19, 2023	5.25	lan Jarvis	Intervenor Evidence - Preparation	Evidence review, draft report	\$ 330.00	\$ 1,732.50
Wednesday, April 19, 2023	2.75	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review ASHP model for Terry Fox	\$ 230.00	\$ 632.50
Wednesday, April 19, 2023	0.5	Natalie Millan	Intervenor Evidence - Preparation	Draft report Draft report	\$ 170.00	\$ 85.00
Wednesday, April 19, 2023	2.5	Natalie Millan	Intervenor Evidence - Preparation	Draft report Draft report	\$ 170.00	\$ 425.00
Thursday, April 20, 2023	7	lan Jarvis	Intervenor Evidence - Preparation	Review evidence, correspondence, school ASHP model, draft report	\$ 330.00	\$ 2,310.00

	,				, ,
7.5		Intervenor Evidence - Preparation	· ·		\$ 1,725.00
1.75	Natalie Millan	Intervenor Evidence - Preparation	Final draft for submission		\$ 297.50
1.5	lan Jarvis	Intervenor Evidence - Preparation			\$ 495.00
1	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review school charts for report	\$ 230.00	\$ 230.00
2.5	Natalie Millan	Intervenor Evidence - Preparation	Review/draft report	\$ 170.00	\$ 425.00
0.25	lan Jarvis	Intervenor Evidence - Interrogatory	Research	\$ 330.00	\$ 82.50
0.5	lan Jarvis	Intervenor Evidence - Interrogatory	Review Interrogatory Responses	\$ 330.00	\$ 165.00
1	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review ASHP energy model - contact manufactures	\$ 230.00	\$ 230.00
2.5	Giovanni Madalozzo	Intervenor Evidence - Preparation	Internal meeting to review ASHP energy model	\$ 230.00	\$ 575.00
1	lan Jarvis	Intervenor Evidence - Interrogatory	Review all IR's and assess questions re BOMA evidence	\$ 330.00	\$ 330.00
2	Pavel Rusyaev	Intervenor Evidence - Preparation	2019 Achievable Savings Potential study	\$ 170.00	\$ 340.00
6	lan Jarvis	Intervenor Evidence - Interrogatory	Draft report, modeling	\$ 330.00	\$ 1,980.00
3.25	lan Jarvis	Intervenor Evidence - Interrogatory	Peak demand analysis, draft response	\$ 330.00	\$ 1,072.50
1.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Research on the variance accounts referenced by the Staff / Ian	\$ 170.00	\$ 255.00
6	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review energy recovery and ASHP model for Simcoe and Terry Fox - Includeexhaust heat recovery for Terry Fox	\$ 230.00	\$ 1,380.00
4.25	lan Jarvis	Intervenor Evidence - Interrogatory	Draft report, variance account analysis	\$ 330.00	\$ 1,402.50
6	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review energy recovery and ASHP model for Simcoe and Terry Fox, create graphs and table for the report, discussion with Trane about ASHP performance	\$ 230.00	\$ 1,380.00
2.5	lan Jarvis	Intervenor Evidence - Interrogatory	Final draft, peak gas demand analysis	\$ 330.00	\$ 825.00
2.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Research whole system peak day gas consumption and demand, the load factor and load shape on the peak day	\$ 170.00	\$ 425.00
0.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Images in high resolution for the report	\$ 170.00	\$ 85.00
2	Pavel Rusyaev	Intervenor Evidence - Preparation	Research on the lowest temperatures by year for a number of cities in Ontario	\$ 170.00	\$ 340.00
0.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Extended the table back 1991	\$ 170.00	\$ 85.00
0.75	lan Jarvis	Intervenor Evidence - Interrogatory	Search for data, intervenor correspondence	\$ 330.00	\$ 247.50
				Subtotal	\$ 45,977.50
				HST	\$ 5,977.08
				Total	\$ 51,954.58
	1.75 1.5 1 2.5 0.25 0.5 1 2 6 3.25 1.5 6 4.25 6 2.5 2.5 0.5 2.5 0.5	7.5 Giovanni Madalozzo 1.75 Natalie Millan 1.5 Ian Jarvis 1 Giovanni Madalozzo 2.5 Natalie Millan 0.25 Ian Jarvis 0.5 Ian Jarvis 1 Giovanni Madalozzo 2.5 Giovanni Madalozzo 1 Ian Jarvis 2 Pavel Rusyaev 6 Ian Jarvis 3.25 Ian Jarvis 1.5 Pavel Rusyaev 6 Giovanni Madalozzo 4.25 Ian Jarvis 1.5 Pavel Rusyaev 6 Giovanni Madalozzo 4.25 Ian Jarvis 2 Pavel Rusyaev 0.5 Pavel Rusyaev 0.5 Pavel Rusyaev 0.5 Pavel Rusyaev	7.5 Giovanni Madalozzo Intervenor Evidence - Preparation 1.75 Natalie Millian Intervenor Evidence - Preparation 1.5 Ian Jarvis Intervenor Evidence - Preparation 1.5 Giovanni Madalozzo Intervenor Evidence - Preparation 1.5 Ian Jarvis Intervenor Evidence - Preparation 1.5 Natalie Millian Intervenor Evidence - Preparation 1.5 Natalie Millian Intervenor Evidence - Interrogatory 1.5 Ian Jarvis Intervenor Evidence - Interrogatory 1.5 Giovanni Madalozzo Intervenor Evidence - Preparation 1.5 Ian Jarvis Intervenor Evidence - Preparation 1.5 Ian Jarvis Intervenor Evidence - Preparation 1.5 Ian Jarvis Intervenor Evidence - Interrogatory 1.5 Giovanni Madalozzo Intervenor Evidence - Interrogatory 1.5 Pavel Rusyaev Intervenor Evidence - Interrogatory 1.5 Pavel Rusyaev Intervenor Evidence - Preparation 1.5 Pavel Rusyaev Intervenor Evidence - Preparation 1.5 Ian Jarvis Intervenor Evidence - Preparation 1.5 Ian Jarvis Intervenor Evidence - Preparation 1.5 Ian Jarvis Intervenor Evidence - Preparation 1.5 Pavel Rusyaev Intervenor Evidence - Preparation 1.5 Pave	7.5 Giovanni Madalozzo Intervenor Evidence - Preparation Review school charts - review ASHP model for Terry Fox 1.75 Natalie Millian Intervenor Evidence - Preparation Final draft for submission 1.5 Ian Jarvis Intervenor Evidence - Preparation Review school charts for report 2.5 Natalie Millian Intervenor Evidence - Preparation Review school charts for report 2.5 Natalie Millian Intervenor Evidence - Preparation Review school charts for report 2.5 Natalie Millian Intervenor Evidence - Preparation Review school charts for report 3.25 Ian Jarvis Intervenor Evidence - Interrogatory Responses 1 Giovanni Madalozzo Intervenor Evidence - Preparation Review ASHP energy model - contact manufactures 3.25 Giovanni Madalozzo Intervenor Evidence - Preparation Intervanor Evidence - Preparation Review ASHP energy model 3.26 Ian Jarvis Intervenor Evidence - Preparation Review all IR's and assess questions re BOMA evidence 3.27 Pavel Rusyaev Intervenor Evidence - Preparation Review all IR's and analysis, draft response 4.28 Ian Jarvis Intervenor Evidence - Preparation Review all IR's and analysis, draft response 4.29 Ian Jarvis Intervenor Evidence - Preparation Review all IR's and analysis, draft response 4.25 Ian Jarvis Intervenor Evidence - Preparation Review all IR's and analysis, draft response 4.26 Giovanni Madalozzo Intervenor Evidence - Preparation Review energy recovery and ASHP model for Simcoe and Terry Fox - Includeexhaust heat recovery for Terry Fox 4.25 Ian Jarvis Intervenor Evidence - Preparation Review energy recovery and ASHP model for Simcoe and Terry Fox, create graphs and table for the report, discussion with Trane about ASHP performance 4.26 Giovanni Madalozzo Intervenor Evidence - Preparation Review energy recovery and ASHP model for Simcoe and Terry Fox, create graphs and table for the report, discussion with Trane about ASHP performance 4.27 Pavel Rusyaev Intervenor Evidence - Preparation Research whole system peak day gas consumption and demand, the load factor and load shape on the peak day 4.28 Pavel Ru	7.5 Giovanni Madalozzo Intervenor Evidence - Preparation Intervenor Evidence - Intervenor Evidence - Preparation Intervenor Evidence - Intervenor Evidence - Preparation Intervenor Evidence - Inter



INVOICE

90 Eglinton Ave East, Suite Toronto, Ontario, M4P 2Y3 Email: kbruce@enerlife.com DATE: INVOICE # FOR: April 30, 2024 4054 EB-2022-0200 Enbridge 2024 Rebasing Phase 1

Bill To:

Ontario Energy Board 2300 Yonge Street, 27th Floor Toronto, ON M4P 1E4

Email: registrar@oeb.ca

DESCRIPTION	AMOUNT
OEB EB-2022-0200 Enbridge 2024 Rebasing Phase 1	\$141,158.10
Total:	\$141,156.10
(Detailed timesheet attached)	
H.S.T.	\$18,350.56
Subtotal	\$159,508.66
Less Interim Invoices #3813 #3814	(\$60,532.86 + \$51,954.58)
(invoices attached)	
TOTAL	\$ \$47,021.22

Please make cheque to: Enerlife Consulting Inc. 90 Eglinton Ave E. Suite 412 Toronto, ON, M4P 2YE Business number 86868 2014 RT0001

THANK YOU FOR YOUR BUSINESS!

To: Ontario Energy Board 2300 Yonge Street Suite 2701 Toronto, Ontario M4P 1E4

Re: EB-2022-0200 Enbridge Gas Inc. 2024 Rebasing Application Cost Claim for the Entirety of Phase 1 Date: April 29, 2024



Enerlife Consulting Inc. 90 Eglinton Ave E. Suite 412 Toronto, ON, M4P 2YE

Timesheet for Invoice # 4054

Date	Hours	Analyst/Consultant/Case Mgmt	Cost Claim Category	Description	Rate	Total
Monday, June 12, 2023	0.25	lan Jarvis	Prep for Settlement Conference	Review correspondence	\$ 330.00	\$ 82.50
Tuesday, June 13, 2023		lan Jarvis	Prep for Settlement Conference	Review correspondence	\$ 330.00	\$ 82.50
Friday, June 16, 2023		lan Jarvis	Other - Intervenors meeting	Intervenor meeting on Issue 4, correspondence	_	\$ 577.5
Monday, June 19, 2023		lan Jarvis	Prep for Settlement Conference	Review correspondence	\$ 330.00	\$ 495.0
Saturday, June 24, 2023		lan Jarvis	Prep for Settlement Conference	Review correspondence and accounting orders	\$ 330.00	\$ 330.0
Monday, June 26, 2023	0.5		Prep for Settlement Conference	Review correspondence	\$ 330.00	\$ 165.0
Tuesday, June 27, 2023		lan Jarvis	Other - Intervenors meeting	intervenor meeting on Issue 4, correspondence	\$ 330.00	\$ 660.0
Wednesday, June 28, 2023		lan Jarvis	Final Settlement Proposal	Review final drafts, sign off	\$ 330.00	\$ 165.0
Thursday, July 6, 2023		lan Jarvis	Prep Oral Hearing	Cross examination plan, time request	\$ 330.00	\$ 247.5
Wednesday, July 12, 2023	3	lan Jarvis	Prep Oral Hearing	Review correspondence and intervenor meeting to review draft settlement proposal	\$ 330.00	\$ 990.0
Thursday, July 13, 2023	6.5	lan Jarvis	Attendance Oral Hearing	Draft opening comments, in-person participation with EGI Panel 1	\$ 330.00	\$ 2,145.0
Friday, July 14, 2023		lan Jarvis	Attendance Oral Hearing Attendance Oral Hearing	Review correspondence, participate in EGI Panel 1 hearing	\$ 330.00	\$ 2,145.0
Monday, July 17, 2023		lan Jarvis	Prep Oral Hearing	Prep for EGI Panel 1 questions, prepare BOMA Compendium, cross exam	\$ 330.00	\$ 577.5
Monday, July 17, 2023		Ian Jarvis	Attendance Oral Hearing	Attendance and participation	\$ 330.00	\$ 1,980.0
Monday, July 17, 2023	0.75		Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 127.5
Tuesday, July 18, 2023	3.75	lan Jarvis	Attendance Oral Hearing	Attendance and cross examination EGI Panel 1, correspondence	\$ 330.00	\$ 1,237.5
Wednesday, July 19, 2023	0.25	Gillian Henderson	Prep Oral Hearing	Review correpondence	\$ 330.00	\$ 82.5
Wednesday, July 19, 2023		lan Jarvis	Attendance Oral Hearing	Participation, prep intervenor panel 3 questions	\$ 330.00	\$ 660.0
Thursday, July 20, 2023		lan Jarvis	Attendance Oral Hearing	Preparation, correspondence, participation, cross examine	\$ 330.00	\$ 2,310.0
Thursday, July 20, 2023		Pavel Rusyaev	Intervenor Evidence	Data preparation	\$ 170.00	\$ 680.0
Friday, July 21, 2023		Ian Jarvis	Attendance Oral Hearing	Preparation for Panel 4 questioning with Foglers	\$ 330.00	\$ 330.0
Friday, July 21, 2023		lan Jarvis	Prep Oral Hearing	Review correspondence and schedule	\$ 330.00	\$ 165.0
Sunday, July 23, 2023		lan Jarvis	Prep Oral Hearing Prep Oral Hearing	Panel 4 prep - review materials, correspondence with Foglers	\$ 330.00	\$ 165.0
		lan Jarvis		Prepare Panel 4, review evidence, call with Foglers, appear in Panel 4	\$ 330.00	\$ 1,155.0
Monday, July 24, 2023			Prep Oral Hearing	Attendance at oral hearing		\$ 1,155.0
Monday, July 24, 2023		Gillian Henderson	Attendance Oral Hearing		7 000.00	\$ 825.00
Tuesday, July 25, 2023		lan Jarvis Ian Jarvis	Prep Oral Hearing	Review transcripts and correspondence	\$ 330.00 \$ 330.00	\$ 412.50
Thursday, July 27, 2023			Oral Hearing	Participation at oral hearing		
Friday, July 28, 2023		lan Jarvis	Prep Oral Hearing	Review correspondence and assess	\$ 330.00	\$ 165.00
Sunday, July 30, 2023		lan Jarvis	Prep Oral Hearing	Demand Day analysis, BOMA Compendium	\$ 330.00	\$ 495.00
Monday, July 31, 2023	4	lan Jarvis	Attendance Oral Hearing	Prepare EGI Panel 11 questions, draft BOMA compendium and attendance	\$ 330.00	\$ 1,320.00
Monday, July 31, 2023	2	Pavel Rusyaev	Intervenor Evidence	Data preparation	\$ 170.00	\$ 340.00
Monday, July 31, 2023		Carolyn Shier	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 127.50
Tuesday, August 1, 2023		lan Jarvis	Prep Oral Hearing	Preparation panel 11 questions	\$ 330.00	\$ 273.90
Wednesday, August 2, 2023		lan Jarvis	Attendance Oral Hearing	Attendance at oral hearing	\$ 330.00	\$ 1,428.90
Thursday, August 3, 2023	4.42		Attendance Oral Hearing	Attendance at oral hearing	\$ 330.00	\$ 1,458.60
Tuesday, August 8, 2023	1.58	lan Jarvis	Attendance Oral Hearing	Attendance at oral hearing	\$ 330.00	\$ 521.40
Tuesday, August 8, 2023	0.5	Ian Jarvis	Prep Oral Hearing	Preparation for oral hearing	\$ 330.00	\$ 165.00
Wednesday, August 9, 2023	1.75	lan Jarvis	Attendance Oral Hearing	Attendance at oral hearing	\$ 330.00	\$ 577.50
Wednesday, August 9, 2023	1.75	lan Jarvis	Prep Oral Hearing	Preparation for oral hearing	\$ 330.00	\$ 577.50
Wednesday, August 9, 2023	0.5	Carolyn Shier	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 85.00
Thursday, August 10, 2023	0.25	Carolyn Shier	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 42.50
Thursday, August 10, 2023	1.75	lan Jarvis	Attendance Oral Hearing	Attendance at oral hearing	\$ 330.00	\$ 577.50
Friday, August 11, 2023	0.75	lan Jarvis	Prep Oral Hearing	Preparation for oral hearing	\$ 330.00	
Friday, August 11, 2023	4.25	lan Jarvis	Attendance Oral Hearing	Attendance at oral hearing	\$ 330.00	\$ 1,402.50
Saturday, August 12, 2023	0.5	lan Jarvis	Prep Oral Hearing	Preparation at oral hearing	\$ 330.00	\$ 165.00
Monday, August 14, 2023	0.75	Carolyn Shier	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 127.50
Tuesday, August 29, 2023	3	lan Jarvis	Review Decision	Review correspondence	\$ 330.00	\$ 990.00
Wednesday, August 30, 2023	0.25	lan Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 82.50
Friday, September 1, 2023	1.25	lan Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 412.50
Friday, September 1, 2023		Natalie	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 170.00
Tuesday, September 5, 2023	2.25	lan Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 742.50
Tuesday, September 5, 2023		Natalie Millan	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 255.00
Wednesday, September 6, 2023		Pavel Rusyaev	Intervenor Evidence	Data preparation	\$ 170.00	\$ 340.00
Wednesday, September 6, 2023		lan Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 577.50
Wednesday, September 6, 2023		Natalie Millan	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 1,020.00
Sunday, September 10, 2023	2.5		Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 825.00
Tuesday, September 12, 2023	3	Ian Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 990.00
Thursday, September 14, 2023	1.25	lan Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 412.5
Thursday, September 14, 2023		Natalie Millan	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 255.0
Saturday, September 16, 2023		lan larvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 1.897.5
Monday, September 18, 2023		Gillian Henderson	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 82.5
Monday, September 18, 2023		Natalie Millan	Prepare Submission Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 255.0
Tuesday, September 19, 2023		Gillian Henderson		Draft BOMA submission	\$ 330.00	\$ 255.0
			Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 170.0
Tuesday, September 19, 2023 Thursday, October 12, 2023		Natalie Millan Ian Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 170.0
		lan Jarvis	Review Decision	Draft BOMA submission	\$ 330.00	\$ 577.5
Thursday, December 21, 2023			Review Decision			
Friday, February 2, 2024		lan Jarvis	Review Decision	Draft BOMA submission	\$ 330.00	\$ 82.50
Wednesday, February 14, 2024		lan Jarvis	Review Decision	Draft BOMA submission	\$ 330.00	\$ 82.5
Monday, February 26, 2024		Clement Li	Review Procedural Documents	Review correspondence	\$ 330.00	\$ 660.0
Thursday, February 29, 2024		Clement Li	Review Procedural Documents	Review correspondence	\$ 330.00	\$ 825.0
	0.5	lan Jarvis	Review Decision	Draft BOMA submission	\$ 330.00	\$ 165.00
Friday, March 1, 2024						\$ 41.611.70
Friday, March 1, 2024					Subtotal	3 41,011.//
Friday, March 1, 2024						
Friday, March 1, 2024					HST	\$ 5,409.5
Friday, March 1, 2024						

Carolyn Shier

CASEEB-2022-0200 - Phase 1: Rates: Distribution: Enbridge Gas Inc.

EB-2022-0200 : 1 : Kelly Bruce

INTERVENOR NAME Bruce, Kelly; +1 (437) 328-9397

kbruce@enerlife.com

PARTICIPANT
CLAIM STATUS
Submitted

FILING PARTICIPANT

NEW PARTICIPANT Yes

COST CLAIM

NON-FILING
PARTICIPANT F. NAME
Carolyn

NON-FILING
PARTICIPANT L. NAME
Shier

SERVICE PROVIDER TYPE*

Consultant

YEAR CALLED TO BAR*

COMPLETED YEARS
PRACTICING/YEARS OF
RELEVANT EXPERIENCE*

HOURLY RATE 170

5

HST RATE CHARGED*

13.00

CV STATUS (FOR CONSULTANT/ANALYST)

CV Attached

LAST CV DATE

April 24, 2024

OVERRIDE HOURLY RATE

No

HST NUMBER R119420859

HEARINGS

Yes

CONSULTATIONSNo

DISBURSEMENTS

No

HEARINGS

Hearings HoursHearings Subtotal (\$)Hearings Total Tax (\$)Hearings Total (\$)3.00510.0066.30576.30

	<u>Name</u>	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
DISC	OVERY Read and Research Application and Evidence		170		13.00		
	Preparation of Interrogatories		170		13.00		
	Review Interrogatory Responses		170		13.00		
	Technical Conference Preparation		170		13.00		
	Technical Conference Attendance		170		13.00		
	Technical Conference Follow-up		170		13.00		
	Subtotal of DISCOVERY	0.00		0.00		0.00	0.00
PRO	CEDURAL						
	Preparation of Issues List Submission		170		13.00		
	Attendance at Issues List Conference		170		13.00		
	Preparation for a Confidentiality Request		170		13.00		
	Prepare Submissions on Confidentiality		170		13.00		
	Preparation of Motion(s) Materials		170		13.00		
	Prepare Submissions on the Motion(s)		170		13.00		
	Attendance at Hearing on Motion(s)		170		13.00		
	Review Procedural Documents		170		13.00		

<u>Name</u>	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
Subtotal of PROCEDURAL	0.00		0.00		0.00	0.00
INTERVENOR EVIDENCE Preparation of Intervenor Evidence		170		13.00		
Interrogatory Responses		170		13.00		
Preparation of Witness(es) for Attendance at Hearing Subtotal of INTERVENOR EVIDENCE	0.00	170	0.00	13.00	0.00	0.00
SETTLEMENT CONFERENCE Preparation for Settlement Conference		170		13.00		
Attendance at Settlement Conference		170		13.00		
Preparation of Settlement Proposal		170		13.00		
Attendance at Presentation to Panel		170		13.00		
Subtotal of SETTLEMENT CONFERENCE WRITTEN ARGUMENT Written Submissions	0.00	170	0.00	13.00	0.00	0.00
Subtotal of WRITTEN ARGUMENT	0.00	170	0.00	13.00	0.00	0.00
ORAL ARGUMENT	0.00		0.00		0.00	0.00
Preparation for Oral Hearing		170		13.00		
Attendance at Oral Hearing		170		13.00		
Oral Submissions		170		13.00		
Attendance at Oral Submissions		170		13.00		
Subtotal of ORAL ARGUMENT	0.00		0.00		0.00	0.00
DECISION Review Decision		170		13.00		
Review Rate/Accounting Order		170		13.00		
Prepare Submission on Rate Order	3.00	170	510.00	13.00	66.30	576.30
Subtotal of DECISION	3.00	170	510.00	13.00	66.30	576.30
OTHER	3.00		310.00		00.50	370.30
Other Attendance (e.g., Intervenor Conferences)		170		13.00		
Subtotal of OTHER	0.00		0.00		0.00	0.00
TOTAL SERVICE PROVIDER FEES Total Service Provider Fees	3.00		510.00		66.30	576.30

Attachments

<u>Attachment</u> **Document Type** Import Message

Enerlife CV Carolyn Shier 2024.pdf BOMA Inv 4054 EB-2022-0200 Phase 1 April 2024.pdf

CV Time Docket and Invoice

Hearings, Consultations, Disbursements Attachments

<u>Attachment Document Type</u> <u>Claim Type</u> <u>Import Message</u>

Enerlife CV Carolyn Shier 2024.pdf CV Hearings

BOMA Inv 4054 EB-2022-0200 Phase 1 Time Docket and Invoice Hearings April 2024.pdf



CAROLYN SHIER BSc

Energy Program Coordinator, Enerlife Consulting Inc., 2022 to present cshier@enerlife.com 416-915-1530

SUMMARY OF PROFESSIONAL EXPERIENCE

Carolyn brings an outstanding combination of technical and project management skills to her work with Enerlife's clients in commercial and institutional sectors. She has a solid educational background in sustainable building design and energy efficiency, and has provided comprehensive project coordination and project management support to a range of projects and programs. Carolyn excels at stakeholder management and preparing engaging, informative reports and summaries to assist Enerlife's clients in meeting their energy efficiency and GHG reduction goals.

RELEVANT PROJECTS

Cadillac Fairview

Enerlife serves as the engineer of record responsible for comprehensive, multi-year programs of capital projects, operational improvements and building automation system upgrades leading to exceptional energy efficiency standards at several Cadillac Fairview properties. Carolyn worked with senior project engineers on Yonge Corporate Centre's building energy performance optimization and the night-time energy audit, as part of a comprehensive evidence-based renewal of heating, cooling, ventilation and lighting systems at this commercial office building complex.

Epic Investment Services

Carolyn worked with the project lead to manage Enerlife's services for Epic, which included benchmarking, target setting analysis, and quantifying energy and emissions savings potential for the Epic's building portfolio. Enerlife's team laid the groundwork for the client's multi-year efforts toward achieving energy efficiency and Net Zero buildings.

EWRB Reporting

Responsible for data collection and verification for annual reporting to Ministry of Energy for our commercial and multi-unit residential clients.

Slate Asset Management

Project coordinator for Enerlife's audits and decarbonization feasibility studies for over 20 office buildings across Ontario. Our team created energy efficiency project implementation plans to maximize cost savings by aligning the energy efficiency projects with already planned capital upgrades. Enerlife led operational improvements in 10 buildings to optimize ventilation systems resulting in energy efficiency and GHG emissions reductions.

HIGHLIGHTS OF EXPERIENCE

- Project management and project coordination for institutional and commercial clients
- Energy and water data and buildings performance analysis
- · Report writing
- Development of technical tools and templates

AREAS OF SPECIALIZATION

- Sustainable Building Design and Low Energy Systems
- Renewable technologies
- Energy efficiency, conservation and renewable energy policies and programs
- Experienced in project administration & coordination
- Energy Star Portfolio Manager

PROFESSIONAL AFFILIATIONS

 Certified Passive House Consultant, Passive House Institute

ACADEMIC QUALIFICATIONS

- Sustainable Energy & Building Technology, Advanced Diploma (Co-op Program), Humber College, ON
 - Bachelor of Science Kinesiology / Physical Education, Wilfrid Laurier University, ON

Sustainable Schools Cohort Projects – Phase Two

Carolyn is the project manager for three Sustainable Schools cohort research projects, responsible for budget control, scheduling, scope development, and stakeholder relations. During the first phase of the cohort projects (2022), Carolyn provided in-depth technical analysis, including analysis of system design, equipment selection, commissioning practices and controls, correlating this information with performance outcomes to help identify best practices.

Enerlife

Ontario Hospital EDCM Plans

Carolyn is coordinating Enerlife's work with multiple Ontario hospitals to prepare their actionable multi-year Energy Conservation Demand Management Plans.

Net Zero Feasibility studies

Working closely with the rest of Enerlife's engineering team, Carolyn was responsible for building data collection and technical analysis for pathway to net zero feasibility studies for dozens of community centres in municipalities across Canada. These studies, conducted in partnership with CIMCO Refrigeration, leverage funding from the Federation of Canadian Municipalities to lay out the measures each building should take over time to eventually achieve net zero carbon emissions. Carolyn was responsible for the funding applications, data collection and workshop preparations.

City of Toronto Green Will Initiative Strategic Energy Management Program

Enerlife's team worked with Green Will Initiative participants in commercial, institutional, and MURB sectors to develop their Pathways to Net Zero plans. Carolyn played an integral role in development of a series of Strategic Energy Management workshops, including associated tools and templates for energy and emissions analysis, planning, and decision-making.

Enbridge Pay-for-Performance Program

Carolyn worked with the program lead on technical development for interval gas meter data analysis for a multi-year incentive program involving Ontario school boards. Carolyn's responsibilities included data analysis, establishing gas saving measures, business case analysis, and M&V.



INVOICE

90 Eglinton Ave East, Suite Toronto, Ontario, M4P 2Y3 Email: kbruce@enerlife.com DATE: INVOICE # FOR: April 30, 2024 4054 EB-2022-0200 Enbridge 2024 Rebasing Phase 1

Bill To:

Ontario Energy Board 2300 Yonge Street, 27th Floor Toronto, ON M4P 1E4

Email: registrar@oeb.ca

DESCRIPTION	AMOUNT
OEB EB-2022-0200 Enbridge 2024 Rebasing Phase 1	\$141,158.10
Total:	\$141,156.10
(Detailed timesheet attached)	
H.S.T.	\$18,350.56
Subtotal	\$159,508.66
Less Interim Invoices #3813 #3814	(\$60,532.86 + \$51,954.58)
(invoices attached)	
TOTAL	\$ \$47,021.22

Please make cheque to: Enerlife Consulting Inc. 90 Eglinton Ave E. Suite 412 Toronto, ON, M4P 2YE Business number 86868 2014 RT0001

THANK YOU FOR YOUR BUSINESS!

To: Ontario Energy Board 2300 Yonge Street Suite 2701 Toronto, Ontario M4P 1E4

Re: EB-2022-0200 Enbridge Gas Inc. 2024 Rebasing Application Cost Claim for the Entirety of Phase 1 Date: April 29, 2024



Enerlife Consulting Inc. 90 Eglinton Ave E. Suite 412 Toronto, ON, M4P 2YE

Timesheet for Invoice # 4054

Date	Hours	Analyst/Consultant/Case Mgmt	Cost Claim Category	Description	Rate	Total
Monday, June 12, 2023	0.25	lan Jarvis	Prep for Settlement Conference	Review correspondence	\$ 330.00	\$ 82.50
Tuesday, June 13, 2023		lan Jarvis	Prep for Settlement Conference	Review correspondence	\$ 330.00	\$ 82.50
Friday, June 16, 2023		lan Jarvis	Other - Intervenors meeting	Intervenor meeting on Issue 4, correspondence	_	\$ 577.5
Monday, June 19, 2023		lan Jarvis	Prep for Settlement Conference	Review correspondence	\$ 330.00	\$ 495.0
Saturday, June 24, 2023		lan Jarvis	Prep for Settlement Conference	Review correspondence and accounting orders	\$ 330.00	\$ 330.0
Monday, June 26, 2023	0.5		Prep for Settlement Conference	Review correspondence	\$ 330.00	\$ 165.0
Tuesday, June 27, 2023		lan Jarvis	Other - Intervenors meeting	intervenor meeting on Issue 4, correspondence	\$ 330.00	\$ 660.0
Wednesday, June 28, 2023		lan Jarvis	Final Settlement Proposal	Review final drafts, sign off	\$ 330.00	\$ 165.0
Thursday, July 6, 2023		lan Jarvis	Prep Oral Hearing	Cross examination plan, time request	\$ 330.00	\$ 247.5
Wednesday, July 12, 2023	3	lan Jarvis	Prep Oral Hearing	Review correspondence and intervenor meeting to review draft settlement proposal	\$ 330.00	\$ 990.0
Thursday, July 13, 2023	6.5	lan Jarvis	Attendance Oral Hearing	Draft opening comments, in-person participation with EGI Panel 1	\$ 330.00	\$ 2,145.0
Friday, July 14, 2023		lan Jarvis	Attendance Oral Hearing Attendance Oral Hearing	Review correspondence, participate in EGI Panel 1 hearing	\$ 330.00	\$ 2,145.0
Monday, July 17, 2023		lan Jarvis	Prep Oral Hearing	Prep for EGI Panel 1 questions, prepare BOMA Compendium, cross exam	\$ 330.00	\$ 577.5
Monday, July 17, 2023		Ian Jarvis	Attendance Oral Hearing	Attendance and participation	\$ 330.00	\$ 1,980.0
Monday, July 17, 2023	0.75		Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 127.5
Tuesday, July 18, 2023	3.75	lan Jarvis	Attendance Oral Hearing	Attendance and cross examination EGI Panel 1, correspondence	\$ 330.00	\$ 1,237.5
Wednesday, July 19, 2023	0.25	Gillian Henderson	Prep Oral Hearing	Review correpondence	\$ 330.00	\$ 82.5
Wednesday, July 19, 2023		lan Jarvis	Attendance Oral Hearing	Participation, prep intervenor panel 3 questions	\$ 330.00	\$ 660.0
Thursday, July 20, 2023		lan Jarvis	Attendance Oral Hearing	Preparation, correspondence, participation, cross examine	\$ 330.00	\$ 2,310.0
Thursday, July 20, 2023		Pavel Rusyaev	Intervenor Evidence	Data preparation	\$ 170.00	\$ 680.0
Friday, July 21, 2023		Ian Jarvis	Attendance Oral Hearing	Preparation for Panel 4 questioning with Foglers	\$ 330.00	\$ 330.0
Friday, July 21, 2023		lan Jarvis	Prep Oral Hearing	Review correspondence and schedule	\$ 330.00	\$ 165.0
Sunday, July 23, 2023		lan Jarvis	Prep Oral Hearing Prep Oral Hearing	Panel 4 prep - review materials, correspondence with Foglers	\$ 330.00	\$ 165.0
		lan Jarvis		Prepare Panel 4, review evidence, call with Foglers, appear in Panel 4	\$ 330.00	\$ 1,155.0
Monday, July 24, 2023			Prep Oral Hearing	Attendance at oral hearing		\$ 1,155.0
Monday, July 24, 2023		Gillian Henderson	Attendance Oral Hearing		7 000.00	\$ 825.00
Tuesday, July 25, 2023		lan Jarvis Ian Jarvis	Prep Oral Hearing	Review transcripts and correspondence	\$ 330.00 \$ 330.00	\$ 412.50
Thursday, July 27, 2023			Oral Hearing	Participation at oral hearing		
Friday, July 28, 2023		lan Jarvis	Prep Oral Hearing	Review correspondence and assess	\$ 330.00	\$ 165.00
Sunday, July 30, 2023		lan Jarvis	Prep Oral Hearing	Demand Day analysis, BOMA Compendium	\$ 330.00	\$ 495.00
Monday, July 31, 2023	4	lan Jarvis	Attendance Oral Hearing	Prepare EGI Panel 11 questions, draft BOMA compendium and attendance	\$ 330.00	\$ 1,320.00
Monday, July 31, 2023	2	Pavel Rusyaev	Intervenor Evidence	Data preparation	\$ 170.00	\$ 340.00
Monday, July 31, 2023		Carolyn Shier	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 127.50
Tuesday, August 1, 2023		lan Jarvis	Prep Oral Hearing	Preparation panel 11 questions	\$ 330.00	\$ 273.90
Wednesday, August 2, 2023		lan Jarvis	Attendance Oral Hearing	Attendance at oral hearing	\$ 330.00	\$ 1,428.90
Thursday, August 3, 2023	4.42		Attendance Oral Hearing	Attendance at oral hearing	\$ 330.00	\$ 1,458.60
Tuesday, August 8, 2023	1.58	lan Jarvis	Attendance Oral Hearing	Attendance at oral hearing	\$ 330.00	\$ 521.40
Tuesday, August 8, 2023	0.5	Ian Jarvis	Prep Oral Hearing	Preparation for oral hearing	\$ 330.00	\$ 165.00
Wednesday, August 9, 2023	1.75	lan Jarvis	Attendance Oral Hearing	Attendance at oral hearing	\$ 330.00	\$ 577.50
Wednesday, August 9, 2023	1.75	lan Jarvis	Prep Oral Hearing	Preparation for oral hearing	\$ 330.00	\$ 577.50
Wednesday, August 9, 2023	0.5	Carolyn Shier	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 85.00
Thursday, August 10, 2023	0.25	Carolyn Shier	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 42.50
Thursday, August 10, 2023	1.75	lan Jarvis	Attendance Oral Hearing	Attendance at oral hearing	\$ 330.00	\$ 577.50
Friday, August 11, 2023	0.75	lan Jarvis	Prep Oral Hearing	Preparation for oral hearing	\$ 330.00	
Friday, August 11, 2023	4.25	lan Jarvis	Attendance Oral Hearing	Attendance at oral hearing	\$ 330.00	\$ 1,402.50
Saturday, August 12, 2023	0.5	lan Jarvis	Prep Oral Hearing	Preparation at oral hearing	\$ 330.00	\$ 165.00
Monday, August 14, 2023	0.75	Carolyn Shier	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 127.50
Tuesday, August 29, 2023	3	lan Jarvis	Review Decision	Review correspondence	\$ 330.00	\$ 990.00
Wednesday, August 30, 2023	0.25	lan Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 82.50
Friday, September 1, 2023	1.25	lan Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 412.50
Friday, September 1, 2023		Natalie	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 170.00
Tuesday, September 5, 2023	2.25	lan Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 742.50
Tuesday, September 5, 2023		Natalie Millan	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 255.00
Wednesday, September 6, 2023		Pavel Rusyaev	Intervenor Evidence	Data preparation	\$ 170.00	\$ 340.00
Wednesday, September 6, 2023		lan Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 577.50
Wednesday, September 6, 2023		Natalie Millan	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 1,020.00
Sunday, September 10, 2023	2.5		Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 825.00
Tuesday, September 12, 2023	3	Ian Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 990.00
Thursday, September 14, 2023	1.25	lan Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 412.5
Thursday, September 14, 2023		Natalie Millan	Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 255.0
Saturday, September 16, 2023		lan larvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 1.897.5
Monday, September 18, 2023		Gillian Henderson	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 82.5
Monday, September 18, 2023		Natalie Millan	Prepare Submission Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 255.0
Tuesday, September 19, 2023		Gillian Henderson		Draft BOMA submission	\$ 330.00	\$ 255.0
			Prepare Submission	Draft BOMA submission	\$ 170.00	\$ 170.0
Tuesday, September 19, 2023 Thursday, October 12, 2023		Natalie Millan Ian Jarvis	Prepare Submission	Draft BOMA submission	\$ 330.00	\$ 170.0
		lan Jarvis	Review Decision	Draft BOMA submission	\$ 330.00	\$ 577.5
Thursday, December 21, 2023			Review Decision			
Friday, February 2, 2024		lan Jarvis	Review Decision	Draft BOMA submission	\$ 330.00	\$ 82.50
Wednesday, February 14, 2024		lan Jarvis	Review Decision	Draft BOMA submission	\$ 330.00	\$ 82.5
Monday, February 26, 2024		Clement Li	Review Procedural Documents	Review correspondence	\$ 330.00	\$ 660.0
Thursday, February 29, 2024		Clement Li	Review Procedural Documents	Review correspondence	\$ 330.00	\$ 825.0
	0.5	lan Jarvis	Review Decision	Draft BOMA submission	\$ 330.00	\$ 165.00
Friday, March 1, 2024						\$ 41.611.70
Friday, March 1, 2024					Subtotal	3 41,011.//
Friday, March 1, 2024						
Friday, March 1, 2024					HST	\$ 5,409.5
Friday, March 1, 2024						

Giovanni Madalozzo

CASE EB-2022-0200 - Phase 1: Rates:

Distribution: Enbridge Gas Inc.

COST CLAIM

EB-2022-0200:1: Kelly Bruce

INTERVENOR NAME Bruce, Kelly; +1 (437)

328-9397

kbruce@enerlife.com

PARTICIPANT CLAIM STATUS

Submitted

FILING PARTICIPANT

NEW PARTICIPANT

Yes

NON-FILING

PARTICIPANT F. NAME

Giovanni

NON-FILING

PARTICIPANT L. NAME

Madalozzo

SERVICE PROVIDER TYPE*

Consultant

YEAR CALLED TO BAR*

PRACTICING/YEARS OF **RELEVANT EXPERIENCE***

10

COMPLETED YEARS

HST RATE CHARGED*

13.00

CV STATUS (FOR CONSULTANT/ANALYST)

CV Attached

LAST CV DATE

April 30, 2024

OVERRIDE HOURLY RATE

HOURLY RATE

230

Yes

HST NUMBER R119420859

HEARINGS

Yes

CONSULTATIONS

No

DISBURSEMENTS

No

HEARINGS

Hearings Hours 61.75

Hearings Subtotal (\$) 14,202.50

Hearings Total Tax (\$) 1,846.33

Hearings Total (\$) 16,048.83

<u>Nan</u>	<u>ne</u>	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
	RY Id and Research Application and Idence		230		13.00		
Prep	paration of Interrogatories		230		13.00		
Rev	iew Interrogatory Responses		230		13.00		
Tech	nnical Conference Preparation		230		13.00		
Tech	nnical Conference Attendance		230		13.00		
Tech	nnical Conference Follow-up		230		13.00		
Sub	total of DISCOVERY	0.00		0.00		0.00	0.00
PROCEDU Prep	RAL paration of Issues List Submission		230		13.00		
Atte	ndance at Issues List Conference		230		13.00		
Prep	paration for a Confidentiality Request		230		13.00		
Prep	oare Submissions on Confidentiality		230		13.00		
Prep	paration of Motion(s) Materials		230		13.00		
Prep	pare Submissions on the Motion(s)		230		13.00		
Atte	ndance at Hearing on Motion(s)		230		13.00		
Rev	iew Procedural Documents		230		13.00		

<u>Name</u>	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
Subtotal of PROCEDURAL	0.00		0.00		0.00	0.00
INTERVENOR EVIDENCE Preparation of Intervenor Evidence	61.75	230	14,202.50	13.00	1,846.33	16,048.83
Interrogatory Responses		230		13.00		
Preparation of Witness(es) for Attendance at Hearing Subtotal of INTERVENOR EVIDENCE	61.75	230	14,202.50	13.00	1,846.33	16,048.83
SETTLEMENT CONFERENCE Preparation for Settlement Conference		230		13.00		
Attendance at Settlement Conference		230		13.00		
Preparation of Settlement Proposal		230		13.00		
Attendance at Presentation to Panel		230		13.00		
Subtotal of SETTLEMENT CONFERENCE WRITTEN ARGUMENT Written Submissions	0.00	230	0.00	13.00	0.00	0.00
Subtotal of WRITTEN ARGUMENT	0.00		0.00		0.00	0.00
ORAL ARGUMENT Preparation for Oral Hearing		230		13.00		
Attendance at Oral Hearing		230		13.00		
Oral Submissions		230		13.00		
Attendance at Oral Submissions		230		13.00		
Subtotal of ORAL ARGUMENT	0.00		0.00		0.00	0.00
DECISION Review Decision		230		13.00		
Review Rate/Accounting Order		230		13.00		
Prepare Submission on Rate Order		230		13.00		
Subtotal of DECISION	0.00		0.00		0.00	0.00
OTHER Other Attendance (e.g., Intervenor Conferences)		230		13.00		
Subtotal of OTHER	0.00		0.00		0.00	0.00
TOTAL SERVICE PROVIDER FEES Total Service Provider Fees	61.75		14,202.50		1,846.33	16,048.83

Attachments

<u>Attachment</u> **Document Type** Import Message

Inv 3814 OEB 2022-0200 Expert Evidence

Interim Inv.pdf

Enerlife CV Giovanni Madalozzo 2022.pdf

Time Docket and Invoice

CV

Hearings, Consultations, Disbursements Attachments

<u>Attachment</u>	Document Type	Claim Type	Import Message
Inv 3814 OEB 2022-0200 Expert Evidence	Time Docket and Invoice	Hearings	
Interim Inv.pdf			
Enerlife CV Giovanni Madalozzo 2022.pdf	CV	Hearings	

To: Ontario Energy Board 2300 Yonge Street Suite 2701 Toronto, Ontario M4P 1E4



Re: EB-2022-0200 Enbridge Gas Inc. 2024 Rebasing Application Interim Cost Claim for Expert Witness

Date: July 12, 2023

Date	Hours	Analyst/Consultant/Case Mgmt	Project Phase	Description	Rate	Total
Tuesday, February 7, 2023	1.5	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review Correspondence	\$ 230.00	\$ 345.00
Wednesday, February 15, 2023	1	Giovanni Madalozzo	Intervenor Evidence - Preparation	Internal meeting	\$ 230.00	\$ 230.00
Friday, February 17, 2023	3.25	Giovanni Madalozzo	Intervenor Evidence - Preparation	Research - Review ICF-Enbridge report	\$ 230.00	\$ 747.50
Tuesday, February 21, 2023	3	lan Jarvis	Intervenor Evidence - Preparation	Research - Analyze savings potential for different commercial building sectors, Gas load shape for commercial building with heat recovery	\$ 330.00	\$ 990.00
Friday, February 24, 2023	0.25	lan Jarvis	Communication with other parties	Research - internal meeting	\$ 330.00	\$ 82.50
Friday, February 24, 2023	3.25	Giovanni Madalozzo	Intervenor Evidence - Preparation	Research - Review Simcoe Place base case and heat recovery analysis	\$ 230.00	\$ 747.50
Sunday, February 26, 2023	2	Pavel Rusyaev	Intervenor Evidence - Preparation	Research - Prepared estimated gas use and savings potential for retail, office and multi-family	\$ 170.00	\$ 340.00
Monday, February 27, 2023	0.25	lan Jarvis	Intervenor Evidence - Preparation	Research - Review Simcoe Place model with Giovanni	\$ 330.00	\$ 82.50
Monday, February 27, 2023	1.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Researched information re gas demand and commercial sector areas growth	\$ 170.00	\$ 255.00
Tuesday, February 28, 2023	0.5	lan Jarvis	Intervenor Evidence - Preparation	Research - Review sectoral savings potential model	\$ 330.00	\$ 165.00
Tuesday, February 28, 2023	3.5	Giovanni Madalozzo	Intervenor Evidence - Preparation	Research - Review baselines - create GBPS model and baselines - review SPL additional gas meter	\$ 230.00	\$ 805.00
Wednesday, March 1, 2023	1	lan Jarvis	Intervenor Evidence - Preparation	Prepared estimated gas use and savings potential for retail, office and mult-family	\$ 330.00	\$ 330.00
Wednesday, March 1, 2023	2	Pavel Rusyaev	Intervenor Evidence - Preparation	Review of the exhibit provided by Enbridge, prepared summary of gas savings potential for various building types from the recently performed analysis	\$ 170.00	\$ 340.00
Wednesday, March 1, 2023	2.75	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review Bear Creak data and create analysis	\$ 230.00	\$ 632.50
Thursday, March 2, 2023	0.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Prepared a summary of gas savings potential for various building types from the recently performed analysis	\$ 170.00	\$ 85.00
Friday, March 3, 2023	1	lan Jarvis	Intervenor Evidence - Preparation	Internal meeting, review correspondence	\$ 330.00	\$ 330.00
Friday, March 3, 2023	2.75	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review chiller information and 2010-2011 projects	\$ 230.00	\$ 632.50
Monday, March 6, 2023	1	lan Jarvis	Intervenor Evidence - Preparation	Review correspondence with ED, analysis, internal meeting	\$ 330.00	\$ 330.00
Monday, March 6, 2023	2	Pavel Rusyaev	Intervenor Evidence - Preparation	Modified chart, adding 1.6% growth line, prepared gas benchmark with SPL 2010 normalized to 2021 for EWRB report	\$ 170.00	\$ 340.00
Wednesday, March 8, 2023	0.5	lan Jarvis	Intervenor Evidence - Preparation	Internal meeting	\$ 330.00	\$ 165.00
Wednesday, March 8, 2023	0.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Search for data on share of commercial sector in total gas demand in Ontario	\$ 170.00	\$ 85.00
Wednesday, March 8, 2023	2.75	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review and analysis of the gas data on TDSC schools	\$ 230.00	\$ 632.50
Thursday, March 9, 2023	0.25	lan Jarvis	Intervenor Evidence - Preparation	Review Wilson Av off gas analysis, review with Simon	\$ 330.00	\$ 82.50
Friday, March 10, 2023	3.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Review material	\$ 170.00	\$ 595.00
Sunday, March 12, 2023	0.5	lan Jarvis	Intervenor Evidence - Preparation	Review results from Pavel, email next steps	\$ 330.00	\$ 165.00
Sunday, March 12, 2023	2	Pavel Rusyaev	Intervenor Evidence - Preparation	Research on how new base temperature impacts design day demand	\$ 170.00	\$ 340.00
Monday, March 13, 2023	0.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Research on how the climate change may affect extreme cold weather events	\$ 170.00	\$ 85.00
Tuesday, March 14, 2023	0.5	lan Jarvis	Intervenor Evidence - Preparation	Update, progress review	\$ 330.00	\$ 165.00
Tuesday, March 14, 2023	1	Pavel Rusyaev	Intervenor Evidence - Preparation	Research documents submitted by Enbridge pertaining to gas metering	\$ 170.00	\$ 170.00
Wednesday, March 15, 2023	0.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Research documents	\$ 170.00	\$ 85.00
Thursday, March 16, 2023	3.75	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review Terry Fox interval gas consumption for heat pump analysis	\$ 230.00	\$ 862.50
Monday, March 20, 2023	0.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Reviewed NOAA's monthly US climate report	\$ 170.00	\$ 85.00
Wednesday, March 22, 2023	0.5	lan Jarvis	Intervenor Evidence - Preparation	Internal progress meeting	\$ 330.00	\$ 165.00
Wednesday, March 22, 2023	3.75	Pavel Rusyaev	Intervenor Evidence - Preparation	Extracted data re electricity and gas savings potential due to commercial buildings	\$ 170.00	\$ 637.50
Wednesday, March 22, 2023	2.75	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review Terry Miller gas interval data	\$ 230.00	\$ 632.50
Friday, March 24, 2023	0.25	lan Jarvis	Intervenor Evidence - Preparation	Internal meeting	\$ 330.00	\$ 82.50
Monday, March 27, 2023	1	Pavel Rusyaev	Intervenor Evidence - Preparation	Research re minimum gas consumption to be eligible to be a contract customer	\$ 170.00	\$ 170.00
Tuesday, April 4, 2023	1.5	lan Jarvis	Intervenor Evidence - Preparation	Outline work plan	\$ 330.00	\$ 495.00
Wednesday, April 5, 2023	1	lan Jarvis	Intervenor Evidence - Preparation	Draft report Draft report	\$ 330.00	\$ 330.00
Wednesday, April 5, 2023	1	Pavel Rusyaev	Intervenor Evidence - Preparation	Call with lan, Giovanni and Simon to discuss the upcoming work on the research report	\$ 170.00	\$ 170.00
Wednesday, April 5, 2023	2.5	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review Bear creek intrerval data model	\$ 230.00	\$ 575.00
Wednesday, April 5, 2023	0.5	Simon Sahi	Intervenor Evidence - Preparation	Meeting with Ian and team	\$ 230.00	\$ 115.00
Thursday, April 6, 2023	0.5	lan Jarvis	Intervenor Evidence - Preparation	Development	\$ 330.00	\$ 165.00
Thursday, April 6, 2023	6.75	Pavel Rusyaev	Intervenor Evidence - Preparation	Prepared the file with data for research report	\$ 170.00	\$ 1,147.50
Monday, April 10, 2023	8	lan Jarvis	Intervenor Evidence - Preparation	Development	\$ 330.00	\$ 2,640.00
Tuesday, April 11, 2023	1.25	lan Jarvis	Intervenor Evidence - Preparation	Draft report	\$ 330.00	\$ 412.50
Tuesday, April 11, 2023	7	Simon Sahi	Intervenor Evidence - Preparation	R-studio to download weather files	\$ 230.00	\$ 1,610.00
Tuesday, April 11, 2023	4	Natalie Millan	Intervenor Evidence - Preparation	Create report and tables	\$ 170.00	\$ 680.00
Wednesday, April 12, 2023	0.5	lan Jarvis	Intervenor Evidence - Preparation	Report development	\$ 330.00	\$ 165.00
Thursday, April 13, 2023	0.5	Simon Sahi	Intervenor Evidence - Preparation	Review costing	\$ 230.00	\$ 115.00
Friday, April 14, 2023	0.5	Simon Sahi	Intervenor Evidence - Preparation	Review costing	\$ 230.00	\$ 115.00
Monday, April 17, 2023	3.5	lan Jarvis	Intervenor Evidence - Preparation	Analysis and draft report	\$ 330.00	\$ 1,155.00
Monday, April 17, 2023	3.5	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review gas consumption interval data for Terry Fox and associated ASHP -Contact vendors for ASHP performance model	\$ 230.00	\$ 805.00
Tuesday, April 18, 2023	3	lan Jarvis	Intervenor Evidence - Preparation	Internal meeting, review draft report	\$ 330.00	\$ 990.00
Tuesday, April 18, 2023	0.25	Pavel Rusyaev	Intervenor Evidence - Preparation	Call with Ian and Giovanni to review the outstanding items for the report	\$ 170.00	\$ 42.50
Tuesday, April 18, 2023	1.75	Giovanni Madalozzo	Intervenor Evidence - Preparation	Contact vendors for ASHP performance model	\$ 230.00	\$ 402.50
Wednesday, April 19, 2023	5.25	lan Jarvis	Intervenor Evidence - Preparation	Evidence review, draft report	\$ 330.00	\$ 1,732.50
Wednesday, April 19, 2023	2.75	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review ASHP model for Terry Fox	\$ 230.00	\$ 632.50
Wednesday, April 19, 2023	0.5	Natalie Millan	Intervenor Evidence - Preparation	Draft report Draft report	\$ 170.00	\$ 85.00
Wednesday, April 19, 2023	2.5	Natalie Millan	Intervenor Evidence - Preparation	Draft report Draft report	\$ 170.00	\$ 425.00
Thursday, April 20, 2023	7	lan Jarvis	Intervenor Evidence - Preparation	Review evidence, correspondence, school ASHP model, draft report	\$ 330.00	\$ 2,310.00

	,				, ,
7.5		Intervenor Evidence - Preparation	· ·		\$ 1,725.00
1.75	Natalie Millan	Intervenor Evidence - Preparation	Final draft for submission		\$ 297.50
1.5	lan Jarvis	Intervenor Evidence - Preparation			\$ 495.00
1	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review school charts for report	\$ 230.00	\$ 230.00
2.5	Natalie Millan	Intervenor Evidence - Preparation	Review/draft report	\$ 170.00	\$ 425.00
0.25	lan Jarvis	Intervenor Evidence - Interrogatory	Research	\$ 330.00	\$ 82.50
0.5	lan Jarvis	Intervenor Evidence - Interrogatory	Review Interrogatory Responses	\$ 330.00	\$ 165.00
1	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review ASHP energy model - contact manufactures	\$ 230.00	\$ 230.00
2.5	Giovanni Madalozzo	Intervenor Evidence - Preparation	Internal meeting to review ASHP energy model	\$ 230.00	\$ 575.00
1	lan Jarvis	Intervenor Evidence - Interrogatory	Review all IR's and assess questions re BOMA evidence	\$ 330.00	\$ 330.00
2	Pavel Rusyaev	Intervenor Evidence - Preparation	2019 Achievable Savings Potential study	\$ 170.00	\$ 340.00
6	lan Jarvis	Intervenor Evidence - Interrogatory	Draft report, modeling	\$ 330.00	\$ 1,980.00
3.25	lan Jarvis	Intervenor Evidence - Interrogatory	Peak demand analysis, draft response	\$ 330.00	\$ 1,072.50
1.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Research on the variance accounts referenced by the Staff / Ian	\$ 170.00	\$ 255.00
6	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review energy recovery and ASHP model for Simcoe and Terry Fox - Includeexhaust heat recovery for Terry Fox	\$ 230.00	\$ 1,380.00
4.25	lan Jarvis	Intervenor Evidence - Interrogatory	Draft report, variance account analysis	\$ 330.00	\$ 1,402.50
6	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review energy recovery and ASHP model for Simcoe and Terry Fox, create graphs and table for the report, discussion with Trane about ASHP performance	\$ 230.00	\$ 1,380.00
2.5	lan Jarvis	Intervenor Evidence - Interrogatory	Final draft, peak gas demand analysis	\$ 330.00	\$ 825.00
2.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Research whole system peak day gas consumption and demand, the load factor and load shape on the peak day	\$ 170.00	\$ 425.00
0.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Images in high resolution for the report	\$ 170.00	\$ 85.00
2	Pavel Rusyaev	Intervenor Evidence - Preparation	Research on the lowest temperatures by year for a number of cities in Ontario	\$ 170.00	\$ 340.00
0.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Extended the table back 1991	\$ 170.00	\$ 85.00
0.75	lan Jarvis	Intervenor Evidence - Interrogatory	Search for data, intervenor correspondence	\$ 330.00	\$ 247.50
				Subtotal	\$ 45,977.50
				HST	\$ 5,977.08
				Total	\$ 51,954.58
	1.75 1.5 1 2.5 0.25 0.5 1 2 6 3.25 1.5 6 4.25 6 2.5 2.5 0.5 2.5 0.5	7.5 Giovanni Madalozzo 1.75 Natalie Millan 1.5 Ian Jarvis 1 Giovanni Madalozzo 2.5 Natalie Millan 0.25 Ian Jarvis 0.5 Ian Jarvis 1 Giovanni Madalozzo 2.5 Giovanni Madalozzo 1 Ian Jarvis 2 Pavel Rusyaev 6 Ian Jarvis 3.25 Ian Jarvis 1.5 Pavel Rusyaev 6 Giovanni Madalozzo 4.25 Ian Jarvis 1.5 Pavel Rusyaev 6 Giovanni Madalozzo 4.25 Ian Jarvis 2 Pavel Rusyaev 0.5 Pavel Rusyaev 0.5 Pavel Rusyaev 0.5 Pavel Rusyaev	7.5 Giovanni Madalozzo Intervenor Evidence - Preparation 1.75 Natalie Millian Intervenor Evidence - Preparation 1.5 Ian Jarvis Intervenor Evidence - Preparation 1.5 Giovanni Madalozzo Intervenor Evidence - Preparation 1.5 Ian Jarvis Intervenor Evidence - Preparation 1.5 Natalie Millian Intervenor Evidence - Preparation 1.5 Natalie Millian Intervenor Evidence - Interrogatory 1.5 Ian Jarvis Intervenor Evidence - Interrogatory 1.5 Giovanni Madalozzo Intervenor Evidence - Preparation 1.5 Ian Jarvis Intervenor Evidence - Preparation 1.5 Ian Jarvis Intervenor Evidence - Preparation 1.5 Ian Jarvis Intervenor Evidence - Interrogatory 1.5 Giovanni Madalozzo Intervenor Evidence - Interrogatory 1.5 Pavel Rusyaev Intervenor Evidence - Interrogatory 1.5 Pavel Rusyaev Intervenor Evidence - Preparation 1.5 Pavel Rusyaev Intervenor Evidence - Preparation 1.5 Ian Jarvis Intervenor Evidence - Preparation 1.5 Ian Jarvis Intervenor Evidence - Preparation 1.5 Ian Jarvis Intervenor Evidence - Preparation 1.5 Pavel Rusyaev Intervenor Evidence - Preparation 1.5 Pave	7.5 Giovanni Madalozzo Intervenor Evidence - Preparation Review school charts - review ASHP model for Terry Fox 1.75 Natalie Millian Intervenor Evidence - Preparation Final draft for submission 1.5 Ian Jarvis Intervenor Evidence - Preparation Review school charts for report 2.5 Natalie Millian Intervenor Evidence - Preparation Review school charts for report 2.5 Natalie Millian Intervenor Evidence - Preparation Review school charts for report 2.5 Natalie Millian Intervenor Evidence - Preparation Review school charts for report 3.25 Ian Jarvis Intervenor Evidence - Interrogatory Responses 1 Giovanni Madalozzo Intervenor Evidence - Preparation Review ASHP energy model - contact manufactures 3.25 Giovanni Madalozzo Intervenor Evidence - Preparation Intervanor Evidence - Preparation Review ASHP energy model 3.26 Ian Jarvis Intervenor Evidence - Preparation Review all IR's and assess questions re BOMA evidence 3.27 Pavel Rusyaev Intervenor Evidence - Preparation Review all IR's and analysis, draft response 4.28 Ian Jarvis Intervenor Evidence - Preparation Review all IR's and analysis, draft response 4.29 Ian Jarvis Intervenor Evidence - Preparation Review all IR's and analysis, draft response 4.25 Ian Jarvis Intervenor Evidence - Preparation Review all IR's and analysis, draft response 4.26 Giovanni Madalozzo Intervenor Evidence - Preparation Review energy recovery and ASHP model for Simcoe and Terry Fox - Includeexhaust heat recovery for Terry Fox 4.25 Ian Jarvis Intervenor Evidence - Preparation Review energy recovery and ASHP model for Simcoe and Terry Fox, create graphs and table for the report, discussion with Trane about ASHP performance 4.26 Giovanni Madalozzo Intervenor Evidence - Preparation Review energy recovery and ASHP model for Simcoe and Terry Fox, create graphs and table for the report, discussion with Trane about ASHP performance 4.27 Pavel Rusyaev Intervenor Evidence - Preparation Research whole system peak day gas consumption and demand, the load factor and load shape on the peak day 4.28 Pavel Ru	7.5 Giovanni Madalozzo Intervenor Evidence - Preparation Intervenor Evidence - Intervenor Evidence - Preparation Intervenor Evidence - Intervenor Evidence - Preparation Intervenor Evidence - Inter





Project Analyst, Enerlife Consulting Inc., 2017 to present gmadalozzo@enerlife.com 416-915-1530 x 217

SUMMARY OF PROFESSIONAL EXPERIENCE

Giovanni has a strong educational background in building science and energy efficiency, combined with several years of experience in energy analysis and modeling. As a member of Enerlife's Integrated Building Performance Team, Giovanni assists senior engineers in providing evidence-based retrofits and operational solutions for mechanical and electrical systems in commercial and institutional buildings. He also co-leads building systems audits and analyzes and interprets building energy and water performance metrics for a wide range of building types and building systems. He also co-leads building systems audits and analyzes and interprets building energy and water performance metrics for a wide range of building types and building systems.

RELEVANT PROJECTS

Providence Healthcare

Since 2012, Enerlife has worked directly with Providence to help identify, plan, and implement energy efficiency measures with the goal of tackling inefficiencies identified through its metrics and meeting its target. Giovanni assisted the lead engineer with the design and implementation of the building automation system optimization, ventilation system upgrades and chiller plan optimization. He created M & V plans meeting the IPMVP requirements and worked with IESO's third-party reviewers to document and process post-implementation measures verifications.

Alberta Health Services

Giovanni is the project analyst for 6 recommissioning projects where he conducted data analysis, identified energy conservation measures, and helped senior engineers with implementation and measurement, and verification of savings. He helped create measurement and verification plans, set up baselines, and implemented routine and non-routine adjustments to document real savings

Humber College

Giovanni conducted energy audits and assisted in the design and implementation of mechanical and building automation system improvements. His work lead to multi-year improvements in the facilities that generated energy savings and reduced greenhouse gas emissions. He also created measurement and verification (M&V) plans for 4 buildings and lead the M & V work that successfully documented and proved projected savings

Grand River Hospital

For Grand River Hospital, Giovanni has conducted a building performance audit to identify how to implement a low carbon heating plant. He provided the hospital with analysis of the peak heating load analysis and identified potential areas of improvement. As part of this work, he worked with contractor to coordinate boiler testing and quotes for upgrades.

Headwaters Health Care

Giovanni conducted a building performance audit on the ventilation and heating systems at Headwaters to help identify opportunities for energy efficiency. He analyzed utility and BAS trends, identified anomalies and provided recommendations

HIGHLIGHTS OF EXPERIENCE

 Experience providing evidence-based retrofits and operational solutions for mechanical and electrical systems in commercial and institutional buildings

AREAS OF SPECIALIZATION

- · Building Energy Audits
- Data Analysis & Implementation
- ASHRAE and CSA standards implementation
- RETScreen Advance Expert

ASSOCIATIONS

- Certified Energy Manager
- LEED Green Associate

ACADEMIC QUALIFICATIONS

- Advanced Diploma in Sustainable Energy and Building Technology, Humber Institute of Technology & Advanced Learning
- Bachelor of Science-Mechanical Engineering, University Center of FEI, São Bernardo do Campo, Brazil



for improvements. He supported the Integrated Building Performance Team meetings, with data diagnostics, visualization of data and building operations knowledge.

Slate Asset Management

Enerlife is working with Slate Asset Management to implement energy efficiency improvements in all Ontario buildings in their portfolio, focusing on operational improvements. As a member of the project's Integrated Building Performance team, Giovanni was responsible for data collection and analysis of building automation system trends and for incentive applications and assisted with the implementation of new smart sequences of operations.

Simon Sahi

CASE EB-2022-0200 - Phase 1: Rates: Distribution: Enbridge Gas Inc.

COST CLAIM EB-2022-0200:1: Kelly Bruce

Bruce, Kelly; +1 (437) 328-9397

INTERVENOR NAME

PARTICIPANT CLAIM STATUS Submitted

kbruce@enerlife.com

FILING PARTICIPANT

NEW PARTICIPANT

Yes

NON-FILING

PARTICIPANT F. NAME

Simon

NON-FILING

PARTICIPANT L. NAME

Sahi

SERVICE PROVIDER TYPE*

Consultant

YEAR CALLED TO BAR*

COMPLETED YEARS PRACTICING/YEARS OF **RELEVANT EXPERIENCE***

10

HST RATE CHARGED*

13.00

CV STATUS (FOR CONSULTANT/ANALYST)

CV Attached

LAST CV DATE

April 30, 2024

OVERRIDE HOURLY RATE

HOURLY RATE

230

No

HST NUMBER R119420859

HEARINGS

Yes

CONSULTATIONS

No

DISBURSEMENTS

No

HEARINGS

Hearings Hours Hearings Subtotal (\$) **Hearings Total Tax (\$)** Hearings Total (\$) 8.50 1,955.00 254.15 2,209.15

<u>Name</u>	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
DISCOVERY Read and Research Application and Evidence		230		13.00		
Preparation of Interrogatories		230		13.00		
Review Interrogatory Responses		230		13.00		
Technical Conference Preparation		230		13.00		
Technical Conference Attendance		230		13.00		
Technical Conference Follow-up		230		13.00		
Subtotal of DISCOVERY	0.00		0.00		0.00	0.00
PROCEDURAL Preparation of Issues List Submission		230		13.00		
Attendance at Issues List Conference		230		13.00		
Preparation for a Confidentiality Request		230		13.00		
Prepare Submissions on Confidentiality		230		13.00		
Preparation of Motion(s) Materials		230		13.00		
Prepare Submissions on the Motion(s)		230		13.00		
Attendance at Hearing on Motion(s)		230		13.00		
Review Procedural Documents		230		13.00		

<u>Name</u>	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
Subtotal of PROCEDURAL	0.00		0.00		0.00	0.00
INTERVENOR EVIDENCE Preparation of Intervenor Evidence	8.50	230	1,955.00	13.00	254.15	2,209.15
Interrogatory Responses		230		13.00		
Preparation of Witness(es) for Attendance at Hearing Subtotal of INTERVENOR EVIDENCE	8.50	230	1,955.00	13.00	254.15	2,209.15
SETTLEMENT CONFERENCE Preparation for Settlement Conference		230		13.00		
Attendance at Settlement Conference		230		13.00		
Preparation of Settlement Proposal		230		13.00		
Attendance at Presentation to Panel		230		13.00		
Subtotal of SETTLEMENT CONFERENCE WRITTEN ARGUMENT Written Submissions	0.00	230	0.00	13.00	0.00	0.00
Subtotal of WRITTEN ARGUMENT	0.00		0.00		0.00	0.00
ORAL ARGUMENT		230		13.00		
Preparation for Oral Hearing		230		13.00		
Attendance at Oral Hearing Oral Submissions		230		13.00		
Attendance at Oral Submissions		230		13.00		
Subtotal of ORAL ARGUMENT	0.00	200	0.00	10.00	0.00	0.00
DECISION	0.00		0.00		0.00	0.00
Review Decision		230		13.00		
Review Rate/Accounting Order		230		13.00		
Prepare Submission on Rate Order		230		13.00		
Subtotal of DECISION	0.00		0.00		0.00	0.00
OTHER Other Attendance (e.g., Intervenor Conferences) Subtotal of OTHER	0.00	230	0.00	13.00	0.00	0.00
TOTAL SERVICE PROVIDER FEES	0.00		0.00		0.00	0.00
Total Service Provider Fees	8.50		1,955.00		254.15	2,209.15

Attachments

<u>Attachment</u>

Enerlife CV Simon Sahi 2022.pdf Inv 3814 OEB 2022-0200 Expert Evidence Interim Inv.pdf **Document Type**

CV

Time Docket and Invoice

Import Message

Hearings, Consultations, Disbursements Attachments

Attachment Document Type Claim Type **Import Message** Hearings

Enerlife CV Simon Sahi 2022.pdf CV

Inv 3814 OEB 2022-0200 Expert Evidence Time Docket and Invoice Hearings Interim Inv.pdf

SIMON SAHI MASc, MEng, PEng, BEMP

Technical Manager, Enerlife Consulting Inc., 2022 to present ssahi@enerlife.com 416-915-1530



SUMMARY OF PROFESSIONAL EXPERIENCE

Simon is an experienced energy modeler and a technical manger of Enerlife engineering team's tool development process. He is passionate about sustainability and has a thorough understanding of building science and technologies, whole building energy modeling, energy transfer in buildings, fire safety and resistance, and related thermal science topics. Simon has in-depth knowledge of major ASHRAE standards and guidelines, as well as rating systems such LEED BD+C and ESNH. Simon has performed energy audits and consulting support for LEED, Toronto Green Standard, SB10, and CaGBC's Zero Carbon Building Standard. As a manager, Simon has experience in mentoring and supporting junior energy modeling staff as well as in providing training for clients' facility operations staff.

REPRESENTATIVE PROJECTS

Net Zero Feasibility studies

Working closely with the rest of Enerlife's engineering team, Simon supports the building data collection and technical analysis for pathway to net zero feasibility studies for community centres in municipalities across Canada. These studies, conducted in partnership with CIMCO Refrigeration, leverage funding from the Federation of Canadian Municipalities to lay out the measures each building should take over time to eventually achieve net zero carbon emissions.

Alberta Health Services

Enerlife prepared multi-year energy and carbon reduction plan for 193 healthcare facilities across Alberta. Following the adoption of plan recommendations, Enerlife is implementing the recommissioning measures in a number of Alberta hospitals. Simon is providing technical analysis and support for this project.

Research & Development

Simon is responsible for standardization of the suite of technical analysis tools developed by Enerlife. He is currently leading the development of Ventilation Tool and integration of the Ice Rink Tool.

Energy Modeling

Simon has extensive energy modeling experience in multiple building sectors. His recent projects include: PSOS energy model and metrics calculations for West Lincoln Memorial Hospital, LEED and SB-10 energy modelling for Georgina Recreation Centre, P3 energy modelling support for Archives Canada, Toronto Green Standard Tier-2 parametric modelling for residential developments (Union Park Development, High Park Village, 30 Merton), and multiple energy audits and energy model calibrations for Dream Properties.

Fanshawe College

Simon has conducted a Sustainable Buildings Canada workshop and provided SB-10 compliance and incentives support for Fanshawe College.

HIGHLIGHTS OF EXPERIENCE

- Over 10 years of experience in energy modeling
- Modeling expertise in postsecondary institutions, multi-unit residential buildings, offices, and healthcare facilities

AREAS OF SPECIALIZATION

- Energy modeling (eQuest, HOT200, EE4)
- Energy audits
- · Feasibility studies
- Commissioning
- Project management
- Power BI
- Matlab

CERTIFICATIONS

- Building Energy Modeling Professional (BEMP), ASHRAE
- Certified Energy Advisor, Natural Resources Canada
- Graduate Certificates: Fire Safety, Green Energy, University of Waterloo

ACADEMIC QUALIFICATIONS

- Master of Engineering, Mechanical and Mechatronics Engineering, University of Waterloo
- Master of Applied Science, Mechanical Engineering, McMaster University
- Bachelor of Science, Mechanical Engineering, Lawrence Technological University, Michigan

To: Ontario Energy Board 2300 Yonge Street Suite 2701 Toronto, Ontario M4P 1E4



Re: EB-2022-0200 Enbridge Gas Inc. 2024 Rebasing Application Interim Cost Claim for Expert Witness

Date: July 12, 2023

Date	Hours	Analyst/Consultant/Case Mgmt	Project Phase	Description	Rate	Total
Tuesday, February 7, 2023	1.5	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review Correspondence	\$ 230.00	\$ 345.00
Wednesday, February 15, 2023	1	Giovanni Madalozzo	Intervenor Evidence - Preparation	Internal meeting	\$ 230.00	\$ 230.00
Friday, February 17, 2023	3.25	Giovanni Madalozzo	Intervenor Evidence - Preparation	Research - Review ICF-Enbridge report	\$ 230.00	\$ 747.50
Tuesday, February 21, 2023	3	lan Jarvis	Intervenor Evidence - Preparation	Research - Analyze savings potential for different commercial building sectors, Gas load shape for commercial building with heat recovery	\$ 330.00	\$ 990.00
Friday, February 24, 2023	0.25	lan Jarvis	Communication with other parties	Research - internal meeting	\$ 330.00	\$ 82.50
Friday, February 24, 2023	3.25	Giovanni Madalozzo	Intervenor Evidence - Preparation	Research - Review Simcoe Place base case and heat recovery analysis	\$ 230.00	\$ 747.50
Sunday, February 26, 2023	2	Pavel Rusyaev	Intervenor Evidence - Preparation	Research - Prepared estimated gas use and savings potential for retail, office and multi-family	\$ 170.00	\$ 340.00
Monday, February 27, 2023	0.25	lan Jarvis	Intervenor Evidence - Preparation	Research - Review Simcoe Place model with Giovanni	\$ 330.00	\$ 82.50
Monday, February 27, 2023	1.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Researched information re gas demand and commercial sector areas growth	\$ 170.00	\$ 255.00
Tuesday, February 28, 2023	0.5	lan Jarvis	Intervenor Evidence - Preparation	Research - Review sectoral savings potential model	\$ 330.00	\$ 165.00
Tuesday, February 28, 2023	3.5	Giovanni Madalozzo	Intervenor Evidence - Preparation	Research - Review baselines - create GBPS model and baselines - review SPL additional gas meter	\$ 230.00	\$ 805.00
Wednesday, March 1, 2023	1	lan Jarvis	Intervenor Evidence - Preparation	Prepared estimated gas use and savings potential for retail, office and mult-family	\$ 330.00	\$ 330.00
Wednesday, March 1, 2023	2	Pavel Rusyaev	Intervenor Evidence - Preparation	Review of the exhibit provided by Enbridge, prepared summary of gas savings potential for various building types from the recently performed analysis	\$ 170.00	\$ 340.00
Wednesday, March 1, 2023	2.75	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review Bear Creak data and create analysis	\$ 230.00	\$ 632.50
Thursday, March 2, 2023	0.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Prepared a summary of gas savings potential for various building types from the recently performed analysis	\$ 170.00	\$ 85.00
Friday, March 3, 2023	1	lan Jarvis	Intervenor Evidence - Preparation	Internal meeting, review correspondence	\$ 330.00	\$ 330.00
Friday, March 3, 2023	2.75	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review chiller information and 2010-2011 projects	\$ 230.00	\$ 632.50
Monday, March 6, 2023	1	lan Jarvis	Intervenor Evidence - Preparation	Review correspondence with ED, analysis, internal meeting	\$ 330.00	\$ 330.00
Monday, March 6, 2023	2	Pavel Rusyaev	Intervenor Evidence - Preparation	Modified chart, adding 1.6% growth line, prepared gas benchmark with SPL 2010 normalized to 2021 for EWRB report	\$ 170.00	\$ 340.00
Wednesday, March 8, 2023	0.5	lan Jarvis	Intervenor Evidence - Preparation	Internal meeting	\$ 330.00	\$ 165.00
Wednesday, March 8, 2023	0.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Search for data on share of commercial sector in total gas demand in Ontario	\$ 170.00	\$ 85.00
Wednesday, March 8, 2023	2.75	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review and analysis of the gas data on TDSC schools	\$ 230.00	\$ 632.50
Thursday, March 9, 2023	0.25	lan Jarvis	Intervenor Evidence - Preparation	Review Wilson Av off gas analysis, review with Simon	\$ 330.00	\$ 82.50
Friday, March 10, 2023	3.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Review material	\$ 170.00	\$ 595.00
Sunday, March 12, 2023	0.5	lan Jarvis	Intervenor Evidence - Preparation	Review results from Pavel, email next steps	\$ 330.00	\$ 165.00
Sunday, March 12, 2023	2	Pavel Rusyaev	Intervenor Evidence - Preparation	Research on how new base temperature impacts design day demand	\$ 170.00	\$ 340.00
Monday, March 13, 2023	0.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Research on how the climate change may affect extreme cold weather events	\$ 170.00	\$ 85.00
Tuesday, March 14, 2023	0.5	lan Jarvis	Intervenor Evidence - Preparation	Update, progress review	\$ 330.00	\$ 165.00
Tuesday, March 14, 2023	1	Pavel Rusyaev	Intervenor Evidence - Preparation	Research documents submitted by Enbridge pertaining to gas metering	\$ 170.00	\$ 170.00
Wednesday, March 15, 2023	0.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Research documents	\$ 170.00	\$ 85.00
Thursday, March 16, 2023	3.75	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review Terry Fox interval gas consumption for heat pump analysis	\$ 230.00	\$ 862.50
Monday, March 20, 2023	0.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Reviewed NOAA's monthly US climate report	\$ 170.00	\$ 85.00
Wednesday, March 22, 2023	0.5	lan Jarvis	Intervenor Evidence - Preparation	Internal progress meeting	\$ 330.00	\$ 165.00
Wednesday, March 22, 2023	3.75	Pavel Rusyaev	Intervenor Evidence - Preparation	Extracted data re electricity and gas savings potential due to commercial buildings	\$ 170.00	\$ 637.50
Wednesday, March 22, 2023	2.75	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review Terry Miller gas interval data	\$ 230.00	\$ 632.50
Friday, March 24, 2023	0.25	lan Jarvis	Intervenor Evidence - Preparation	Internal meeting	\$ 330.00	\$ 82.50
Monday, March 27, 2023	1	Pavel Rusyaev	Intervenor Evidence - Preparation	Research re minimum gas consumption to be eligible to be a contract customer	\$ 170.00	\$ 170.00
Tuesday, April 4, 2023	1.5	lan Jarvis	Intervenor Evidence - Preparation	Outline work plan	\$ 330.00	\$ 495.00
Wednesday, April 5, 2023	1	lan Jarvis	Intervenor Evidence - Preparation	Draft report Draft report	\$ 330.00	\$ 330.00
Wednesday, April 5, 2023	1	Pavel Rusyaev	Intervenor Evidence - Preparation	Call with lan, Giovanni and Simon to discuss the upcoming work on the research report	\$ 170.00	\$ 170.00
Wednesday, April 5, 2023	2.5	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review Bear creek intrerval data model	\$ 230.00	\$ 575.00
Wednesday, April 5, 2023	0.5	Simon Sahi	Intervenor Evidence - Preparation	Meeting with Ian and team	\$ 230.00	\$ 115.00
Thursday, April 6, 2023	0.5	lan Jarvis	Intervenor Evidence - Preparation	Development	\$ 330.00	\$ 165.00
Thursday, April 6, 2023	6.75	Pavel Rusyaev	Intervenor Evidence - Preparation	Prepared the file with data for research report	\$ 170.00	\$ 1,147.50
Monday, April 10, 2023	8	lan Jarvis	Intervenor Evidence - Preparation	Development	\$ 330.00	\$ 2,640.00
Tuesday, April 11, 2023	1.25	lan Jarvis	Intervenor Evidence - Preparation	Draft report	\$ 330.00	\$ 412.50
Tuesday, April 11, 2023	7	Simon Sahi	Intervenor Evidence - Preparation	R-studio to download weather files	\$ 230.00	\$ 1,610.00
Tuesday, April 11, 2023	4	Natalie Millan	Intervenor Evidence - Preparation	Create report and tables	\$ 170.00	\$ 680.00
Wednesday, April 12, 2023	0.5	lan Jarvis	Intervenor Evidence - Preparation	Report development	\$ 330.00	\$ 165.00
Thursday, April 13, 2023	0.5	Simon Sahi	Intervenor Evidence - Preparation	Review costing	\$ 230.00	\$ 115.00
Friday, April 14, 2023	0.5	Simon Sahi	Intervenor Evidence - Preparation	Review costing	\$ 230.00	\$ 115.00
Monday, April 17, 2023	3.5	lan Jarvis	Intervenor Evidence - Preparation	Analysis and draft report	\$ 330.00	\$ 1,155.00
Monday, April 17, 2023	3.5	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review gas consumption interval data for Terry Fox and associated ASHP -Contact vendors for ASHP performance model	\$ 230.00	\$ 805.00
Tuesday, April 18, 2023	3	lan Jarvis	Intervenor Evidence - Preparation	Internal meeting, review draft report	\$ 330.00	\$ 990.00
Tuesday, April 18, 2023	0.25	Pavel Rusyaev	Intervenor Evidence - Preparation	Call with Ian and Giovanni to review the outstanding items for the report	\$ 170.00	\$ 42.50
Tuesday, April 18, 2023	1.75	Giovanni Madalozzo	Intervenor Evidence - Preparation	Contact vendors for ASHP performance model	\$ 230.00	\$ 402.50
Wednesday, April 19, 2023	5.25	lan Jarvis	Intervenor Evidence - Preparation	Evidence review, draft report	\$ 330.00	\$ 1,732.50
Wednesday, April 19, 2023	2.75	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review ASHP model for Terry Fox	\$ 230.00	\$ 632.50
Wednesday, April 19, 2023	0.5	Natalie Millan	Intervenor Evidence - Preparation	Draft report Draft report	\$ 170.00	\$ 85.00
Wednesday, April 19, 2023	2.5	Natalie Millan	Intervenor Evidence - Preparation	Draft report Draft report	\$ 170.00	\$ 425.00
Thursday, April 20, 2023	7	lan Jarvis	Intervenor Evidence - Preparation	Review evidence, correspondence, school ASHP model, draft report	\$ 330.00	\$ 2,310.00

	,				\$ 1,275.00
7.5		Intervenor Evidence - Preparation	· ·		\$ 1,725.00
1.75	Natalie Millan	Intervenor Evidence - Preparation	Final draft for submission		\$ 297.50
1.5	lan Jarvis	Intervenor Evidence - Preparation			\$ 495.00
1	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review school charts for report	\$ 230.00	\$ 230.00
2.5	Natalie Millan	Intervenor Evidence - Preparation	Review/draft report	\$ 170.00	\$ 425.00
0.25	lan Jarvis	Intervenor Evidence - Interrogatory	Research	\$ 330.00	\$ 82.50
0.5	lan Jarvis	Intervenor Evidence - Interrogatory	Review Interrogatory Responses	\$ 330.00	\$ 165.00
1	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review ASHP energy model - contact manufactures	\$ 230.00	\$ 230.00
2.5	Giovanni Madalozzo	Intervenor Evidence - Preparation	Internal meeting to review ASHP energy model	\$ 230.00	\$ 575.00
1	lan Jarvis	Intervenor Evidence - Interrogatory	Review all IR's and assess questions re BOMA evidence	\$ 330.00	\$ 330.00
2	Pavel Rusyaev	Intervenor Evidence - Preparation	2019 Achievable Savings Potential study	\$ 170.00	\$ 340.00
6	lan Jarvis	Intervenor Evidence - Interrogatory	Draft report, modeling	\$ 330.00	\$ 1,980.00
3.25	lan Jarvis	Intervenor Evidence - Interrogatory	Peak demand analysis, draft response	\$ 330.00	\$ 1,072.50
1.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Research on the variance accounts referenced by the Staff / Ian	\$ 170.00	\$ 255.00
6	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review energy recovery and ASHP model for Simcoe and Terry Fox - Includeexhaust heat recovery for Terry Fox	\$ 230.00	\$ 1,380.00
4.25	lan Jarvis	Intervenor Evidence - Interrogatory	Draft report, variance account analysis	\$ 330.00	\$ 1,402.50
6	Giovanni Madalozzo	Intervenor Evidence - Preparation	Review energy recovery and ASHP model for Simcoe and Terry Fox, create graphs and table for the report, discussion with Trane about ASHP performance	\$ 230.00	\$ 1,380.00
2.5	lan Jarvis	Intervenor Evidence - Interrogatory	Final draft, peak gas demand analysis	\$ 330.00	\$ 825.00
2.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Research whole system peak day gas consumption and demand, the load factor and load shape on the peak day	\$ 170.00	\$ 425.00
0.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Images in high resolution for the report	\$ 170.00	\$ 85.00
2	Pavel Rusyaev	Intervenor Evidence - Preparation	Research on the lowest temperatures by year for a number of cities in Ontario	\$ 170.00	\$ 340.00
0.5	Pavel Rusyaev	Intervenor Evidence - Preparation	Extended the table back 1991	\$ 170.00	\$ 85.00
0.75	lan Jarvis	Intervenor Evidence - Interrogatory	Search for data, intervenor correspondence	\$ 330.00	\$ 247.50
				Subtotal	\$ 45,977.50
				HST	\$ 5,977.08
				Total	\$ 51,954.58
	1.75 1.5 1 2.5 0.25 0.5 1 2 6 3.25 1.5 6 4.25 6 2.5 2.5 0.5 2.5 0.5	7.5 Giovanni Madalozzo 1.75 Natalie Millan 1.5 Ian Jarvis 1 Giovanni Madalozzo 2.5 Natalie Millan 0.25 Ian Jarvis 0.5 Ian Jarvis 1 Giovanni Madalozzo 2.5 Giovanni Madalozzo 1 Ian Jarvis 2 Pavel Rusyaev 6 Ian Jarvis 3.25 Ian Jarvis 1.5 Pavel Rusyaev 6 Giovanni Madalozzo 4.25 Ian Jarvis 1.5 Pavel Rusyaev 6 Giovanni Madalozzo 4.25 Ian Jarvis 2 Pavel Rusyaev 0.5 Pavel Rusyaev 0.5 Pavel Rusyaev 0.5 Pavel Rusyaev	7.5 Giovanni Madalozzo Intervenor Evidence - Preparation 1.75 Natalie Millian Intervenor Evidence - Preparation 1.5 Ian Jarvis Intervenor Evidence - Preparation 1.5 Giovanni Madalozzo Intervenor Evidence - Preparation 1.5 Ian Jarvis Intervenor Evidence - Preparation 1.5 Natalie Millian Intervenor Evidence - Preparation 1.5 Natalie Millian Intervenor Evidence - Interrogatory 1.5 Ian Jarvis Intervenor Evidence - Interrogatory 1.5 Giovanni Madalozzo Intervenor Evidence - Preparation 1.5 Ian Jarvis Intervenor Evidence - Preparation 1.5 Ian Jarvis Intervenor Evidence - Preparation 1.5 Ian Jarvis Intervenor Evidence - Interrogatory 1.5 Giovanni Madalozzo Intervenor Evidence - Interrogatory 1.5 Pavel Rusyaev Intervenor Evidence - Interrogatory 1.5 Pavel Rusyaev Intervenor Evidence - Preparation 1.5 Pavel Rusyaev Intervenor Evidence - Preparation 1.5 Ian Jarvis Intervenor Evidence - Preparation 1.5 Ian Jarvis Intervenor Evidence - Preparation 1.5 Ian Jarvis Intervenor Evidence - Preparation 1.5 Pavel Rusyaev Intervenor Evidence - Preparation 1.5 Pave	7.5 Giovanni Madalozzo Intervenor Evidence - Preparation Review school charts - review ASHP model for Terry Fox 1.75 Natalie Millian Intervenor Evidence - Preparation Final draft for submission 1.5 Ian Jarvis Intervenor Evidence - Preparation Review school charts for report 2.5 Natalie Millian Intervenor Evidence - Preparation Review school charts for report 2.5 Natalie Millian Intervenor Evidence - Preparation Review school charts for report 2.5 Natalie Millian Intervenor Evidence - Preparation Review school charts for report 3.25 Ian Jarvis Intervenor Evidence - Interrogatory Responses 1 Giovanni Madalozzo Intervenor Evidence - Preparation Review ASHP energy model - contact manufactures 3.25 Giovanni Madalozzo Intervenor Evidence - Preparation Intervanor Evidence - Preparation Review ASHP energy model 3.26 Ian Jarvis Intervenor Evidence - Preparation Review all IR's and assess questions re BOMA evidence 3.27 Pavel Rusyaev Intervenor Evidence - Preparation Review all IR's and analysis, draft response 4.28 Ian Jarvis Intervenor Evidence - Preparation Review all IR's and analysis, draft response 4.29 Ian Jarvis Intervenor Evidence - Preparation Review all IR's and analysis, draft response 4.25 Ian Jarvis Intervenor Evidence - Preparation Review all IR's and analysis, draft response 4.26 Giovanni Madalozzo Intervenor Evidence - Preparation Review energy recovery and ASHP model for Simcoe and Terry Fox - Includeexhaust heat recovery for Terry Fox 4.25 Ian Jarvis Intervenor Evidence - Preparation Review energy recovery and ASHP model for Simcoe and Terry Fox, create graphs and table for the report, discussion with Trane about ASHP performance 4.26 Giovanni Madalozzo Intervenor Evidence - Preparation Review energy recovery and ASHP model for Simcoe and Terry Fox, create graphs and table for the report, discussion with Trane about ASHP performance 4.27 Pavel Rusyaev Intervenor Evidence - Preparation Research whole system peak day gas consumption and demand, the load factor and load shape on the peak day 4.28 Pavel Ru	7.5 Giovanni Madalozzo Intervenor Evidence - Preparation Intervenor Evidence - Intervenor Evidence - Preparation Intervenor Evidence - Intervenor Evidence - Preparation Intervenor Evidence - Inter